ZGINED D

EleE » [ 77 22 « ks

POWER CHUCKS & 138
ROTARY CYLINDERS ZE ;i [BX 3E #3 §1
CLAMPING SERIES B EN{E3¥5 25l




TEIREIROAERAS

AUTOGRIP MACHINERY COMPANY

EEE 1989 FMIINEE, I AUTOGRIP mh#iTHH
£, FEREARE. EHEOEIIHEBELKRTA
IEmMMARERE ATHRIFRERECNERRS
EBRTE,

Autogrip machinery was established in 1989 in Taiwan. Our
product lines focus on the power chucks, rotary cylinders
and automatic clamping series. We provide the optimized
solutions and services for our customers worldwide.

Q AUTOGRIP

REER
AUTOGRIP'S BUSINESS PHILOSOPHY

FEHEEEE, BNORREHRERIENERBERTS.

With integrity and commitment, we provide the most
professional products and services for the customers.

WWW.AUTOGRIP.COM.TW



R A=

LOCATION OF AUTOGRIP

TEBRUNRGESEHE L, AL 4000 FFRAE
Ik, £EUR-—ASRENER. A=1T5FXK Em
BT, MBESEFPMEE.

Our factory locates in the middle part of Taiwan, the campus
occupies 10,000 square meters.

Autogrip makes world-class high-quality products and
services with high customer satisfaction.

-

WWW‘AUTOGRI#‘W

RFRE A

WE ARE FROM TAIWAN

EEBRABEN ERA A IFIF &M - 5iZMERat A
S, PRSI URRBMNERBREN GEHEE -
BEMA #HESAIMTESEENSRE. HfINER
EEREAFOMR, EENNRREHREBEEHN THRF
BRI BARRTS,

All the products of Autogrip are designed and made in our
hometown-Taiwan. You can find that our products have a
strong Taiwan spirit- solid and durable, with high rigidity and
high precision.

Our company has a good reputation in the industry. Autogrip
is devoted fo providing the optimized solutions and service
for the workpiece clamping needs.




TEEMEERAGEERE
AUTOGRIP MECHANICAL TESTING LAB.

EEHMEEARMEREAGREUENAHRBERARN - RE
fnn B IR ERREEE -

MEMLEDA - FEB—ESEBVIE - ERERMEREE
FORETRE - EmNREBREPOFRZRER  BEERNE
ReEE—HY  BEFPHERLH REEFPRZONERRE
FR#AEER -

Autogrip mechanical testing lab. continues to develop reliable test
equipments and tfechnique for controlling the product quality.
Before the new product is launched to the market, the products
will go through a series of tests to ensure that the performance and
accuracy meet the design specifications.

Products in the manufacturing process are also tested regularly to
ensure the products are of good quality and consistent.

The Lab confrols the quality for the customers and provides
customers with the most satisfied experience when using the
products.

C AUTOGRIP

\‘\nl"l’l

Testing Laboratory
3353

WWW.AUTOGRIP.COM.TW



WWW.AUTOGRIP.COM.TW

EFCR S Spab i
Dynamic Gripping Force Test

o FARFHEARE - EREFREHEELE AT - RERG DB MEBERAVEE -

e The curve of gripping force against rotary speed is obtained via force sensor at a given test

condition.
BRERFFNERE ~ Gripping Force Graph
4= Autogrip 3H-206 i ERE AR

= 80
z
T
I s e e
o © ]
E’ 5 —ay ’\\\
3 & ‘\.\'\
g . ~
R .

20

10

0

0 1000 2000 3000 4000 5000 6000
3% speed (r.p.m.)

B %R R 2 AR
Dynamic Qil Leaking Test
o SHHBIIEARER FMRRE - BEREFSHRE -

e The oil leaking of cylinder is measured at different rotary speed fo ensure it is within
engineering specification.

@BRRBISHMARE Total Leakage Characteristic Graph

-ALRRE - BARRE PR AREITH-ASI6

a1
g 3
£ 2 —
T 28
g
£ 27
3 2
5 25 /./.
°
24
H
23 o
2 = =
21 T—-?——’/T,
2

0 1000 2000 3000 4000 5000 6000 7000

#3% speed (r.p.m.)

v

AUTOGRIP D



HMNERRESCHEL 79" U T 2B 2 ER - UKRHA
BB AEm - B NIER - FHFREN TR - FHEMEE ~ BT
WEE -~ FHRE - RJEBE - ZmEEE - BEDRE/
WEHBEEBNEERIER -

Our product lines include a complete set of 79-inch and under
series, and related products such as Power Chucks, Special
Purpose Power Chucks, Collet Chucks, Stationary Chucks,
Synchronous Clamps, Facing Heads, Rotary Cylinders, Rotary
Valve/ Rotary Joint and Accessories.

VARIAXIS
Feco

E AUTOGRIP WWW.AUTOGRIP.COM.TW



THBRRERRMENERE

Why AUTOGRIP?

1 HMRHERICVRETHEE
CUSTOM DESIGN SERVICE

ERERBWN  BEBENREBRA - HEREARITERE - KI5k -
FIREMN - IHHERBRBRERSE -

Example: Workpiece seating confirmation for automation workholding,
cylinder stroke modify, additional machining in body, special clamping
requirement, Inch serration, special soft jaw demand.

2. FEE) AR = H R R ]
VARIETY OF CHUCKS & CYLINDERS

BARE: BN ~ AN, BRMNTE, BRU, UBF , FRKEHA
BAERNEBEHRITZ..

AT RS - DB - TR SEK /TR RE/ GE - B
18/ BREENBATS SIS .

Chuck: 1-jaw to é-jaw chuck from 3" to 79", Extra long stroke, Pull back,
Stationary chucks, Collet chucks and other clamping solution.

Cylinder: through-hole, Non-through hole, Stroke control, Coolant/air
connection, Air cylinder, Double rod, Compact style.

3. REMNRE M mSRIARES
FASTER DELIVERY AND SATISFIED SERVICE.

WWW.AUTOGRIP.COM.TW AUTOGRIP F



QUICK JAW CHANGE CHUCK

IRIFTVEN D 2REE

AUTOGRIP

PRV AP

QUICK JAW-CHANGE CHUCK
RIFNENNRBEEAEEMERSE BLEREBEMIEFNAERER

QUICK JAW-CHANGE POWER CHUCKS SAVE YOUR TIME
AND MAKE WORK FLOW EASIER AND EFFICIENTLY

e

%58 / FEATURES

ERENENEREE, E€BES -

HFAARS KA LECEBEME , 1

HEEB -

SHMEBRSRFEE -

WEMNEFELBTEMS , FNELERELR

B -

e The shortest changes time for soft jaw, it is
the high repeatability precision.

e Chuck of all parts hardened, ground and
lubricated directly.

o Construction of high rigidity and high clamping
accuracy.

e For safety system that master jaw will

complete return when base jaw and serration

match up properly.

EASY TO CHANGE JAW IN 2 STEPS

- L85 TRIRT , LTSRN -
}\ 0 Turn T-handle counter clockwise to

\ q release and move jaw forward to its
position.

2.EMEMNE - SHEERENTA -

Turn T-handle clockwise to fighten and
the jaw is locked.

G AUTOGRIP WWW.AUTOGRIP.COM.TW



POWER CHUCK FOR VERTICAL LATHE

Bz B At B K FhoKE) 1 2kEE

AUTOGRIP

B NE o] The maximum diameter is

zooomm(79') . ERM%/RY:H3,456M%

i
o BE=MPENRHE - o ER:12"~79" EEEZ -
o EMOJFERETE, DA THKD - o JERDEHEE RE 25 -
o BtIBRFAKRE - HABGFERRIAER - e Various Models / Size: Available in
e It'sa WEDGE-HOOK type 3-jaw high speed power chuck. 3,4 apd 6-jaw vers'ions >
o With manual radial setting of master jaws for the workpieces centering. * with sizes 12 to 79 '“Ch diameter.
o Sealed against swarf, chips and coolant, suitable for vertical lathe. * Rotary cylinder: RE series .

WWW.AUTOGRIP.COM.TW AUTOGRIP H



LARGE THRU-HOLE AIR CHUCK

ANFLIE P ZE R E) KR

AUTOGRIP

NS
A /%*ﬁ [u]n] 2018

TAIWAN EXCELLENCE

BHiERRH®
PATENTED AIR FEED SYSTEM

o SMATUERAM - BARE CHEAMEIR -

o BN g &IAE R ARE - R
REZZ -

e Built-in cylinder / Check valve.

Pressure detection / Unique design.

=M

hZe Ry

EmiFa
o BAREAR : 352mm~@375mm -
o BEABEMMI -
o BEfiiRAM  NEREM -
o BEBRLRKR HETRREBRAE -

Large thru-hole : @52mm~@375mm.
No distributor ring needed.

Easy to install.

Less maintenance.

E R 5% Product Patented

ESE1 US8770222 B2(U.S.A)

=) M440159 / M415011 (Taiwan)

EE 20.2011.101.818.4/20.2012.102.498.5(Germany)
SFN 3169457 / 3178706(Japan)

ERER EP 2517822 B1(EU)

KR ZL 2011 2 0141324.9/ZL 2012 2 0274549.6(China)

| AUTOGRIP WWW.AUTOGRIP.COM.TW



STATIONARY CHUCK BASE PLATE

] & AR B [EE

AUTOGRIP

17 5 2R 58 FE AR
MULTI-PLATE.4-PLATE

’f*—r@ / FEATURES

o BAIRMK /HREMIPOH -

o EIRMNIIET# (TI5T# 23,6 THEMEE) -

o TOJ#&Fc SP/SD/SU/SE ST E3EE -

o BRI /S -

o BEXRBEABIIBELEH -

o WEMERET  UREREIFESE -

o REBRE (ERK) -

o REMGH (ERC) -

e For milling machine / machine center.

e Allow simultaneous machining with up to 4 grippers. (Order can
be customized for 2,3,6 grippers).

Work with SP/SD/SU/SE vertical chuck.

Driven by Hydraulic or Pneumatic.

Individual circuit for each chuck.

Special design and reduce the height of working surface.

Lock valve unit (option).
Air tight detection function(option).

IIENREERY STATIONARY CHUCK SERIES

Sp- BT = TUAREE SD - BB HIHEGE sU- U B MEFEE AR SE - BT AR EHI LR
SP-STATIONARY CHUCK SD-STATIONARY PULL BACK CHUCK SU-STATIONARY PULL LOCK CHUCK SE-STATIONARY PULL BACK CHUCK
N . IS/ M)/ R - « BHIZ / M)/ RERA - FOR INTERNAL GRIPPING
« Wedge-hook type. « Pull back / Heavy duty machining/ « Pull lock / Heavy duty machining / . BT ) NI | [BRA -
Air tight detection. Air tight detection. « Pull back / inner dia. clamping /
Air tight detection.

WWW.AUTOGRIP.COM.TW AUTOGRIP .J



RUBBER GRIP COLLET
ESEISPNS

AUTOGRIP

REERERAYEMESRIS ?

AN 19 B 1

BHKA

N

=iEE BtIE  BREM

WF5EEE - AFLIE £0.5mm RIFHE - BRE—HEILHRT - RIFHERLE 10um A

K AuTOGRIP



GRIPPING FORCE SENSOR

R¥T RKAIZR

AUTOGRIP

GFS-10

SRS

GRIPPING FORCE SENSOR

Y58 / FEATURES

o BRI NEN -
o BRI EE -

ZPTEHES APP BIOIEH -
Measuring chuck clamping force dynamically.

Wireless signal transmission. TUERE 2 5% 3 JTURME
Data collected via the mobile device APP. Can be configured for

2 or 3-Jaw operation

RSk RARE (EM) oI5 7R RF5 & E EEE
Model Max. Load (1-Jaw) Max. Speed Gripping range Accuracy
GFS-100 100 kN 6000 r.p.m. 76,90,110 mm + 2%
RN HRE 3H-208 == 3H-206
100
| 3H-208
90 +
80
20 3H-206
60 \\
g 50 \\
; 40 [~
# 30 \\
=3 ~
20
10
0
0 1000 2000 3000 4000 5000 6000
A (r.p.m.)

WWW.AUTOGRIP.COM.TW AUTOGRIP L



L ;71\\\ [:R\/ — ~ Y L2
g RE - EEE EERER

— — Chuck and Cylinder chooes propose list
I » [5] 77 3 < sk ’ & propose T

A BIfz35: ( 7
Gripping round figure F ﬂﬁ?ﬁﬁ@;}:{’ﬁ_
Exceed specifications
diameter workpiece
\ J
'3 N
G BHMARIS
Gripping exceed
big diameter f )
. 4 R 17240
Stroke detector
s N S J
o EEIH H B
TR v Automatic Feeder s N
ghaft-type workpiec?a B ﬂﬂ'ﬁ?&ﬁ * FRATH \ J S REBMEDBEAN
Pipe-type workpiece Gripping taper " Seating air sensor
(Insertion of workpiece Irregular workpiece 2 - confirmation
axis into chuck required) \ J
1 HINIIRF
Rough working procedure - ~
L )| T s - K
Center air and
water flooding
( N\ L )
) BMIIF
Exact working procedure - N
’ . U I E 3 55
End sides gripping
'd N\
A J
C AR# - B K BIREZR
Large-sized shaft Pipe-type High precision request - ~
. ” V AR
Build in air cylinder
( A k )
L BEEIH
Easy deform workpiece Ve ™\
: g W I#EBH
) . HREMEES
- =~ Workpiece item
M ZEEE and jig adjust with
Seating confirmation high frequency
required
. £ \\ /
D .ﬁgﬂ}%‘ . ' i ¢ )\
Gripping round figure N B X EEEEEEM)
i Single sides
il standard(fixed jaw)
S J /
Bk - ZREIH ( 4 ,Y¢‘ 3 )
- INEET 4
Plate-type workpiece 0O H:‘:\?EEiﬂl . Center standard workpiece
Flange-type workpiece Vertical spindle
. J \ J
( )
P i - 8 - SR - IHIOKRER
Drill, Milling, Special purpose machine,
Cutting center machine jig
E Bs3ks - FRAITH| | )
Gripping taper
Irregular workpiece > N
Q M EZEHFFIEL K RE
Gripping on 4 sides and centering
s J

M AUTOGRIP WWW.AUTOGRIP.COM.TW



ERETE n MEEHEE

J KLMNOPAQ S TUVWXY

Chuck choose Cylinder choose
3H ° ° TK,TH
3H ° ° ° TK,TH,CT

3H-B ° ° ° ° ° TK,TH,CT
2H ° ° TK,TH,CT
4H ° ° ° TK,TH,CT
3P ° ° RK
3P ° ° ° RS
3P ° ° ° RL,RL-A
3P ° ° ° ° RE-A,RE-L
2P ° ° RS
3L ° ° ° TK,TH,CT
2L ° ° ° TK,TH,CT
1L ° ° RK
3M ° ° ° ° RE-A,RE-L
2M ° ° ° ° RE-A,RE-L
3V ° ° ° ° ° RE-A,RE-L
4V ° ° ° ° ° ° RE-A,RE-L
3E.3D ° oo ° ° RK
2D ° oo ° ° RK
3U ° o|ofe °o|e RK
3N ° ° ° ° RK
3J oo o|e of(o|eo|e ° RK
2] ° ° o|e ofle|o]|e ° RK
3R ° o|e ° ° RK
3W ofeo|e ° ° ° RK
3Q ° ° ° TK,TH,CT
47 ° ° ° RD
AP ° ° ° ° ° ° -
IS ° ° -
ct °l° ol |° TKTH
CB ofe ° olofe TK,TH
CBE oo ° olofe TK,TH
CBD oo ° olofe TK,TH
VH,VP,CP ° -
SD ° ofe ° ° -
SU ° oleo|e oo ° -
SP ° ofe ° -
SE ° oo ° ° ° =

WWW.AUTOGRIP.COM.TW AUTOGRIP N



I N D EX [Product Description]

BE)H3%EE POWER CHUCKS

3H/3H-A
thIEE) SRR

. THROUGH-HOLE POWER CHUCK

PZERS THRU-HOLE
=T 3-AW

R
»

3H-B/3H-BA
thZEB ) 3EER

LARGE THRU-HOLE POWER CHUCK

®PZERY THRU-HOLE
=T 3-AW

2H/2H-A
o PZE) 15T

THROUGH-HOLE POWER CHUCK

thZEE THRU-HOLE
N 2-aW

4H/4H-A

) Ll pap T
THROUGH-HOLE POWER CHUCK
O b7 THRU-HOLE
PO 4-1AW

3P/3P-A
hEE)REE

POWER CHUCK

SPTEEY NON-THRU-HOLE
=T 3-AW

A A

2P/2P-A
P EE) IR

POWER CHUCK

P2 NON-THRU-HOLE
I 2-aW

A A

3L/3L-A
BRIITZENNE

EXTRA LONG JAW STROKE POWER CHUCK

tpZEAY THRU-HOLE
=T 3-AW

2L/2L-A
HBRMITZE N3ER

EXTRA LONG JAW STROKE POWER CHUCK

thZEAY THRU-HOLE
2T 2-AW

1L
HBRIVTZENINKREE

EXTRA LONG JAW STROKE POWER CHUCK

P Y NON-THRU-HOLE
ET 1AW

3M
PERMITEIEA

LONG JAW STROKE POWER CHUCK

PEIEL NON-THRU-HOLE
=T 3-1aw

RAP
BRRARE=E

PNEUMATIC ROTARY CHUCK

#842 FAR/EZE PNEUMATIC ROTARY TYPE ’

| BB S

2M
PERMITERE

LONG JAW STROKE POWER CHUCK

tPEE) NON-THRU-HOLE
M 2-aw

A A

SPECIAL PURPOSE POWER CHUCKS

¢ Ox, 2 3

3V-A
M ERPEE) KA

POWER CHUCK FOR VERTICAL LATHE

PEEES NON-THRU-HOLE
=T 3-1Aaw

h A

PEEAY NON-THRU-HOLE
=T 3-AW

3D
EHIE BT I -./
41

2D
BHIE B e ER

PULL LOCK POWER CHUCK

PFEY NON-THRU-HOLE
I 2:AW

3U
BHIE B ) 5eER

PULL LOCK POWER CHUCK

tpZEEY THRU-HOLE
=T 3-AW

-

3U-K
B RIE BN DR

PULL LOCK POWER CHUCK

" thEA NON-THRU-HOLE
=M 3-JAwW

3E
SR & I &) I LR

EXPANSIBLE PULL LOCK POWER CHUCK

PR NON-THRU-HOLE
=M 3AwW

3N
PE MM E) I EH

INCLINED MASTER JAWS POWER CHUCK

cPFEE! NON-THRU-HOLE
=/ 3-1AW

LN

3J
hEIR ) IER

FINGER POWER CHUCK

PEIEL NON-THRU-HOLE
=T 3-1aw

2]
P BT E IR

FINGER POWER CHUCK

tPEEE) NON-THRU-HOLE
T 2-AW

3R
B HER=TRE

SWING COMPENSATING TYPE 3-JAW POWER
CHUCK

TE{HEY COMPENSATING TYPE
=T 3-1Aaw

B

3w
EENAL T = /T3 ER

- SWING TYPE 3-JAW POWER CHUCK

HEENEL SWING TYPE
=/ 3-AW

3Q
RIFTLE) SRR

QUICK JAW-CHANGE CHUCK

=T\ 3-AW

4T
MO E) A3 ER

FOUR-JAW TWO MOTION TYPE POWER
CHUCK

PEE) NON-THRU-HOLE
POTT 4-1AW

AP
AAEPERENRER

*  LARGE THRU-HOLE AIR CHUCK

SPZER THRU-HOLE
=M 3-1AwW

O AUTOGRIP

L (CBRAR)

APS
ARAEPZE RENRER

LARGE THRU-HOLE AIR CHUCK
(EXTENDED JAW STROKE)
tPZER) THRU-HOLE

=T 3-AW

thZER) THRU-HOLE ’

IS
EEIPERE

POWER INDEXING CHUCK

N -

WWW.AUTOGRIP.COM.TW



SR8

wE » [5] 772 <« mkig

| I EESSE

COLLET CHUCKS

CL
fE R TH

COLLET CHUCK

chZ2A) THRU-HOLE

CL-A
B R FE R

COLLET CHUCK

thZER) THRU-HOLE

4

CB/CB-A
. BRI ERIREE

DRAW COLLET CHUCK

thZER) THRU-HOLE

4

CBE/CBE-A
BHIEU TS B TEIREER

END STOP COLLET CHUCK

" ©hZER) THRU-HOLE

SEHRER

A STEEL COLLET
S M3 STEEL COLLET

4

| AIEEE 1S BRI

DL-DEAD LENGTH COLLET CHUCK

CBD/CBD-A

thZE5Y THRU-HOLE

4

BB 3EE STATIONARY CHUCKS

.. RG
AT

. RUBBER GRIP COLLET

= VH
I BT IR
STATIONARY CHUCK WITH THROUGH-HOLE
pZET7 3 THRU-HOLE STATIONARY
/= 2/3-4Aw

VP
B BN KE

STATIONARY CHUCK

SPEET7 B 71 NON-THRU-HOLE STATIONARY
Z /= 2/3aw

" SP
g B TRE

STATIONARY CHUCK

P EZY NON-THRU-HOLE
=M 3-AW

SD

AVA=EaNE ST
STATIONARY PULL BACK CHUCK
PEA) NON-THRU-HOLE

=/ 3-AW

MP4
3 B TG A

~. STATIONARY CHUCK BASE PLATE

| IEEZ3E]

cpP

. EEZ3=
T, SYNCHRONOUS CLAMP
. HHAZY CRANK TYPE

WWW.AUTOGRIP.COM.TW

SuU
T ERMEEEAINRE

STATIONARY PULL LOCK CHUCK

SPE AL NON-THRU-HOLE
=T 3-AW

.

SYNCHRONOUS CLAMPS

. SE
e U EXARE IR
STATIONARY PULL BACK CHUCK FOR
INTERNAL GRIPPING
PEE) NON-THRU-HOLE A

=TT\ 3-1AW

AUTOGRIP P



I N D EX [Product Description]

=808 FACING HEADS

FA FD

B’ JIEEE CmREJEEE
SINGLE-SLIDE FACING HEAD . DOUBLE-SLIDE FACING HEAD
EE@EY SINGLE SLIDE #5)%Y DOUBLE SLIDE

AOEET ROTARY CYLINDERS

TK
85 AU th 2= 30 9 3 R (T

SHORT TYPE ROTATING HYDRAULIC CYLINDER
'WITH THROUGH-HOLE AND SAFETY DEVICE

TH
ZE B ER L

ROTATING HYDRAULIC CYLINDER WITH
THROUGH-HOLE AND SAFETY DEVICE

BR4G AU ch 7 JE $EH R £]

SMALL TYPE ROTARY HYDRAULIC CYLINDER
‘WITH THROUGH-HOLE AND SAFETY DEVICE
thZEAY THRU-HOLE
JHI/EE HYDRAULIC

thZEAY THRU-HOLE
JHI/E HYDRAULIC

hZEA) THRU-HOLE
JHI/ER HYDRAULIC

RK
B 26 1 P B8 20 88 e ER ]

ROTATING HYDRAULIC CYLINDER WITH
SAFETY DEVICE

A NON-THRU-HOLE
JHIER HYDRAULIC

RA
th B E e zE ER ]

ROTATING AIR CYLINDER

hEA) NON-THRU-HOLE
ZEEE AR

RL ~ RL-N
P25 R E kR e T SEKESE AT

ROTATING HYDRAULIC CYLINDER WITH ROTATING HYDRAULIC CYLINDER WITH
COOLANT CONNECTION AND SATETY DEVICE COOLANT CONNECTION

RK-N
ch B 10 ER ]

ROTATING HYDRAULIC CYLINDER

RH
B O ER 6]

ROTATING HYDRAULIC CYLINDER

PEE) NON-THRU-HOLE
JHEZ HYDRAULIC

SPEEE) NON-THRU-HOLE
SHER HYDRAULIC

h A
h A

RS
228 | R T B ER AT

ROTATING HYDRAULIC CYLINDER WITH
STROKE CONTROL AND SATETY DEVICE

RS N
TR AR AL Am 8 ER ]

ROTATING HYDRAULIC CYLINDER WITH
STROKE CONTROL

72 #2HIE! STROKE CONTROL
JHI/EE HYDRAULIC

172 2HIE) STROKE CONTROL
JHER HYDRAULIC

EN
h

RL-AN
R AR R ER G

ROTATING HYDRAULIC CYLINDER WITH AIR
CONNECTION

X5 EY AIR CONNECTION
JHI/E HYDRAULIC

JE7KE COOLANT CONNECTION
JHEE HYDRAULIC

7£7K#Y COOLANT CONNECTION
JHIEE HYDRAULIC

h
Ba

RE-A

g P =35
B R EE S BT S R i R ]
COMPACT STYLE HYDRAULIC CYLINDER WITH
AIR CONNECTION AND SAFETY DEVICE

RE-L
WEHE B S BT /K 8 BR L

COMPACT STYLE HYDRAULIC CYLINDER WITH
COOLANT CONNECTION AND SAFETY DEVICE

RE

1B R G AP R IR H ER 6L
COMPACT STYLE HYDRAULIC CYLINDER WITH
STROKE CONTROL AND SAFETY DEVICE

E;

HERIEE SRS COMPACT STYLE 1B # S E! COMPACT STYLE BRI G A COMPACT STYLE
JHI/EZ HYDRAULIC JHI/EE HYDRAULIC JHI/E2 HYDRAULIC

E;

RD RD-N

B35 | EEAR Y 3@ 8 R T EARTLE I R ET
DOUBLE ROD ROTATING CYLINDER WITH DOUBLE ROD ROTATING CYLINDER
SAFETY DEVICE y

$127) DOUBLE-ROD
#4127 DOUBLE-ROD JH/ER HYDRAULIC
JEER HYDRAULIC

2&En 7R / EEEEE ROTARY VALVE/ROTARY JOINT

RV

RV-A RJ-80
SRR EE RS ZE B8R RANREERER
HYDRAULIC ROTARY VALVE AIR ROTARY VALVE W COOLANT ROTATING JOINT
JHEEECER OIL CIRCUIT DISTRIBUTOR ! ZEE AR 3@#FETH COOLANT JOINT

RJ-90
2 AR B e BRI B LK

& commus
COOLANT ROTATING JOINT WITH AUTOMATIC
ON/OFF SEAL
JEEEHEETH COOLANT JOINT

Q AUTOGRIP WWW.AUTOGRIP.COM.TW




e 4] 1y P <

B =SB E M PARTS AND ACCESSORIES

S HJ T-NUT
A FRAETE T T ZUi24E
C=

.] STANDARD SOFT BLANK JAW 2 STANDARD HARDENED JAW T-NUT
° e -
’ » IFAEE] L] EH

HE#ELETTT STANDARD SOFT JAW ’ HE#EHE /11 STANDARD HARDENED JAW ’ T ZUIZ0E T-NUT ’

FL CcT FVv-01

PPN e P . B
R LSS SRRATRERRE - TR HEHE
@ CHUCK ADAPTORS COOLANT COLLECTOR WITH STROKE R STATIONARY CYLINDER LOCK VALVE FOR AIR
. J CONTROL STATIONARY CHUCK
O . )
7P FRFFERE CHUCK ADAPTOR

d £7KE COOLANT COLLECTOR A SR ACCESSORIES A

VH-201 DRAW TUBE DRAW BAR

FH) R e RM R B DR
HAND OPERATED AIR VALVE THE CALCULATION OF DRAW TUBE LENGTH THE CALCULATION OF DRAW BAR LENGTH
ZFC4 ACCESSORIES

A thZE DRAW TUBE A thTT DRAW BAR A

BN EWE BT &M AN ~

AUTOGRIP {£&E#5t¢ APP

RETH @ LNEEEmEN!

Great Rigidity, Infallible Precision

maan

‘iil. ‘lﬁi" "Efi’

(T

Large Thru-Hole ©

Alrthu:kAP

£ Download o

o App Store

% EEME £ YouTube DX HEE £ YouTubeu FEIEE
(Wechat) (YouTube IN CHINESE) (YouTube IN ENGLISH)

2D [El#% (PDF ~ DWG 18 ) ~ 3D B4 (STEP 1)
AU EM . www.autogrip.com.tw T & -

WWW.AUTOGRIP.COM.TW AUTOGRIP R



ChZE &) 1 2k 0

THROUGH-HOLE POWER CHUCK

A& 3H/3H-A

=NE&P

o WHZNARHBILLE o \
o EHEHBEALIBEIE - L AHWA -
o FRMEBRABAFKEE -
e It'sa WEDGE-HOOK type 3-jaw with the large through-hole.
e Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.
W EAREREAE YT B LI  Kmax AL RETEY
BELRAHRSE BT KEBRFKRTH -
B ] value is the hole diameter of blank draw nut, K is the maximum thread
specification, and it could be customize.
G, Serration Pitch
5 G H M B 15 s
u |
3H-10A6 il
3H-215A8 e
Refer to Fig.A _é%@ H of =
268 A s
o 0] £
§|lg S = & (F f &)
L1 ]| kedd e >
| ?A
L1 B L ___l_g \
B Only 3 bolts
3H-04
Fig.A LB 15° ' 15"
A 3H-A - 3H-2A 3H 3H-2
REIRIERAOHAR
Subject to technical changes
il #R4% SPECIFICATIONS
o |moae | OB | FRES lsmsmann| saousn |esess| o | &2 |

==

Max. pressure

MPa (kgf/cm?)

Plunger | Jaw stroke | A B/ Max. D.B. pull | Max. Clamping force | Max. speed poment Weight
Model stroke DIEN Max. Min. pLHEL[Y i oS1Y of inertia g
g g g

3H-04 10 5.4 110 7 13.7(1400) 28.4(2900) 8000 0.01 4 = TK-A533 2.0(20)
3H-205 A4 13 5.5 138 10 17.2(1750) 48(4890) 7000 0.02 67 71 TK-A533 2.5(25)
3H-206 AS 14 6 170 13 23.3(2375) 66.8(6810) 6000 0.06 13.1 149  TK-C646 1.9(19)
3H-208 A6 18 7.6 210 17 31.9(3250) 107(10900) 5000 0.15 21.8 23.4  TK-A853 2.2(22)
3H-10 A6 19 8.8 254 25 42.6(4380) 110.7(11300) 4200 0.33 345 415 TK-A1075 2.9(29)
3H-10 A8 19 8.8 254 25 42.6(4380) 110.7(11300) 4200 0.33 345 40 TK-A1075 2.9(29)
3H-212 All 25 10.6 315 43 58.8(6000) 157(16010) 3700 0.74 58.6 64.7 TK-A1291 2.8(28)
3H-215 A8 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 149  TK-A1512 1.9(19)
3H-215 All 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 143.3 TK-A1512 1.9(19)
3H-215 A15 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 135.6 TK-A1512 1.9(19)
3H-18 All 23 10.6 450 50 71(7250) 179.8(18350) 2000 478 164 178  TK-A1512 2.1(22)

MR~ DIMENSIONS

I T T I N N T

z
- 26 385} - -6.5 12

3H-04 110 59 - 85 70.6 - - 4 - 17.5

3H-205 A4 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
3H-206 A5 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
3H-208 A6 210 91 103 170 1334 106.38 150 5 17 66 165 335 -1.5 155 20 30
3H-10 A6 254 100 120 220 171.4 106.38 133.4 5 25 75 8.5 335 -10.5 14.5 25 45
3H-10 A8 254 100 113 220 1714 13972 190 5 18 75 85 265 -105 75 25 45
3H-212 A11 315 110 126 300 235 196.87 260 6 22 106 10 32 -15 7 28 50
3H-215 A8 405 132 159 380 330.2 139.72 171.4 6 33 145 11 44 -14 19 39 60
3H-215 All 405 132 166 380 330.2 196.87 335 6 41 145 11 51 -14 26 39 60
3H-215 Al15 405 132 153 380 330.2 285.78 330.2 6 27 145 11 38 -14 13 39 60
3H-18 A1l 450 133 149 300 235 196.87 260 6 22 120 11 33 -12 10 39 60

I S O I Yo e I A I
3H-04 M32x1.5 3~*M10 16 - 24 52 14 113 6.8 23 20.3 23 10 -
3H-205 A4  M45x1.5 3~M10 15 15 31 62 14 20.25 6.75 29.5 26.8 25 10 3~*M6
3H-206 A5 M60x2 3~*M10 16 11 37 73 20 21.25 9.25 36 33 31 12 3~M6
3H-208 A6 M75x2 3~*M12 17 15 38 95 25 23.7 10.2 45.7 41.9 35 14 3~M6
3H-10 A6 M85x2 6~M16 22 18 43 110 30 33.8 143 51 46.6 40 16 6~M12
3H-10 A8 M85x2 6~M16 22 24 43 110 30 33.8 14.3 51 46.6 40 16 3~M8
3H-212 Al11 M115X2 3~M20 30 28 51 130 30 4475 14.75 67.8 62.5 50 21 3~M10
3H-215 A8 M115X3 6~M24 36 24 63 165 43 49.75  19.75 90 84.7 62 25.5 6~M16
3H-215 A11 M115X3 6~M24 36 31 63 165 43 49.75 19.75 90 84.7 62 255 6~M10
3H-215 Al15 M115x3 6~M24 36 34 63 165 43 49.75  19.75 90 84.7 62 25.5 6~M20
3H-18 All  M130x2 6~M20 30 28 63 165 43 83.5 20.5 80 74.7 62 25.50r 22 3~M10
1. 4T EB 2355 3H-A BY 7 <K (The dimensions and the specifications of 3H-A type are in red data.)
1 AuTOGRIP WWW.AUTOGRIP.COM.TW



chZE&f) ) Pk EE
’ 3H'B/ 3H'BA LAREETHRU-HOLE?OWER CHUCK —MBAAEPZEER

o MW= NBAEAIL -

REEYEEMRIEENE > T HBEHEE o

o FHIMEBRBAFEHE -

e It'sa WEDGE-HOOK type 3-jaw with the extra large through-hole.

e Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

B JHAEAEEAEHETRZIAL cKmax AL EHETEY
BEFZRAASE BT REGEFRTH -

B ] value is the hole diameter of blank draw nut, K is the maximum thread
specification, and it could be customize.

,E_ Serration Pitch
3H-215A8 E1 G H M PR 15 S
3H-215A11
3H-24BA15 Yol == g
Refer to Fig.A = T ngg_ =T
S6HE A 3¢ = [l Jpbtr 1] L
s HER-CITT &)
E1 = =
alu o
(S~ —
g8 8 8
L
11 B 1% 1
— T
Fig.A =/
& A L/ E 5
REBIRIEE AR 3H-BA 3H-B 3H-2

Subject to technical changes

R i#R1& SPECIFICATIONS

" g | TE RIFET BEHEL | opoe — = | wrgai | & =

itk BT | (BH | s bia il BAKSS | BEENH ER | EEOWE | BAEMED

aTG

Model - - - Matching cyl.

N I I I T T o
5.5 4.2 4.8

mm
3H-204 A4 13 118 7 13.7(1400) 36(3670) 8000 0.012 TK-A533 2.0(20)
3H-205 A4 13 5.5 138 10 17.2(1750) 48(4890) 7000 0.02 6.3 71  TK-A533 2.5(25)
3H-206 A5 14 6 170 13 23.3(2375) 66.8(6810) 6000 0.06 13.1 149 TK-A853 1.9(19)
3H-208 A6 18 7.6 210 17 31.9(3250) 107(10900) 5000 0.15 21.8 23.4 TK-1068 2.2(22)
3H-10B A8 19 8.8 260 35 49.1(5010)  126.9(12950) 4500 0.32 33.2 387 TK-1287 2.6(26)
3H-212 A1l 25 10.6 315 43 58.8(6000) 157(16010) 3700 0.74 58.6 64.7 TK-A1511 2.8(28)
3H-215 A8 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 149  TK-2114 1.9(19)
3H-215 A1l 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 1433 TK-2114 1.9(19)
3H-215 A15 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 135.6 TK-2114 1.9(19)
3H-18B A15 23 10.6 456 79 71(7240) 180(18350) 2000 4.8 162.4 173.4 TK-2416 2.2(22)
3H-21B A15 23 10.6 530 127 89.9(9175)  233.8(23860) 1700 7.5 223 234 TK-2820 2.1(21)
3H-24B A15 26 12 610 142 89.9(9175)  233.8(23860) 1400 14.8 270 315  TK-2820 2.1(21)
3H-24B  A20 26 12 610 142 89.9(9175)  233.8(23860) 1400 14.8 270 284  TK-2820 2.1(21)

SMUR S DIMENSIONS

59 70 110 15 33 3

D2 J
3H-204 A4 118 1 82.6 63.51 96 ) 18.5 9.5 5.3 V25 12

4
3H-205 A4 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
3H-206 A5 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
3H-208 Ab 210 91 103 170 1334 106.38 150 5 17 66 16.5 335 -1.5 15.5 20 30
3H-10B A8 260 100 113 220 171.5 139.72 190 5 18 86 8.5 26.5 -10.5 7.5 25 45
3H-212 A11 315 110 126 300 235 196.87 260 6 22 106 10 32 -15 7 28 50
3H-215 A8 405 132 159 380 330.2 139.72 171.4 6 33 145 11 44 -14 19 39 60
3H-215 A1l 405 132 166 380 330.2 196.87 335 6 41 145 11 51 -14 26 39 60
3H-215 A15 405 132 153 380 330.2 285.78 330.2 6 27 145 11 38 -14 13 39 60
3H-18B Al15 456 145 166 380 330.2 285.78 330.2 6 27 165 18 45 -5 22 40 60
3H-21B A15 530 140 161 380 330.2 285.78 330.2 6 27 180 11 38 -12 15 39 80
3H-24B A15 610 147 181 520 463.6 285.78 330.2 6 40 205 18 58 -8 32 40 120
3H-24B A20 610 147 168 520 463.6 412.78 463.6 6 27 205 18 45 -8 19 40 120

" ose | max |t i W | N | ¢ amsx|amn | Rmex | Rmin | S| T | U
3H-204 A4 M40x1.5 3~M10 16 16 24 52 14 12.72 6.72 26 23.5 23 10 3~*M6
3H-205 A4 M45x1.5 3~M10 15 15 31 62 14 20.25 6.75 29.5 26.8 25 10 3~*M6
3H-206 A5 M60x2 3~M10 16 11 37 73 20 21.25 9.25 36 33 31 12 3~M6
3H-208 A6 M75x2 3~*M12 17 15 38 95 25 23.7 10.2 45.7 41.9 35 14 3~M6
3H-10B A8 M95x2 6~M16 22 24 43 110 30 35.2 12.7 56 51.6 40 16 3~*M8
3H-212 Al11 M115X2 3~M20 30 28 51 130 30 44.72 14.75 67.8 62.5 50 21 3~M10
3H-215 A8 M115X3 6~M24 36 24 63 165 43 49.75 19.75 90 84.7 62 25.5 6~M16
3H-215 A1l M115X3 6~M24 36 31 63 165 43 49.75 19.75 90 84.7 62 25.5 6~M10
3H-215 A15 M115x3 6~M24 36 34 63 165 43 49.75 19.75 90 84.7 62 25.5 6~M20
3H-18B A15 M175x3 6~M24 38 36 63 165 43 64 20.5 102 96.7 62 25.5 3~M12
3H-21B A15 M190x3 6~M24 35 38 73 180 60 69.4 27.4 114 108 65 25 3~M12
3H-24B A15 M215x3 6~M24 35 35 73 180 60 96.5 24.5 126 120 65 25 6~M24
3H-24B  A20 M215x3 6~M24 35 38 73 180 60 96.5 24.5 126 120 65 25 3~¥M12

1. Al BEIE S 3H-BA B2 <IJ% (The dimensions and the specifications of 3H-BA type are in red data.)

WWW.AUTOGRIP.COM.TW AUTOGRIP 2




& 2H/2H-A

thZE &) ) 2k 5

THROUGH-HOLE POWER CHUCK

—Ms@pzEiy

o MHZMAEEIE » 4 A HA B b F 3 o

o REBELBEMNAIEEHE L HEHEF -

o FEMEBABAFHE -

e It'sa WEDGE-HOOK type 2-jaw with the large through-hole.

e Matching surfaces of all parts hardened, ground and lubricated directly.

e Construction of high rigidity and high clamping accuracy.

" JEAEEERAERR TR cKmax HAELEETEY
BEZRFRHM  BETRKEBEFKRTH -

B ] value is the hole diameter of blank draw nut, K is the maximum thread

specification, and it could be customize.

G Serration Pitch
E1 G H M BreEgE 1.5 S
y r F
2H-08A5 - 4l
2H-10A6 - fisi H_. —
2H-15A8 8 il T 2
Refer to Fig.A ,': T 4 ot
288 A S I\
N i gl X o
2 SEIE 8 g = .
L1 y a
-
3
L 2H-04 Only 4 bolts ==
L1 B L E 2H-05 {£43%9242 '
‘ B
Fig.A
A 2HA 2H

EREB RIS LR R

Subject to technical changes

B il#R1& SPECIFICATIONS

wE . Mi7i2 REFER B
Jaw stroke | EA &/ A Moment of
Plunger stroke Max. D.B. pull Max. Clamping force | Max. speed T Weight
m 2

=i
Model
I N T I ) o ) e | s |

| i
Ei: 2

Matching cyl.

.
BAKSS - RS | BAEREN
ke
3.8 -

mm
2H-04 10 5.4 110 7 9.2(940) 18.9(1930) 8000 0.01 TK-A533 1.4(14)
2H-05 A4 10 5.4 135 12 11.7(1190) 23.9(2440) 7000 002 65 73  TKA533 1.7(17)
2H-06 A5 12 5.5 168 15  14.4(1470) 37.9(3870) 6000 0.06 115 133 TK-C646 1.7(17)
2H-08 A5 16 7.4 210 13 23.1(2360) 57.2(5840) 5000 017 213 242 TK-A853 1.9(19)
2H-08 A6 16 7.4 210 13 23.1(2360) 57.2(5840) 5000 017 213 224 TK-A853 1.9(19)
2H-10 A6 19 8.8 254 25  28.4(2900) 73.9(7540) 4200 031 335 405 TK-A1075 1.9(19)
2H-10 A8 19 8.8 254 25  28.4(2900) 73.9(7540) 4200 031 335 39.0 TK-A1075 1.9(19)
2H-12 A8 23 106 304 34  36.7(3740) 95.8(9780) 3300 070 597 62.7 TK-A1291 1.7(17)
2H-15 A8 23 106 381 50  46.9(4790) 119.6(12200) 2500 242 115 129 TK-A1512 1.4(14)
2H-15  Al1l 23 106 381 50  46.9(4790) 119.6(12200) 2500 234 115 122 TK-A1512 1.4(14)

SR~ DIMENSIONS

I S NS A T BT T
2H-04 110 59 - 85 70.6 - - 4 - 26 35 - -6.5 - 17.5 12
2H-05 A4 135 60 71 110 82.6 63.51 96 4 15 33 1 16 -9 6 20 12
2H-06 A5 168 81 91 140 104.8 82.56 116 5 15 45 11 26 -1 14 19 20
2H-08 A5 210 91 109 170 1334 82.56 104.8 5 23 52 145 375 -15 215 20.5 30
2H-08 A6 210 91 103 170 1334 106.38 150 5 17 52 145 315 -15 155 20.5 30
2H-10 A6 254 100 120 220 1714 106.38 1334 5 25 75 85 335 -105 145 25 45
2H-10 A8 254 100 113 220 1714 139.72 190 5 18 75 8.5 26.5 -10.5 75 25 45
2H-12 A8 304 110 122 220 171.4  139.72 190 6 18 91 8 26 -15 3 28 50
2H-15 A8 381 133 160 300 235 139.72 1714 6 33 120 11 44 -12 21 39 60
2H-15 Al11 381 133 149 300 235 196.87 260 6 22 120 11 33 -12 10 39 60

I I S N N S T T A A S A
2H-04 M32x1.5 4~M10 16 - 24 52 14 11.3 6.8 23 20.3 23 10 -
2H-05 A4 MA0x1.5 4~M10 15 15 31 62 14 19.8 7.8 26.5 23.8 25 10 3~*M6
2H-06 A5 M55x2 6~M10 16 16 37 73 20 22.8 9.3 32 29.3 31 12 3~M6
2H-08 A5 M60x2 6~M12 20 17 38 95 25 29.8 14.8 38.7 35 35 14 6~M10
2H-08 A6 M60x2 6~M12 20 18 38 95 25 29.8 14.8 38.7 35 35 14 3~M6
2H-10 A6 M85x2 6~M16 22 18 43 110 30 33.8 143 51 46.6 40 16 6~M12
2H-10 A8 M85x2 6~M16 22 24 43 110 30 33.8 14.3 51 46.6 40 16 3~M8
2H-12 A8 M100x2  6~M16 23 25 51 130 30 45.8 15.8 61.3 56 50 21 3~M8
2H-15 A8 M130x2  6~M20 30 24 63 165 43 47.3 18.2 80 74.7 62 25.50r22 6~M16
2H-15 A1l M130x2 6~M20 30 28 63 165 43 47.3 18.2 80 74.7 62 25.50r22 3~M10

1. AL EBRIER 2H-A BYZ<FJ% (The dimensions and the specifications of 2H-A type are in red data.)

3 AUTOGRIP WWW AUTOGRIP.COM.TW



chZE &) JJ KGR
4H/ 4H'A THR(:)EGH-HOLE PSWER CHUCK mmE&RPzEE

o BMPHHENAKERAILZ » 3l H&EWIE R -
BOHERNIRENE > L EEHE
o FHIMHEBEFRFRKE -

e It'sa WEDGE-HOOK type 4-jaw with the large through-hole.
e Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

B JEAEAEEAEHETRIIAL cKmax EAELEETESL
ﬂ;%’iﬁ“zﬁik%ﬂ% BETREEFRTH -

B ] value is the hole diameter of blank draw nut, K is the maximum thread
specification, and it could be customize.

—E— Serration Pitch
4H-08A5 E1 G H M HreEEE 1.5 S
4H-10A6 u 25 i 95
4H-15A8 -
Refer to Fig.A o
2B A ) z @ @
AN

D2
A
@CHe

Fig.A
A 4H-A 4H

TREBIRARISTHOHER]

Subject to technical changes

At 4% SPECIFICATIONS

I P Ml T B T £ 2

— Plunger stroke| Jam(/slt;c;ke Max. D.B. pull Max.fglracrenpmg Max. speed M?nrgi?; i Matching oyl Max. pressure
——--—
4H-06 A5 5.5 168 15 21.6(2200) 56.8(5600) 5000 0.07 125 143 TK-C646 2.5(25)
4H-08 A5 16 7.4 210 13 34.3(3500) 85.8(8750) 4200 0.19 235 254  TK-A853 2.8(28)
4H-08 A6 16 7.4 210 13 34.3(3500) 85.8(8750) 4200 0.19 235 243 TK-A853 2.8(28)
4H-10 A6 19 8.8 254 25 42.6(4380) 110.7(11300) 3400 0.34 36.3 41 TK-A1075 2.9(29)
4H-10 A8 19 8.8 254 25 42.6(4380) 110.7(11300) 3400 0.34 36.3 39.3 TK-A1075 2.9(29)
4H-12 A8 23 10.6 304 34 54.9(5600) 143.6(14650) 2700 0.79 62 65.7 TK-A1291 2.6(26)
4H-15 A8 23 10.6 381 50 71(7250) 179.8(18350) 2000 2.5 123.7 137.7 TK-A1512 2.2(22)
4H-15 All 23 10.6 381 50 71(7250) 179.8(18350) 2000 2.42 123.7 130.7 TK-A1512 2.2(22)
4H-18 All 23 10.6 450 50 71(7250) 179.8(18350) 1700 4.85 170 184  TK-A1512 2.2(22)

MR~ DIMENSIONS

E

4H-06 A5 168 81 91 140 104.8 82.56 116 5 15 45 11 26 -1 14 19 20
4H-08 A5 210 91 109 170 133.4 82.56 104.8 5 23 52 145 375 -1.5 21.5 20.5 30
4H-08 A6 210 91 103 170 1334  106.38 150 5 17 52 145 315 -1.5 15.5 20.5 30
4H-10 A6 254 100 120 220 171.4 106.38 1334 5 25 75 8.5 335 -105 145 25 45
4H-10 A8 254 100 113 220 171.4 139.72 190 5 18 75 8.5 26.5 -105 7.5 25 45
4H-12 A8 304 110 122 220 171.4 139.72 190 6 18 91 8 26 -15 3 28 50
4H-15 A8 381 133 160 300 235 139.72 171.4 6 33 120 11 44 -12 21 39 60
4H-15 A1l 381 133 149 300 235 196.87 260 6 22 120 11 33 —12 10 39 60
4H-18 A1l 450 133 149 300 235 196.87 260 6 120

-—--n--—

4H-06 M55x2 4~M10 22.8 253} 3~M6
4H-08 A5 M60x2 4~M12 20 17 38 95 25 29.8 14.8 38.7 35 35 14 6~M10
4H-08 A6 M60x2 4~M12 20 18 38 95 25 29.8 14.8 38.7 35 35 14 3~M6
4H-10 A6 M85x2 4~M16 22 18 43 110 30 33.8 14.3 51 46.6 40 16 6~M12
4H-10 A8 M85x2 4~M16 22 24 43 110 30 33.8 14.3 51 46.6 40 16 3~M8
4H-12 A8 M100x2 4~M16 23 25 51 130 30 45.8 15.8 61.3 56 50 21 3~M8
4H-15 A8 M130x2 4~M20 30 24 63 165 43 47.5 20.5 80 74.7 62 25.50r22 6~M16
4H-15 All M130x2 4~M20 30 28 63 165 43 47.5 20.5 80 74.7 62 25.50r22 3~M10
4H-18 All M130x2 4~M20 30 28 63 165 43 83.5 20.5 80 74.7 62 25.50r22 3~M10

1. AT EBEIER 4H-A BYZ<FJ% (The dimensions and the specifications of 4H-A type are in red data.)

WWW.AUTOGRIP.COM.TW AUTOGRIP 4




#8158 ( —
’ 3P/3P-A gﬁ%@x . =M E

o WHWZNFEKF -

o ?ﬁ’iﬁﬁi’]u@ﬂc&*ﬁ E > b HEEE o

J Bl G RFERE

° It‘s a WEDGE-HOOK type 3-jaw power chuck.

e Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

N
[=]

E1,
U
{ LLLb 3P-08A5
] 3P-10A6
3P-12A6
Ly Refer to Fig.A
2098 A
L1 B e
Fig.A
& A
Serration Pitch
T M g 2 __§5 H e i, R T8
i [k
o AL [ BEPf ] —
p iy 8 VA N i I
M \ L 6] = al: LB
et ! Sl =S
AN | % =
i _’___I_H_ e I T x
o] L1 o _ﬁ‘—“ =
©
E a K @ L o
o o ] %
< : < 1 < B
= FAT 7
¢ 7
AW V| e o le | iy
B
eamiaegner  3P-04,3P-05 3PA 3P

Subject to technical changes

I?ZITI?EW SPECIFICATIONS

”5)5 I*’] 1112

Model
——-- i | o)

3p-04 15 6.4 10 5 8.1(830)  225(2300) 6000 001 41 - R oo
3p-05 15 6.4 135 14 8.1(830) 25(2550) 5500 002 62 - RS0 e
3P-06 A5 20 8.5 165 16 17.9(1830)  52.4(5350) 5250 005 13 14  Rel000 oL
3p-08 A5 21 8.8 210 21 25(2550)  74.5(7600) 4750 014 24 28  RCIB0N e
3P-08 A6 21 8.8 210 21 25(2550)  74.5(7600) 4750 014 24 27 RIBO A
3P-10 A6 25 8.8 254 24 289(2950) 107.8(11000) 4000 03 35 42 RN Ao
3p-10 A8 25 8.8 254 24 289(2950) 107.8(11000) 4000 03 35 40 R0 e
3p-12 A6 30 105 304 24 41(4180)  155.8(15900) 3360 073 59 65 RO Ao
3p-12 A8 30 10.5 304 24 41(4180)  155.8(15900) 3360 073 59 63 RN o)

MR~ DIMENSIONS

E
3P-04 110 52 - 60 80 - - 6 - - 18 - 3 - 25 26
3P-05 135 55 - 80 100 - - 7 - - 9 - -6 - 35 28
3P-06 A5 165 74 84 140 104.8 82.56 116 5 15 21 102.6 87.6 82.6 67.6 35 34
3P-08 A5 210 85 103 170 1334 82.56 104.8 5 23 25 127 104 106 83 36 38
3P-08 A6 210 85 97 170 133.4 106.38 150 5 17 25 127 110 106 89 36 38
3P-10 A6 254 89 109 220 171.4 106.38 133.4 5 25 34 158 133 133 108 36 45
3P-10 A8 254 89 102 220 1714 139.72 190 5 18 34 158 140 133 115 36 45
3P-12 A6 304 106 125 220 171.4 106.38 133.4 6 25 34 163 138 133 108 36 50
3P-12 304 106 118 220 1714 139.72 190 6 163 145 133 115
—————n———
3P-04 M10x1.5 3~M8 11.2 6.7 23.6 20.4
3P-05 M12x1.75 3~M8 14 - 31 62 14 15.7 5.2 30.4 27.2 25 10 -
3P-06 A5 M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 33.75 31 12 3~M6
3P-08 A5 M20x2.5 6~M12 20 17 38 95 25 25.25 11.75 46.3 41.9 35 14 6~M10
3P-08 A6 M20x2.5 6~M12 20 18 38 95 25 25.25 11.75 46.3 41.9 35 14 3~M6
3P-10 A6  M20x2.5 6~M16 18 18 43 110 30 35.25 12.75 51.1 46.7 40 16 6~M12
3P-10 A8 M20x2.5 6~M16 18 25 43 110 30 35.25 12.75 51.1 46.7 40 16 3~M8
3P-12 A6  M20x2.5 6~M16 18 18 51 130 30 48.75 12.75 61 55.75 50 18 or 21 6~M12
3P-12 A8 M20x2.5 6~M16 18 25 51 130 30 48.75 12.75 61 55%/5 50 18 or 21 3~M8

1. AT B 255 3p-A BLZ<F}A (The dimensions and the specifications of 3P-A type are in red data.)
5 AuTOGRIP WWW.AUTOGRIP.COM.TW



hEEHKRE ()

POWER CHUCK

3P/3P-A

=NeEPEL

o MH=ZNHFEKHE -

i‘ﬁ’iﬁﬁiﬁuﬁﬂcﬁﬁ‘* B
o BB EEXFRE -
e It'sa WEDGE-HOOK type 3-jaw power chuck.

Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

T ERHER -

Serration Pitch & EE

3P-215,3P-218 : 1.5 M
3P-221,3P-224 : 3.0 r“l
e -1
e O]
SEELT o2
H G =
O
<| T = |
8o
St
K Fils o
3P-215A8 ]
3P-221A8 ‘72
3P-221A11 L/ E
3P-224A11
Refer to Fig.A B
ZHE A

3P-215,3P-218 3P-221,3P-224

TREBIRARIE LR R

Subject to technical changes

B ir#R& SPECIFICATIONS

ENECTErTT

inertia Matching cyl.

MPa (kgf/cm?)
RH-2000r

3P-215 A8 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 1224 RK-200(N) 2.8(28)
RH-2000r

3P-215 A1l 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 116 RK-200(N) 2.8(28)
RH-2000r

3P-218 Al1l 35 16 450 60 82(8360) 249(25400) 2800 2.32 124 130 RK-200(N) 2.8(28)
RH-2000r

3P-221 A8 35 16 530 59 82(8360) 272.6(27800) 1900 49 177 200 RK-200(N) 2.8(28)
RH-2000r

3P-221 A1l 35 16 530 59 82(8360) 272.6(27800) 1900 49 177 194 RK-200(N) 2.8(28)
RH-2000r

3P-224 A1l 35 16 610 152 82(8360) 272.6(27800) 1750 7 177 246.28 RK-200(N) 2.8(28)
RH-2000r

3P-224 A15 35 16 610 152 82(8360) 272.6(27800) 1750 7 230 238.6 RK-200(N) 2.8(28)

MR~ DIMENSIONS

---“------

3pP-215 381 114 141 300 235 139.72 1714 6 104
3P-215 Al11 381 114 130 300 235 196.87 260 6 22 15° 104 82 69 47 55 60
3P-218 A1l 450 114 130 300 235 196.87 260 6 22 15° 92 70 57 35 55 60
3P-221 A8 530 125 152 380 330.2 139.72 1714 6 33 30° 97 64 62 29 55 60
3P-221 Al1l1 530 125 146 380 330.2 196.87 235 6 27 30° 97 70 62 35 55 60
3P-224 Al1l1 610 125 146 380 330.2 196.87 235 6 27 30° 97 70 62 35 55 60
3P-224 A15 610 125 146 380 330.2 285.78 330.2 6 0° 70 62

--—--n---
3pP-215 M30x3.5 6~M20 29 63.3 51.25 18.25 77.5 69.5 60 255 6~M16
3P-215 A11 M30x3.5 6~M20 24 33 63.3 165 43 51.25 18.25 77.5 69.5 60 25.5 3~M10
3P-218 A1l M30x3.5 6~M20 35 88! 63.3 165 43 52.75 18.25 108 100 60 25.5 3~M10
3P-221 A8 M30x3.5 6~M24 31 24 71 180 60 96.5 24.5 86 78 65 25 6~M16
3P-221 A1l M30x3.5 6~M24 31 28 71 180 60 96.5 24.5 86 78 65 25 6~M20
3P-224 A1l M30x3.5 6~M24 31 28 71 180 60 96.5 24.5 125 117 65 25 6~M20
3P-224 A15 M30x3.5 6~M24 31 34 71 180 60 96.5 24.5 125 117 65 25 3~M12

1. AT B EIE B 3p-A BLZ<F3K (The dimensions and the specifications of 3P-A type are in red data.)

WWW.AUTOGRIP.COM.TW AUTOGRIP 6



= »oE (=
’ 3P/3P-A mfo%zgﬁm( | = MUNB PR

o MHZJNNAEFEKHA -

o NHHEHAHLHENRKEEHE » T AHHE
o HEAHFARAEERER -

e It'sa WEDGE-HOOK type 3-jaw mini power chuck.

e Matching surfaces of all parts hardened, ground and lubricated directly.
e Suitable for bench lathe.

3~M8x20L

-
A
max. 15 1
min. 5 | o
YN Q
M8x40L %8
X e
©| © =
Wl IT|O| o —££
© o| T AN —
[SHEN S [S)
Q| g

3~M8x35L

TREBIRARIE LA RER]

Subject to technical changes

#ifr#31& SPECIFICATIONS

S : ——
BT Chocking Do BATS ) EEET | BAERED

;:fg d
=A | &/ Moment of
Plunger stroke | Jaw stroke (Dia.) M Mi Max. D.B. pull | Max. Clamping force | Max. speed Weig Max. pressure
Model ax. in. inertia Matching cyl.
I N N N T N kg _vpa kgf/cm) |

3P-03 10 4.6 85 S 4.5(460) 11.3(1150) 7000 0.004 1 8 RK-75 1.2(12.4)

AR 212 #4541 Standard Soft Jaw For 3P-03 Power Chuck
SJ-K03 L

40
Mounting Hole 20
M8iZ 444l ’———‘
/ I
©

2.5

24.5

5.5

7 AUTOGRIP WW\WAUTOGRIP.COM.TW



=8 ) KA
’ 2P/ 2P-A gﬁ%@x TS EPER

o M- \FERH -
BOHERNIRENE > L EEHE
o FHIMHEBEFRFRKE -

e It'sa WEDGE-HOOK type 2-jaw power chuck.
e Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

o
S| E
U
WNES
2P-08A5
R 2P-10A6
L Refer to Fig.A
= 268 A
L1 B
Fig.A
A
Serration Pitch
H G M H [] E1 H G M HreEgE 1.6 S
U -
1] =l el
| - = o B N\
tH e 57 BT i B 7
M bY H ) o= g P || =l | o N
NEle: L] t-'».'}., (),
= 2 — — Fu = N e Ve

&)
Q

—
| P T \
AN AN/
i

2P-04 Only 4 bolts
e

[ / 5
y 5 5 M c 2P-05 1£43% 1242 <

gamesamun _(2P-04,2P-05) 2PA Clid

Subject to technical changes

i 4% SPECIFICATIONS
EiCh

Matching cyl.
KN (kgf)

RK-75(N) 1.5(15)
2p-04 15 64 110 5 5.3(540) 14.7(1500) 6000 001 38 - RKTN T
- RK-75(N) 1.5(15)
2P-05 15 64 135 14  53(540) 16.7(1700) sso0 002 58 - RK7N S
] RK-100(N)  1.7(17)
P06 A5 20 85 165 14 12(1220) 35(3570) 520 004 12 13 RKI000 h,
RK-125(N)  1.5(15)
P08 A5 21 88 210 17  16.5(1680) 50(5100) a7s0 013 22 26 REIZ0 S
] RK-125(N)  1.5(15)
P08 A6 21 88 210 17  16.5(1680) 50(5100) a7s0 013 22 25 RIS o
. RK-125(N)  1.8(18)
P10 A6 25 88 254 22  19.4(1980)  71.5(7300) a000 029 33 42 FRKIB0 S
P10 A8 25 88 254 22  19.4(1980)  71.5(7300) 4000 029 33 40 FRKI2(N) 1681(148)’)
P12 A8 30 105 304 22 27.4(2800)  103.9(10600) 3360 070 57 61 RKISO(N)  17(17)
P15 A1l 35 16 381 50  54.9(5600)  164.6(16800) 3000 170 96 103 RK-200(N)  1.9(19)

SMUR < DIMENSIONS

I S S S T T B
2P-04

2P-05 135 55 - 80 100 - -
2P-06 A5 165 74 84 140 104.8 82.56 116
2P-08 A5 210 85 103 170 1334 82.56 104.8
2P-08 A6 210 85 97 170 133.4 106.38 150
2P-10 A6 254 89 109 220 171.4 106.38 133.4
2P-10 A8 254 89 102 220 171.4 139.72 190
2P-12 A8 304 106 118 220 171.4 139.72 190 18 34 163 145 133 115 36 50
2P-15 All 381 114 130 300 235 196.87 260 104 60

———-n---—
1.3 23.

- - 9 - 6 - 35 28
15 21 102.6 87.6 82.6 67.6 35 34
23 25 127 104 106 83 36 38
17 25 127 110 106 89 36 38
25 34 158 133 133 108 36 45
18 34 158 140 133 115 36 45

(o) I IO, B U, BV, BV, RV, IRE N |

2P-04 M10x1.5 4~M8

2P-05 M12x1.75 4~M8 14 - 31 62 14 13.5 6 30. 4 27.2 25 10 -
2P-06 A5 M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 34 31 12 3~M6
2P-08 A5 M20x2.5 6~M12 20 17 38 95 25 223 11.8 46.3 41.9 35 14 6~M10
2P-08 A6 M20x2.5 6~M12 20 18 38 95 25 223 11.8 46.3 41.9 35 14 3~M6
2P-10 A6 M20x2.5 6~M16 18 18 43 110 30 30.8 113 51.1 46.7 40 16 6~M12
2P-10 A8 M20x2.5 6~M16 18 25 43 110 30 30.8 11.3 51.1 46.7 40 16 6~M8
2P-12 A8 M20x2.5 6~M16 18 25 51 130 30 48.5 12.5 - - 50 18o0r21 6~M8
2P-15 A1l  M30x3.5 6~M20 30 S 63 165 43 48.8 255 77.5 69.5 62 25.5 3~M10

1. AL EBRIE R 2p-A BLZ<F)E (The dimensions and the specifications of 2P-A type are in red data.)

WWW.AUTOGRIP.COM.TW AUTOGRIP 8




BRMITIEE) 1 2KEE
’ 3L/3L-A  5aexione i siore pomer cHuck =Mepzesy

HY

o WHAZNBAEEILML  ARNTE o
o NHHHALHLBENREEHE » L AEHEF -

o FHIBEBRERFHE

e It's a CRANK type 3-jaw with the large through-hole, and extra long jaw

stroke.
e Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

B JEAEAEEAELETERZAL cKmax HAELEHETEH
BELRAHRSE BT KEBRFKRTH -

B ] value is the hole diameter of blank draw nut, K is the maximum thread
specification, and it could be customize.

B EAE & FH Patent numbers:
£ ¥ : PAT.207282(Taiwan) / K [ : PAT.ZL02284637.9(China)

Serration Pitch
HEE 15

G H m_ SHEE 15
G_ ] — [
E1 ] o
3L-208A5 i =t
3LA5AS. —r ot =
o 1! e
Refer to Fig.A o B K i b
SHEA ; H < & ¥ "
~ S| o] —fB8iH- = .
E1 T—-— S 5
ol = | L1]] =i
o 8 J_ I
W
L/ B
L1 B
3L-A 3L 3L-2

BERAURAE K BOIRERRFTRETR - ATBREER SRS -
TREBIRAEISTHORR]

Subject to technical changes

i #571& SPECIFICATIONS
w  |mome | JUE | FREE | SHEEE | sipgn [msmsm| o | &2 | amEsd| S epEr

==
(S
= o
Plunger | Jawstroke | &K &N \ay DB, pull | Max.Clamping | oo, sheeq [Momentofl  yyaiohs . Max. pressure
stroke (Dia.) Max. Min. force inertia
Model Matching cyl.
18 138 6

kg
15.6(1590) 17.2(1750) 4200 0.019 7.2 8 TK-A533 2.3(23)

MPa (kgf/cm?)

3L-205 A4 12

3L-206 A5 15 24 170 18 23.5(2400) 26.0(2650) 3600 0.063 13,5 15.3 TK-C646 2.7(27)
3L-208 A5 20 32 215 25 34.3(3500) 40.7(4150) 3000 0.18 241 27 TK-A853 2.8(28)
3L-208 A6 20 32 215 25 34.3(3500) 40.7(4150) 3000 0.18 24.1 25.2 TK-A853 2.8(28)
3L-210 A6 25 37.5 260 47 47.7(4870) 55.9(5700) 2400 0.35 39.5 46.5 TK-A1075 3.3(33)
3L-210 A8 25 375 260 47 47.7(4870) 55.9(5700) 2400 0.35 395 45 TK-A1075 3.3(33)
3L-212 A8 30 45 315 54 64.7(6600) 61.0(6220) 2100 0.827 673 70.5 TK-A1291 3.0(30)
3L-15 A8 35 52 385 50 84.3(8600) 68.0(6930) 1600 2.58 136 150 TK-A1512 2.6(26)
3L-15 All 35 52 385 50 84.3(8600) 68.0(6930) 1600 2.58 136 143 TK-A1512 2.6(26)

M2 R ~<F DIMENSIONS

3L-205 A4 135 65 76 110 82.6 63.51 96 4 15 32 1 16 -11 4 20 12
3L-206 A5 170 84 97 140 104.8 82.56 116 5 18 45 6.5 24.5 -8.5 9.5 19 20
3L-208 A5 215 96 114 170 133.4 82.56 104.8 5 23 52 7 30 -13 10 20 30
3L-208 A6 215 96 114 170 133.4 106.38 150 5 23 52 7 30 -13 10 20 30
3L-210 A6 260 108 130 220 171.4 106.38 133.4 5 25 75 8.5 33 -16.5 8 25 45
3L-210 A8 260 108 121 220 171.4 139.72 190 5 18 75 8.5 26.5 -16.5 1.5 25 45
3L-212 A8 315 125 138 220 171.4 139.72 190 5 18 91 115 33 -15 3 30 50
3L-15 A8 385 150 177 300 235 139.72 171.4 6 33 120 12.5 45.5 -22.5 10.5 39 60
3L-15 All 385 150 166 300 235 196.87 260 6 22 120 12.5 34.5 -22.5 -0.5 39

60
15 15 31 62 14 23 9.5 31 22 25 10

3L-205 A4 M40x1.5 3~*M10 3~*M6
3L-206 A5 M55x2 3¥M10 18 15 37 73 20 15.25 7.75 51 39 31 12 3~*M6
3L-208 A5 M60x2 3*M12 18 19 38 95 25 19.25 10.25 63.5 47.5 35 14 6~M10
3L-208 A6 M60x2 3¥M12 18 20 38 95 25 19.25 10.25 63.5 47.5 35 14 3~M6
3L-210 A6 M85x2 3*M16 25 20 43 110 30 24.75 11.25 80 61.25 40 16 3~M8
3L-210 A8 M85x2 3¥M16 25 22 43 110 30 24.75 11.25 80 61.25 40 16 3~M8
3L-212 A8 M100x2 3*M16 24 21 51 130 30 29.75 13.25 96.5 74 50 21 3~M8
3L-15 A8 M130x2 6~¥M20 33 31 63 165 43 51.25 27.25 94.25 68.25 62 25.5 6~M16
3L-15 All M130x2 6~¥M20 33 31 63 165 43 51.25 27.25 94.25 68.25 62 25.5 3~M10

1. A1 BEIE S 31-A B 7<% (The dimensions and the specifications of 3L-A type are in red data.)

9 AUTOGRIP WW\WAUTOGRIP.COM.TW



HBERINI{TIZE) 1 KEE
’ 2'-/ 2I-'A EXTRA LONG JAVEV STROKE POACNER CHUCK —nehzEE

o WA NBAEAIL » BRITE -

o NHHHALHLBENREEHE » L AEHEF -

o FHIBEBRERFHE

e It'sa CRANK type 2-jaw with the large through-hole, and extra long jaw stroke.

e Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

B AR RELET BRI cKmax EAE BT EHET
ZERABMG  EITREBEFRTH -

B ] value is the hole diameter of blank draw nut, K is the maximum thread
specification, and it could be customize.

B EF|E & 59 Patent numbers:
& 7% : PAT.207282(Taiwan) / A [£ : PAT.ZL02284637.9(China)

Serration Pitch

PR 15
G H EBE 15
S ] =
El
2L-208A5 U
2L-210A6 H
2L-15A8 =
Refer to Fig.A : = o k 1T J]
£B1E A . I g = —_/_ﬂj(_u_
& "% A
o = L1585 —
a 8 8 g —1 - r.
T |
L/ e
L/ B
L1 B
Fig.A
& A 2L-A 2L 2L-2

BERAURME K EOIRERFTREIR - AIBREERESRS -
TREBIRARIE LR

Subject to technical changes

#ifr#31& SPECIFICATIONS

moire | MR | SERE | SERD | s | smeny 5 EABREN

min® (rpm) | kg’
2L-205 A4 12 18 135 6 10.4(1060) 11.4(1170) 4200 0.018 08 | %7 TK-A533 1.5(15)
2L-206 A5 15 24 170 18 15.7(1600) 17.3(1760) 3600 0.063 13.1 149  TK-C646 1.8(18)
2L-208 A5 20 32 215 25 22.9(2330) 27.1(2760) 3000 0.173 22 26 TK-A853 1.9(19)
2L-208 A6 20 32 215 25 22.9(2330) 27.1(2760) 3000 0.173 22 242  TK-A853 1.9(19)
2L-210 A6 25 37.5 260 47 31.8(3250) 37.3(3800) 2400 0.33 37 455 TK-A1075 2.5(25)
2L-210 A8 25 37.5 260 47 31.8(3250) 37.3(3800) 2400 0.33 37 44 TK-A1075 2.5(25)
2L-12 A8 30 45 304 30 43.1(4400) 50.0(5100) 2100 0.8 60 65.5 TK-A1291 2.0(20)
2L-15 A8 35 52 385 50 56.2(5730) 53.0(5400) 1600 2.52 133 147  TK-A1512 1.7(17)
2L-15 All 35 52 385 50 56.2(5730) 53.0(5400) 1600 2.52 133 140 TK-A1512 1.7(17)

SMUR T DIMENSIONS

65 76 15 32 1 16 -11 4 20 12

D2
2L-205 A4 138 110 82.6 63.51 96

m

4

2L-206 A5 170 84 97 140 104.8 82.56 116 5 18 45 6.5 24.5 -8.5 9.5 19 20
2L-208 A5 215 96 114 170 133.4 82.56 104.8 5 23 52 7 30 -13 10 20 30
2L-208 A6 215 96 114 170 133.4 106.38 150 5 23 52 7 30 -13 10 20 30
2L-210 A6 260 108 130 220 171.4 106.38 1334 5 25 75 8.5 33 -16.5 8 25 45
2L-210 A8 260 108 121 220 171.4 139.72 190 5 18 75 8.5 26.5 -16.5 1.5 25 45
2L-12 A8 304 127 140 220 171.4 139.72 190 5 18 91 15 33 -15 3 28 50
2L-15 A8 385 150 177 300 235 139.72 171.4 6 33 120 12.5 45.5 -22.5 10.5 39 60
2L-15 A1l 385 150 166 300 235 196.87 260 6 22 120 12.5 34.5 -22.5 -0.5 39 60
2L-205 A4 M40x1.5 4~M10 15 15 31 62 14 23 13.75 31 22 25 10 3~M6
2L-206 A5 M55x2 4~M10 18 15 37 73 20 15.25 7.75 51 39 31 12 3~M6
2L-208 A5 M60x2 4~M12 18 19 38 95 25 19.25 10.25 63.5 47.5 35 14 6~M10
21-208 A6 M60x2 4~M12 18 20 38 95 25 19.25 10.25 63.5 47.5 35 14 3~M6
2L-210 A6 M85x2 4~M16 25 20 43 110 30 24.75 11.25 80 61.25 40 16 6~M12
2L-210 A8 M85x2 4~M16 25 22 43 110 30 24.75 11.25 80 61.25 40 16 3~M8
2L-12 A8 M100x2 4~M16 22 19 51 130 30 46.25 19.25 77 54.5 50 21 3~M8
2L-15 A8 M130x2 6~M20 33 27.5 63 165 43 51.25 27.25 94.25 68.25 62 25.5 6~M16
2L-15 All M130x2 6~M20 33 31 63 165 43 51.25 27.25 94.25 68.25 62 25.5 3~M10

1. A BEIES 21-A BI 7<% (The dimensions and the specifications of 2L-A type are in red data.)

WWW.AUTOGRIP.COM.TW AUTOGRIP 10



HBEREMITI2E) 1 2KEE

EXTRA LONG JAW STROKE POWER CHUCK

=
B
e
i

o WAHAENFEARHA > MRMNTE -

o e ARER TR o

o FHHUEBABARFTERE -
It's a CRANK type single-jaw with the large through-hole, and extra long
jaw stroke.

e Suitable for clamping the jig or irregular work piece.

e Construction of high rigidity and high clamping accuracy.

Serration Pitch

PrEEEE 1.5 M

1L-08A5 3~U E
1L-10A6
Refer to Fig.A %J- i
ZHE A ~ H1]
ST
o\
o~ I‘E‘I (@] E N — % r_, or)
=) Q g |i®8® Q| L~ =
u | [P g " 10
L K/ J1
= m=——————y = ——— —4 .
Nt
C |
L1 B L 5
L] B (fro balance weight)
. BCEAL
Fig.A
A 1L-A L

TRERAGIE LRI ER]

Subject to technical changes

i #R1& SPECIFICATIONS

X. pressure

_-- o g o g

1L-06 A5 20 16 168 12.3(1250) 27.3(2780) 3800 0 05 125 14 3 RK-100 1.7(17.5)
1L-08 A5 25 20 215 20 15.7(1600) 37.2(3800) 3000 0.15 242 271 RK-125 1.4(14.3)
1L-08 A6 25 20 215 20 15.7(1600) 37.2(3800) 3000 0.15 242 253 RK-125 1.4(14.3)
1L-10 A6 30 24 254 25 21.6(2200) 48.5(4950) 2400 0.28 388 46 RK-125 1.9(19.5)
iL-10 A8 30 24 254 25 21.6(2200) 48.5(4950) 2400 0.28 38.8 443 RK-125 1.9(19.5)

9hEY R <F DIMENSIONS

P T N N N N T S N S
1L-06 168 9.5 140 104.8 82.56 M30x1.5 M10
1L-08 A5 215 8 93 111 170 1334 82.56 104.8 23 21 46 21 32 52 70 M33x1.5 M12 21 19
1L-08 A6 215 8 93 105 170 1334 106.38 150 17 21 46 21 32 52 70 M33x1.5 M12 21 20
1L-10 A6 254 135 108 128 220 1714 106.38 1334 25 30 47 17 30 62 90 M45x1.5 M16 25 20

1L-10 254 13,5 108 121 220 1714 139.72 190 18 30 47 17 30 62 90 M45x1.5 M16 25 27
-nn-------

1L-06 37 73 19.75 7.75 46 M10 445

1L-08 A5 38 95 25 25.25 10.25 54 34 35 14 M6 35 18 4.5 70 M12 61 52 36

1L-08 A6 38 95 25 25.25 10.25 54 34 35 14 M6 35 18 4.5 70 M12 61 52 36

1L-10 A6 43 110 30 33.75 11.25 67 43 40 16 M8 40 20 5 90 M12 71 58.5 45

1L-10 A8 43 110 30 33.75 11.25 67 43 40 16 M8 40 20 5 90 M12 71 58.5 45

1. AT EBEIES 11-A BUZ <K (The dimensions and the specifications of 1L-A type are in red data.)
11 AuTOGRIP WWW.AUTOGRIP.COM.TW



PERMITIZRE ( — )

LONG JAW STROKE POWER CHUCK =MpER

o HMWZNFEAT > AENGE
REEYEEMEEETE > T HHHEE o
BEEEERERFHE -

e It'sa WEDGE-HOOK type 3-jaw power chuck, and extra long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

Serration Pitch
M HEEE 15 S

-

c =] |
—_ o
1 I ran S|
T o] T— o] =
1
K f \
\ ‘ o
<| o| - =—=— -
|
L P 1 A
- a EﬂEﬂ‘ \@
L _—L1 B
3M-05
Serration Pitch
M BEEEE 15 S
e 1.
— o
H G = i) ]
‘ [~ _—_-Il-’l_‘—'— al =
™~ |
. Q: | o
,4;_____1_____JE____
—Em
K L1 ﬁ [a)]
o % :
» = pp— L= -
L E
B
REBIRIEEUARF
Subject to technical changes
3M-06~3M-12

i #R4& SPECIFICATIONS v f

NP =z i CIFER Sk BF = = ey = sex 00 = =
B | ROTE TR (EE)| SRR | smmEBeS | BAKES | BSEHE E8 | ERENL | BAERES
Chucking Dia
— Jaw stroke (Dia.) Max. Min. Max. D.B. pull Max. Clamping force| Max. speed e Weigh Matching oyl Max. pressure
- o ) o ) s i
135 14

3M-05 15 10.9 9.8(1000) 16.4(1670) 4500 0.02 6.0 RK-75(N) 2.7(27)
3M-06 20 14.5 165 14 21.6(2200) 36(3680) 4000 0.04 122  RK-100(N) 3.0(30)
3M-08 23 16.7 210 17 29.4(3000) 54.9(5600) 3500 013  23.0  RK-125(N) 2.9(29)
3M-10 27 19.6 254 22 39.2(4000) 74(7550) 3000 0.3 343 RK-150(N) 2.8(28)
3M-12 30 21.8 304 26 54(5500) 99(10100) 2500 071  59.4  RK-150(N) 3.6(36)

5MEUR < DIMENSIONS
[ Model | A | 8 | CH§ | D0 | _E | Gmax | _Gmn | __H_ | _J | __K__|
80 6 -9

m

3M-05 135 55 100 7 35 28 M12x1.75
3M-06 165 74 140 104.8 5 101.6 81.6 36 34 M16x2
3M-08 210 85 170 133.4 5 129 106 36 38 M20x2.5
3M-10 254 89 220 171.4 5 160 133 36 45 M20x2.5
3M-12 304 106 220 171.4 6 70 40 46 50 M24x3
3M-05 3~M8 14 31 62 14 15.5 5 329 27.45 25 10
3M-06 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
3M-08 6~M12 20 38 95 25 203 8.8 47.5 39.15 35 14
3M-10 6~M16 18 43 110 30 323 12.8 53.9 44.1 40 16
3M-12 6~M16 18 51 130 30 47.8 133 62.5 51.6 50 21

WWW.AUTOGRIP.COM.TW AUTOGRIP 12



PERMITIZRE ( Z)

LONG JAW STROKE POWER CHUCK

=MpER

o BPZREEAT MENGE -

iﬁ’iﬁﬁi’]u@ﬂc}i*ﬁ B > b B o

o FHHUEBABARFTERE -

e It'sa WEDGE-HOOK type 3-jaw power chuck, and extra long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

3M-215,3M-218

3M-221 3M-224

IREBIRA ISR

Subject to technical changes

iR 1& SPECIFICATIONS

AT REFER
Chuckln D|a

(EX) : BEPHEGLH#ES RANRE A TEE

Eitkrs
— Mln Max. D.B. pull Max. Clamping force| Max. speed T Weigh
o ) o )

BLTE

EAREEE | RAEREN

Matchlng cyl.
MPa (kgf/cmz)

*  3M-215 35 25.4 381 20 91.0(9280) 158.9(16200) 2300 1.8 96 RK-200(N) 3.0(30)
*  3M-218 35 25.4 450 51 91.0(9280) 158.9(16200) 2000 232 124 RK-200(N) 3.0(30)
* 3M-221 35 25.4 530 53 91.0(9280) 158.9(16200) 1350 4.9 175  RK-200(N) 3.0(30)
*  3M-224 35 25.4 610 160 91.0(9280) 158.9(16200) 1250 7.2 225 RK-200(N) 3.0(30)

MR DIMENSIONS

e S S S S - 1 —

m

*  3M-215 6 2

*  3M-218 450 114 300 235 6 2 92 57 55 60

*  3Mm-221 530 125 380 330.2 6 3 97 62 55 60

*  3M-224 610 125 380 330.2 6 3 97 62 55 60
I S S I T o N A

3M-215 M30x3.5 6~M20 30 63.3 165 43 49.75 18.25 79 66.3 62 25.5

* 3M-218 M30x3.5 6~M20 35 63.3 165 43 51.25 18.25 109.5 96.8 62 25.5

*  3Mm-221 M30x3.5 6~M24 31 71 180 60 89.0 76.3 89 76.3 65 25

*  3M-224 M30x3.5 6~M24 31 71 180 60 128.0 115.3 128 115.3 65 25
1. " ERBNEBLEEZEIGHRE  MIREMAE - (Models with "*" mark are produced only by order.)

13 AUTOGRIP WW\WAUTOGRIP.COM.TW



PERMITIZRE

LONG JAW STROKE POWER CHUCK ZMepEgi

© EPIERAR RN -

iﬁ’iﬁﬁi’]u@ﬂc}i*’h B > b B o

o FHHUEBABARFTERE -

e It'sa WEDGE-HOOK type 2-jaw power chuck, and extra long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

Serration Pitch S
M BEEEE 15

2M-05

Serration Pitch

M HeeElE 1.5 S

TREBIRA ISR

Subject to technical changes

it 4% SPECIFICATIONS
Bl

N7 RHER
<) Chucking Dia.

R p—" w——
=
Punger e N | woxospul | Vg - w | woxpresre |
Model ia.) & Matching cyl

B W P T T T '
2M-05 10.9 135 14 6.5(660) 11(1120) 4500 0.02 6.0 RK-75(N) 1.8(18)
2M-06 20 14.5 165 14 14.3(1460)  24(2450) 4000 0.04 122 RK-100(N) 2.0(20)
2M-08 23 16.7 210 17 19.6(2000)  36.6(3730) 3500 0.13 23.0  RK-125(N) 1.9(19.3)
2M-10 27 19.6 254 22 26.1(2660)  49.3(5030) 3000 0.30 343 RK-150(N) 1.8(18.6)
2M-12 30 21.8 304 26 36(3670) 66(6730) 2500 0.71 59.1  RK-150(N) 2.4(24)

MR~ DIMENSIONS

I S T S TS S N R

m

2M-05 7
2M-06 165 74 140 104.8 5 101.6 81.6 36 34
2M-08 210 85 170 133.4 5 129 106 36 38
2M-10 254 89 220 171.4 5 160 133 36 45
2M-12 304 106 220 171.4 6 46
————“n——
2M-05 M12x1.75 4~M8 14 15.5 32.9 27.45 25
2M-06 M16x2 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
2M-08 M20x2.5 6~M12 20 38 95 25 22.3 8.8 47.5 39.15 35 14
2M-10 M20x2.5 6~M16 18 43 110 30 323 12.8 53.9 44.1 40 16
2M-12 M24x3 6~M16 18 51 130 30 47.8 133 62.5 51.6 50 21

WWW.AUTOGRIP.COM.TW AUTOGRIP 14



3V-A Y7 EE PR E S 158 ( — )
POWER CHUCK FOR VERTICAL LATHE =M ERAKEEE

o BHZREEAA - |
o BWBAWAZRH  HAHUEGEARAIRNER -
° It's a WEDGE-HOOK type 3-jaw high speed power chuck.
° Sealed against swarf, chips and coolant, suitable for vertical lathe.
3V-21
Serration Pitch S g&gg
M_ HHEEE F ] 2
s T a9
U_E[ ¥ 3V-12 N )5‘{3
1 7
rrmt——P— \f — \?@
3V-15A8 { >
3V-15A15 H G
3V-18A8 1) &
3V-18A15 < ol ol == o=
3V-21A11 S| sl g 8¢ 8 —
3V-24A11 N o
Refer to Fig.A K L1
2HE A | \
o " \f '
L1, L %ﬁ
B
U
L
BB EREOMT Fig.A
Subject to technical changes A
AR 4% SPECIFICATIONS

g RHEHER =
Bk Chucking D 7

Max. D.B. pull Max.fCIamplng Max. speed
orce Matching cyl.
kN (kgf) kN (kgf) min? (r.p.m.)

12 As 30 12.7 304 22 41(4180)  156(15900) 3150 08 66 RS0 2.9(29)
vis A8 35 16 381 30  81.9(8360) 245.1(125000) 2900 23 130
avis AL 35 16 381 30  819(8360) 245.1(125000) 2900 23 129
s A5 35 16 381 30  819(8360) 245.1(125000) 2900 27 137
318 A8 35 16 450 80  81.9(8360) 245.1(125000) 2600 33 159
3v18 AL 35 16 450 80  81.9(8360) 245.1(125000) 2600 33 158 RK-200 3.2(32)
3v18  A15 35 16 450 80  819(8360) 245.1(125000) 2600 37 165  RE-200K 3.4(34)
21 Al 35 16 530 62  819(8360)  271.6(27700) 1800 53 229
v21 A5 35 16 530 62 819(8360)  271.6(27700) 1800 52 222
v2a AL 35 16 610 136  81.9(8360)  271.6(27700) 1700 76 270
v2a A5 35 16 610 136  819(8360)  271.6(27700) 1700 73 263
v A5 35 16 800 136  819(8360)  271.6(27700) 1100 362 430

MR~ DIMENSIONS

40 1.5 73 43 36 50

3v-12 A8 304 141 220 171.4 139.72 190 M20x2.5
3Vv-15 A8 381 164 300 235 139.72 171.4 54 1.5 99 64 55 60 M30x3.5
3v-15 A1l 381 168 300 235 196.87 260 58 1.5 95 60 55 60 M30x3.5
3v-15 A15 381 172 380 235 285.78 330.2 62 15 91 56 55 60 M30x3.5
3v-18 A8 450 164 300 235 139.72 171.4 54 15 99 64 55 60 M30x3.5
3v-18 Al1l 450 168 300 235 196.87 260 58 15 95 60 55 60 M30x3.5
3v-18 A15 450 172 380 235 285.78 330.2 62 15 91 56 55 60 M30x3.5
3v-21 All 530 167 380 330.2 196.87 235 46 3 91 56 55 60 M30x3.5
3v-21 A15 530 167 380 330.2 285.78 330.2 46 3 91 56 55 60 M30x3.5
3v-24 All 610 167 380 330.2 196.87 235 46 3 91 56 55 60 M30x3.5
3v-24 A15 610 167 380 330.2 285.78 330.2 46 3 91 56 55} 60 M30x3.5
3v-32 A15 800 167 380 330.2 285.78 330.2 46 3 91 56 55 60 M30x3.5
3v-12 A8 3~M16 24 54 130 30 47.5 16 61 54.65 50 21 3~M8
3v-15 A8 6~M20 24 66 165 43 51.25 18.25 77.5 69.5 62 25.5 6~M16
3v-15 All1 6~M20 32 66 165 43 51.25 18.25 77.5 69.5 62 2585 3~M10
3v-15 Al15 6~M20 26 66 165 43 51.25 18.25 77.5 69.5 62 25.5 6~M24
3v-18 A8 6~M20 24 66 165 43 5225 18.25 108 100 62 2585 6~M16
3v-18 All 6~M20 32 66 165 43 51.25 18.25 108 100 62 25.5 3~M10
3v-18 A15 6~M20 26 66 165 43 51.25 18.25 108 100 62 25.5 6~M24
3v-21 All 6~M24 35 74 180 60 93.5 24.5 89 81 65 25 6~M20
3v-21 Al15 6~M24 35 74 180 60 93.5 24.5 89 81 65 25 3~*M12
3v-24 All 6~M24 35 74 180 60 93.5 24.5 128 120 65 25 6~M20
3Vv-24 Al5 6~M24 35 74 180 60 93.5 24.5 128 120 65 25 3~*M12
3v-32 Al5 6~M24 35 74 180 60 189.5 24.5 128 120 65 25 3~*M12

15 AUTOGRIP WW\WAUTOGRIP.COM.TW



VERPEENKE ()

POWER CHUCK FOR VERTICAL LATHE =M ERHKYEE

o MH=ZNHFEKHE -

o ENTEBFALEATE » UAITHKN ©

o HHMRBABGARN  HAHUBGERARLRNER ©
e It'sa WEDGE-HOOK type 3-jaw high speed power chuck.

e With manual radial setting of master jaws for the workpiece centering.
e Sealed against swarf, chips and coolant, suitable for vertical lathe.

,M_‘
=
u '™ =
QIL =
4 of I ©
~
wiil :
o|8la] = L <| 2| _"_.g
|l gl © S ) S 15 or—
‘ ° = F
S
Q
i L1
f N S
T b 8 6@
L1 E1 6~L -—Li
3V-40A20 2
3V-50A20
Refer to Fig.A B
2B A — B
Fig.A 270 -
90
76.2 762
_BA 76.2| 38.1
2 |1l U (] xREIE
= o
_l[lL_19.08 o L =
- 19.03 ||
83
RBIRIEELHORR Soft jaw SJ-40~79 Hardened jaw SJ-40~79

Subject to technical changes

il #34% SPECIFICATIONS
il o 1 i REEK =B

Chucking Dia.

5 S 2
Matching cyl.
MPa (kgf/cm?)

3V-40 A20 57 46+(60) 1005 380 180(18350) 320(32620) 630 68 72 780 849 RK-250 4.24(43.2)
3V-50 A20 57 46+(60) 1250 600 180(18350) 320(32620) 500 145 148 800 869 RE-250 4.24(43.2)
3V-63 60 48+(80) 1600 600 200(20390) 360(36700) 400 500 - 1600 - RE-A250 4.76(46.7)
3V-79 60 48+(80) 2000 1000  200(20390) 360(36700) 320 1250 - 2500 - RE-L250 4.76(46.7)

MR~ DIMENSIONS

(i LAl o ¢l o lm]ow]elal il ome | om | w] | |
66 6 65

G max.
3v-40 A20 1005 184 226 520 463.6 412.78 463.6 8 50 190 123 73 1 65 M36x4

3V-50 A20 1250 184 226 520 463.6 412.78 463.6 8 50 190 123 73 66 16 65 65 M36x4
3Vv-63 1600 222 - 720 647.6 - - 8 - 218 131 - 71 - 65 65 M36x4
3V-79 2000 240 - 720 647.6 - - 8 - 238 133 - 73 - 65 65 M36x4
i v T | w L v | P | o ame | Amn ] s L T | v | v | w
3V-40 A20 M24 37 110 270 76.2 295 457 404 6~19.03 7~M24 3~M12 42 84
3V-50 A20 M24 37 110 270 76.2 416 563 510 9~19.03 9~M24 3~M12 42 84
3V-63 M30 46 110 270 76.2 540 738 674 12~19.03 13~M24 - 42 110
3V-79 M30 48 110 270 76.2 740 914 850 16~19.03 17~M24 - 42 110

1. 4B 25 S 3v-A B Z<FJK (The dimensions and the specifications of 3V-A type are in red data.)
WWW.AUTOGRIP.COM.TW AUTOGRIP 16



AR RIBE = T\2kEE
PNEUMATIC ROTARY CHUCK Wi

A
=
fi#

o WEAAHZHATEKE > PTAEERN» BEBIHIFE » LT
FAAE A AR RN o

o ERAARERLETHEMT »

RERGERBERT W ITHUELZENKEN -

ReEAEENBEEENE S HEHF o

Rotary chuck with built-in pneumatic cylinder, compact design, suitable for

light machining, compatible to standard soft jaw/hard jaw.

Can be installed on a rotary table for indexing machining.

Sealed against dust and cutting chips.

Matching surfaces of all parts hardened, ground and lubricated directly.

HE R E R RARR KT AL MR A A
BB ELABRATRIT

B Notice : To overcome friction force between distubritor ring and chuck body,
the rotating torque of rotary table must be higher than the requirement
shown in the table.

9]

Serration Pitch

P PEEEEE 1.5 L
B 1T |!j[’7: - (@ _@%_ @»
1 i B o
il
w
é 8| © O —%
= W
LS ] s
H
L1 | :2 ,
— f
[T 6~L
2~RC1/4 air supply port
K M [N for close/open
FRAERAL 2~RC1/4
J BIOPEN P CLOSE
B

TREBIRARIE LB RER

Subject to technical changes

R ilr#R+& SPECIFICATIONS

18 —30 | s R ER BRARE ) = = =2 ) o e
il M T*E(E1I) Chucking Dia. ;ﬁ@(ﬁﬁﬁﬁ;ﬁﬂ 6.0 kef/ BAERES i8R ity 0 ke
A = = " Max. clamping force Max R Air consumption
Jaw stroke (Dia.)| A Max. | &/)\ Min. Pneumatic( at 6.0kgf/cm?) Max. pressure Max. speed reslstance torque )

otatio
= o )
7 40

NEW RAP-306 5.5 170 25 21(205.94) 72

98B R <F DIMENSIONS
woel [ A | 8 L cwe | o | & | F | o | n | o |
98 181 170 25 7 52 8

NEW  RAP-306 215

110 155

[ Model | L | Lo | v | N | P | o | R | s | T | U
36 73 20 31

NEW  RAP-306 6~M8 11 19.5 14 12 3~M8

17 AUTOGRIP WW\WAUTOGRIP.COM.TW



3D E3NEL RN PP

PULL LOCK POWER CHUCK =MpER

o ;lzﬁ%ﬂ%lﬁfﬁﬁr’wﬁ#ﬁi%m?ﬁ%ﬁ EIUT LR R ES
Y ﬁ °

%S

o FHIBFNMRENAREEEZTHRE TS BBIAEE » #R
REBEERAKE » BeETHEE -

e Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

e Almost no workpiece uplifting displacement.

e The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

e Suitable for heavy duty machining.

A
acC
QE

/ 3~R

TREBIRARIE LA HER

Subject to technical changes

B ilr#R& SPECIFICATIONS

Matching cyl.

H
" Max. pressure
Model stroke (Dia.)
= s

* 3D-04 7 5 110 13 6.0(612) 10.5(1070) 3500 0.007 4.5 RK-75 1.6(16.5)
3D-05 7 5 135 21 10.0(1020) 17.0(1730) 3500 0.018 7.9 RK-75 2.7(27.5)
3D-06 10 7.2 165 22 15.0(1530) 25.0(2550) 3500 0.051 15 RK-100 2.1(21.4)
3D-08 10 7.2 210 28 25.0(2550) 45.0(4590) 3000 0.15 26 RK-125 2.2(22.5)
3D-10 15 10.8 254 35 35.0(3569) 60.0(6118) 2500 0.37 46 RK-125 3.1(31.6)
3D-12 15 10.8 304 50 45.0(4590) 75.0(7650) 2000 0.79 70 RK-150 2.8(28.5)

* 3D-15 20 14.5 381 60 53.9(5500) 90.0(9180) 1500 2.25 132 RK-150 3.4(34.2)

MR~ DIMENSIONS

a5 | ¢ | o | & | ¢ Jomxomn | n | | kmm [ kmn| L
110 60 85 25 20 22 15 25 M10 30 23

*  3D-04 70.6 3~M10
3D-05 135 70 110 82.6 30 25 24 17 28 M12 35 28 3~M10
3D-06 165 85 140 104.8 35 36 37 27 32 M16 45 35 6~M10
3D-08 210 90 170 133.4 45 36 38 28 38 M20 56 46 6~M12
3D-10 254 110 220 171.5 55 46 47 32 50 M24 65 50 6~M16
3D-12 304 125 220 171.5 55 50 49.5 34.5 53 M27 65 50 6~M16

*  3D-15 381 140 300 235 70 55 61 41 55 M30 86 66 6~M20

*  3D-04 15 19.5 50 22 37 34.5 M3 25 22.5 - 3~M6 35 2
3D-05 16 24.5 56 23 46 43.5 M3 30 27.5 - 3~M6 44 2
3D-06 16 31 70 27 57.7 54.3 M4 35 35 20 6~M6 52 7
3D-08 15 41 84 31 70.8 67.2 M5 40 45 25 6~M8 65 10
3D-10 24 46 100 38 85 79.6 M6 50 55 30 6~M8 75 12
3D-12 22 51 120 42 101.9 96.5 M6 60 70 35 6~M10 90 12

*  3D-15 30 60 165 60 135.6 128.3 M8 70 95 45 6~M12 120 13

1. " ERERNEBAEZRGRE  SIREMAE - (Models with "*" mark are produced only by order.)
WWW.AUTOGRIP.COM.TW AUTOGRIP 18



2D E3NEL RN PP

PULL LOCK POWER CHUCK ZMepEgi

. lgg%lﬁﬁﬁmﬁﬁﬁ%m%ﬁ’ﬁI#KLﬁﬁ%%E&

o FHIBFNMRENAREEEZTHRE TS BBIAEE » #R
REBEERAKE » BeETHEE -

e Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

e Almost no workpiece uplifting displacement.

e The body and the cylinder pull-down mechanism are heat-treated and fine

boring, which guarantee the clamping precision and durableness.
e Suitable for heavy duty machining.

2A
acC
QE

REBREIE R AR

Subject to technical changes

B i#R1& SPECIFICATIONS

me | 2 : wE - BRENE | BAGREN
Model (Dia.) 0 Matching cyl.
kN (kgf KN (kgf) MPa (kgf/cr)

2D-06 10 7.2 165 22 10.0(1020)  16.7(1700) 3500 0.045 12 RK-100 1.4(14.3)
2D-08 10 7.2 210 28 16.7(1700)  30.0(3060) 3500 0.13 23 RK-125 1.5(15)
2D-10 15 10.8 254 35 23.3(2379)  40.0(4079) 2500 0.34 43 RK-125 2.1(21.1)

MR~ DIMENSIONS

(oo | A | o | ¢ | 0 | & | ¢ Jomxlomn | v | | k| koo | o |
165 85 140 35 36 37 27 32 M16 45 35 M10

2D-06 104.8

2D-08 210 90 170 133.4 45 36 38 28 38 M20 56 46 M12

2D-10 254 110 220 171.5 55 46 47 32 50 M24 65 50 M16
(ot || w | w | » Jamwlam | & | s | 1 | v | v | w | x|

2D-06 16 31 70 27 57.7 54.3 M4 35 35 20 4~M6 52 7

2D-08 15 41 84 31 70.8 67.2 M5 40 45 25 4~M8 65 10

2D-10 24 46 100 38 85 79.6 M6 50 55 30 4~M8 75 12

19 AUTOGRIP WW\WAUTOGRIP.COM.TW



E3NEL RN PP

PULL LOCK POWER CHUCK =EH P ZER

TS E ) CELS B

BRREA R ERE

o HWHEGHERARFEENHMNES

e It'sa Pin-Arbor Draw Down type 3-jaw thru-hole power chuck.

High radial gripping force and high accuracy.
e Suitable for heavy machining.

gA
@c
J

1}
K max.

TREIRARIE LRI ER]

Subject to technical changes

1T #71& SPECIFICATIONS
T B FEK 23 = s 5 = —
moe | JUTE | JRER ssamawn| siogsn | eeess | 0 | 858 | amesd | BAeRE?
] mm kg

kN (kgf) kN (kgf) mint(r.p.m.) | kg * m? MPa (kgf/cm?)

Matching cyl.

mm m

*  3U-203 4 2 42 14 5.8(590) 16.7(1700) 10000 0001 18 RK-75(N) 1.6(16)
* 3U-204 6 3 60 10 10.0(1020) 28.4(2900) 8000 0.005 3.9 RK-75(N) 2.7(27)
3U-205 6 3 84 15 13.9(1420) 39.7(4050) 8000 0012 68 RK-100(N) 2.0(20)
3U-206 10 5 105 24 17.9(1830) 57.8(5900) 7000 0.055 147  RK-100(N) 2.6(26)
3U-208 10 5 132 25 25.0(2550) 80.0(8150) 6000 014 255  RK-125(N) 2.2(22)
3U-210 10 5 163 34 31.0(3160) 100.0(10100) 4500 036 435  RK-125(N) 3.1(31)
3U-212 10 5 200 81 35.0(3570) 100.0(10100) 3600 0.68 630  RK-125(N) 3.1(31)
MR~ DIMENSIONS
s ] o | m Jcmw| o | £ | ¢ Jemxlomn] a | o |« | 1 | o |
* 3U-203 85 545 42 70 54 35 25 18 14 22 38 M20x1.5 3~M8 11
* 3U-204 110 725 55 85 70.6 4 30 16 10 245 42 M24x1.5 3~M10 12
3U-205 135 845 63 110 826 4 35 16 10 26 50 M28x1.5 3~M10 15
3U-206 168 118 80 140 1048 5 45 20 10 31 60 M35x1.5 3~M10 165
3U-208 210 137 92 170 1334 5 52 21 11 31 80 M48x2 3~M12 18
3U-210 254 152 102 220 1714 5 75 25 15 37 105 M68x2 3~M16 23
3uU212 304 157 102 220 1714 5 100 25 15 37 135 M92x2 3~M16 26
*  3U-203 12 26 M5 7.5 6.5 38 15 10 32 3.5 2 2 M3
*  3U-204 17 32 M6 10.75 9.25 46 20 10 38 4 3 3 M4
3U-205 20 415 M8 1325 1175 55 24 10 45 5 3 8 M5
3U-206 30 50 M10 1575  13.25 72 30 17 58 6 5 5 M5
3U-208 34 63 M12 1625  13.75 82 35 17 68 6 5 5 M6
3U-210 39 74 M14 2075 1825 107 40 17 93 6 5 5 M8
3U-212 44 74 M14 4425 4175 130 40 17 114 6 5 -5 M10

1. " ERBNEBLEEZEIGHRE  MIREMAE - (Models with "*" mark are produced only by order.)
WWW.AUTOGRIP.COM.TW AUTOGRIP 20



E3NEL RN PP

PULL LOCK POWER CHUCK =Mz

SEAWA = NF ZRHE -
BREABRGREE

BABGERRFEENH G TS -

AREARER  ETHANEET BERERTHENEKX -
It's a Pin-Arbor Draw Down type 3-jaw non-thru-hole power chuck.

High radial gripping force and high accuracy.

Suitable for heavy machining.

Can work with the airtight detection device to perform axial position
confirm, suitable for the precision of large length size process.

TRERAGIE LRI ER]

Subject to technical changes

i #i1& SPECIFICATIONS
= +

Max. Clamping
force

Plunger
stroke

MPa (kgf,

Matching cyl.

We

3U-205K 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.018 6.8 RL-100,RL-A100N 2.0(20)
3U-206K 10 5 105 24 17.9(1830) 57.8(5900) 7000 0.055 14.9 RL-100,RL-A100N 2.5(25)
3U-208K 10 5 132 25 25.0(2550) 80.0(8150) 6000 0.14 25.8 RL-125, RL-A125N 2.2(22)
3U-210K 10 5 163 34 31.0(3160) 100(10100) 4500 0.36 44.0 RL-125, RL-A125N 3.1(31)
3U-212K 10 5 210 81 35.0(3570) 100(10100) 3600 0.68 63.8 RL-125, RL-A125N 3.1(31)

SMUR~F DIMENSIONS

[wosel | n 5 | o1

ot o | 0 | & |+ |re | omex Jomnl n | m | b2 | 1
63 110 4 35 14 16 10 42 12 - 50

22

3U-205K 135 84.5 82.6 M25X1.5 M10
3U-206K 168 118 80 140 104.8 5 45 14 20 10 48 12 30 60 M28X1.5 24 M10
3U-208K 210 137 92 170 133.4 5 52 16 21 11 51 15 30 80 M35X1.5 30 M12
3U-210K 254 152 102 220 171.4 5 75 16 25 15 51 15 30 105 M38X1.5 34 M16
3U-212K 304 157 102 220 171.4 5 100 16 25 15 51 15 30 135 M45X1.5 40 M16
I S T T T T A G T A e T
3U-205K 15! 20 41.5 M8 13.25 11.75 55 24 25 15,5 45 5 3 -3 M5
3U-206K 16.5 30 50 M10 15.75 13.25 72 30 30 26.5 58 6 5 -5 M5
3U-208K 18 34 63 M12 16.25 13.75 82 35 30 32.5 68 6 5 -5 M6
3U-210K 23 39 74 M14 20.75 18.25 107 40 30 36.5 93 6 5 -5 M8
3U-212K 26 44 74 M14 44.25 41.75 130 40 30 36.5 114 6 5 -5 M10
21 AUTOGRIP WW\WAUTOGRIP.COM.TW



AR 1B T\ ) /I 3R EA

EXPANSIBLE PULL LOCK POWER CHUCK =MpER

o HARNERSE o | )
gi%%l#ﬁﬁﬁﬁﬁﬁﬁm%ﬁ’ﬁl#KL%ﬁﬁ%ﬁé
- ﬁ °
o EBREXRE HAREKHBMWT -
e Suitable for internal gripping
e Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

e Almost no workpiece uplifting displacement.

e With high precision and stability that chuck suitable for end process.
m A% (ER)-

B Air-tight pressure detect function is optional.

3E-06 ~ 08 ~ 10 3E-05

Soft jaw : typeB(option)
Soft jaw : typeA R MBE (&)
AL MARY

3~P

TREBIRARIE RO RER]

Subject to technical changes

R ilr#R& SPECIFICATIONS

Matching cyl.

kN (kgf) kN (kgf) min (r.p.m.) MPa (kgf/cm?)

3E-05 6 3 83 29 13.0(1325) 42.0(4280) 7000 0.018 7.5 RK-100 1.8(18.5)
3E-06 10 5 110 44 18.0(1835) 58.0(5910) 6000 0.042 13.6 RK-100 2.5(25.6)
3E-08 10 5 150 50 25.0(2530) 80.0(8150) 5000 0.14 26.5 RK-125 2.2(22.5)
3E-10 10 5 190 60 35.0(3570) 100.0(10200) 3600 0.31 39.5 RK-150 2.8(28.5)

MR~ DIMENSIONS

S O S I I N S O T I
3E-05 135 98 72 110 82.6 25 18 18 12 25 8 M16 M10 15
3E-06 165 112 80 140 104.8 35 18 22 12 30 8 M16 M10 16
3E-08 210 132 90 170 1334 40 21 22 12 36 10 M20 M12 18
3E-10 254 152 102 220 171.4 50 25 25 15 48 10 M24 M16 23
3E-05 20 25 M6 68 50 83 67 50 29 25 M6X12 110 55 110
3E-06 23 31 M6 90 70 110 89 70 44 40 M6X12 130 76 134
3E-08 30 35 M8 110 90 150 108 90 50 49 M6X12 170 100 170
3E-10 35 40 M10 127 110 190 125 110 60 59 M8X16 210 120 210

WWW.AUTOGRIP.COM.TW AUTOGRIP 22



PERIMI\E) I KREE

INCLINED MASTER JAWS POWER CHUCK

=M ERME

PO RENRESHERE  THATHR AN EEEHT -
MAR MU (EAME AN G HE) kB TEKHELT
B LT ERAEEAEN o

The surface of the center through cover is grinding treated, it can be the
position base surface of the jig/workpiece.

The slideway of main jaws is inclined. It improves the clamping force and
reduces the upfloat situation of the workpiece.

Work with standard top jaws.

REMR 0 (R ) o

RERR TR -

Air-tight pressure detect function is optional.
External gripping only.

Serration Pitch

Hregie

1.5

Axial jaw stroke
BEMTE

TREBIRARIE LR

Subject to technical changes

#ifr#31& SPECIFICATIONS
BT

YT (B

= o= s

m
3N-06 20 8.1(Axial0.9) 165
3N-08 23 9.4(Axiall.0) 210
3N-10 25 10.2(Axiall.1) 254

MR <) DIMENSIONS

oo | A | o | oo |
165 72 140

S5 A
DIEN

Chucki

=
Plunger stroke|Jaw stroke (Dia.
o | ( )

S0 ¢ L oma [ om | v ||
36 34

4
Matching cyl.
MPa (kgf/cm?)

18(1835) 61.5(6270) 5000 0.05 111  RK-100(N) 2.6(26)
25(2540) 85.8(8750) 4500 014 245  RK-125(N) 2.2(22)
29(2950) 108(11000) 4000 032 345  RK-150(N) 1.8(18)

3N-06 104.8 5 545 34.5 M16X2 M10
3N-08 210 85 170 133.4 5 59 36 36 38 M20X2.5 M12
3N-10 254 89 220 171.4 5 63 38 36 45 M20X2.5 M16

I T O . Y T T S A A
3N-06 16 41 0.9 73 20 1525 7.75 38.3 34.25 31 12 M6
3N-08 20 42 1.0 25 22.25 11.75 46.3 41.6 35 14 M6
3N-10 24 47 1.1 110 30 33.75 11.25 52.1 47 40 16 M8

23 AUTOGRIP WW\WAUTOGRIP.COM.TW



P E e EN I REE

FINGER POWER CHUCK =MpER

o RIMMERF HLEIWARESN BoEEIMHmT -

o RIFMEME > THRHFELMAmHEZ TH o

e Gripping at the end face and preventing deformation of workpiece.

e Suitable for thin wall workpiece processing.

e The gripping compensating mechanism can grasp the irregular surface
workpieces well.

" RERE (ER)-

B Air-tight pressure detect function is optional.

Clamping stroke Rotating Stroke
8 FFITE 1288172 Rotating Angle
g I
\. / 3-p 6‘00 DEAE
,__‘ Ué for 05”,06”
L. G
Ei@ = &t
~ Jaw is option
N~ I (@]
;
I " 4 M(ER) ol
O
S[8

@20 H7
211
mit=
|
412.5
30
r 48 1
@25 H7
@13
2
40
60

TREB RIS LR R for 05”,06" for 08!11 1 0!1’ 12"

Subject to technical changes

B il#R1& SPECIFICATIONS

)2 REER | = N
Matching cyl.

Jaw's BA Max. Clampi Max. speed Max. pressure
compensation| Max. force - SP P

m m
3)-05 12 8 2 53 25  75(765  6.0(612) 4000 002 110 F;';‘_llgg(?\l'; 1.0(10)
3)-06 12 8 2 79 55 90(918)  7.5(765) 4000 004 12,0 ';';:11%%(?\3 1.2(12)
3)-08 12 8 2 106 75 180(835) 165(1680) 3500 043 230 QMOiOOQR  25(25)
3)-10 12 8 2.5 150 119  18.0(1835) 16.5(1680) 3500 030  33.0 Fé';'_llgg(?\l? 2.5(25)

* 3012 12 8 25 200 169  18.0(1835)  16.5(1680) 3000 056  44.0 F;'é'_llgg(?\f; 2.5(25)

HMUR~F DIMENSIONS

o | A | o | ¢ | o |+ | omw | om | | | &
135 86 110 40 75 55 25 9

3J-05 82.6 M12X1.75
3J-06 165 86 140 104.8 45 75 55 28 12 M16X2
3J-08 210 90 170 1334 56 80 60 38 16 M20X2.5
3J-10 254 95 220 1714 56 75 55 38 16 M20X2.5
¥ 3J)12 304 95 220 171.4 56 75 55 38 16 M20X2.5
Model L L1 M max. M min. N P (0] R S T u
3J-05 M10 15 56 36 20 M10 42,5 27 3~M6 50 -
3J-06 M10 15 56 36 20 M10 57.5 40 3~M8 64 -
3J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 20°
3J-10 M16 24 71 51 25 M12 99.5 75.5 6~M8 140 20°
*  3)12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 20°

1. " ERERNEBAEZRGRE  SIREMAE - (Models with "*" mark are produced only by order.)
WWW.AUTOGRIP.COM.TW AUTOGRIP 24



2) P E e EN I REE

FINGER POWER CHUCK ZMepEgi

o RIMMERF HLEIWAREN BHoEELHmT -
o REFMEME > TAHELMImHEZ TH o

e Gripping at the end face and preventing deformation of workpiece.
e Suitable for thin wall workpiece processing.

e The gripping compensating mechanism can grasp the irregular surface
workpieces well.

" AEma (ER)-

B Air-tight pressure detect function is optional.

Clamping stroke Rotating Stroke
8RFTRE 12BETE Rotating Angle

6p. EBAE

2~P
LD = for 05",06"
: _Z‘ —_—y
(S
12 Jaw i§ option
'f —l S EMER) (@)
<02 T—
[SEESIRS]
N~
i <]
=
D
_. 105 - 1io 8
= ) .
~ S— N~ -
SR Ogd =T
() = o
o< N
S e S L
) |
25 34 !
|25 .34 | - s
RIS ERORA for 05”,06” for 08”,10",12"

Subject to technical changes

e fif#71& SPECIFICATIONS
mg iR | MREE | SRS lamamien| 8xson | @sEen | 1 | 62 |B6EE | BARREN
rce .

/=10
- - i = o
Model stroke stroke compensation | Max. | Min. fo of inertia Matching cyl
mm L | v | v MPa /')
12

RK-100 OR

2105 8 2 53 25  50(510)  4.0(408) 4000 0015 e0 QISH  07(7)
RK-100 OR

2106 12 8 2 79 55 60(612)  5.0(510) 4000 0035 98 QI o0s(e)
RK-100 OR

2108 12 8 2 06 75 12001224) 110(122) 3500 012 203 QNOIBRR 1707)
RK-100 OR

2110 12 8 25 150 119 12001224) 1L0(1122) 3500 028 307 QAN 17(47)

* 2012 12 8 2.5 200 169  12.0(1224) 11.0(1122) 3000 052 412 RR'é'_ll%%&F)* 1.7(17)

MR <) DIMENSIONS

o | A | o | c | o | ¢ | Gme lom | | n |
135 86 110 40 75 55 25 9

2J-05 82.6 M12X1.75
2J-06 165 86 140 104.8 45 75 55 28 12 M16X2
2)-08 210 90 170 133.4 56 80 60 38 16 M20X2.5
2J-10 254 95 220 171.4 56 75 55 38 16 M20X2.5
¥ 2)-12 304 95 220 171.4 56 75 55} 38 16 M20X2.5
I I N N N N N
2J-05 M10 15 56 36 20 M10 42.5 27 4~M6 50 30°
2J-06 M10 15 56 36 20 M10 57.5 40 4~M8 64 30°
2J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 50°
2J-10 M16 24 71 51 25 M12 99.5 75.5 6~M8 140 50°
¥ 2)-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 50°

1. " ERERNEBAEZRGRE  SIREMAE - (Models with "*" mark are produced only by order.)
25 AUTOGRIP WWW.AUTOGRIP.COM.TW



3R RENMHIEEL = JT\kEE
SWING COMPENSATING TYPE 3-JAW POWER CHUCK = mER

TR HE2mm > FROTRS A > = BB A #HF TH -

e RBREEREMETIMT o

BAGAEHE > GRRGH R  ERETEEMEAR o

BREBREEHL UG L2EMURREEMRFE  URAESHE

R #a o

e The workpieces compensation of eccentric is 2 mm, fixed position for the
center thimble, swing and grasp the workpiece to three jaw.

e Suitable for such materials as the casting and forging to process.

e Special seal proof for dust and cutting fluid, it is more convenient when

maintenance.
e Swing parts are to heat treatment hardened and ground for steel, in order
to improve products service life.

o
ol >
(¢)
L
<| O af | =1
s 8 & T
-
S
7;]——FPBR . "
il
E : 7
L
B V1
W1

TREBIRARIE LA RER]

Subject to technical changes

At 4% SPECIFICATIONS
— .
BE | BOGE |MAR(BE)|  Joes. s
rce

= B/
Model stroke Max. Min. (o]
I TN I I T T
8

mm
NEW  3R-08 20 65 18 19.6(2000) 53.0(5404) 2800 0.15 27 RK-100N 2
NEW  3R-10 25 10 90 22 29.4(3000) 67.7(6901) 2500 0.38 45 RK-125N 2

HMUR < DIMENSIONS

[ wose | # | o Jcew | 0 | & | ¢ Jomx]omn | v | w | o | & | L | u |
NEW 3R-08 210 105 170 133.4 5 57 26 6 42.5 36 10.4 M20x2.5 3~M12 20
NEW 3R-10 254 115 220 171.4 5.5 64 36.5 11.5 25 39 15 M20x2.5 3~M16 22.5

[ wocel | w | | w | ¢ Jam Jamn | & | s L | v | v | w | w | w | x|
NEW 3R-08 38 18 82 2 68 64 10 7.7 12 26 16 3 35 7 M12
NEW 3R-10 40 19 102 2.6 82 78 10 11.3 15 32 18 3 40 7 M14

WWW.AUTOGRIP.COM.TW AUTOGRIP 26



FBEENAY 1B 41 = JT\2KEE

SWING TYPE 3-JAW POWER CHUCK =TUEEH A
o B RIF I o (8 B RO A 3W)
o BABHRBUERMMETIT o
o WERHVKREHE  ERETHEEMEA -
e BEBMHEUMUGLAWMUNREECKIE  URFEZEA

Fir o

o ZNBEAFIH o (FOMHMEA 3W-O
o THEOHMEE2MmM » FNTES EM o

e Swing and grasp the workpiece to three jaw. (3W is automatically positioned
to the center type)

e Suitable for such materials as the casting and forging to process.

e Seal proof for dust and cutting fluid, it is more convenient when maintenance.

e Swing parts are to heat treatment hardened and ground for steel, in order to
improve products service life.

e Swing and grasp the workpiece to three jaw.(3W-C is center compensation
type .)

e The workpieces compensation of eccentric is 2 mm, fixed position for the
center thimble.

M
P| N
TN
| /—E( 1HT
H G = =
BN i z |
==
=™ ®
== —
3| 8| 8~ = -
y =
\k T
K L
s ——
—7 4
J Emiit
L =l
E =
L1 —
B 3W-10C

TRERAGIE LRI ER

Subject to technical changes

B i#R1& SPECIFICATIONS

= e
kg mm

Model stroke Dia. Matching cyl.
mm | mm ] ke | e [ mintepm) | dem | ke | |
NEW 3W-10 17.5 12.5 205/235 50/85 35.3(3600) 105.9(10800) 2500 0.37 48.6  RK-125(N)
NEW 3W-10C 17.5 125 205/235 50/85 35.3(3600) 105.9(10800) 2500 0.37 48.6  RK-125(N) 2

MR~ DIMENSIONS

o | A | o | cam | o | & | | om | om | n |
254 106 220 5 42 50 48 58

NEW 3W-10 171.4 67.5

NEW  3W-10C 254 106 220 171.4 5 42 67.5 50 48 58
Cwoie |~ ¢ 1w | v | p "o | & | m | s | T

NEW 3W-10 M24x3 M16 24 65.6 29 19.5 113 4.03 2.26 72 70

NEW 3W-10C M24x3 M16 24 65.6 29 19.5 113 4.03 2.26 72 70

27 AUTOGRIP WW\WAUTOGRIP.COM.TW



3Q 1RIFINE) A EE
QUICK JAW-CHANGE CHUCK = TR $rcpZe AU

RAEWAENERER » EEHE
Kﬁ$%&m%%#%@m&% ﬁ% s I HEHEE o
BRMEBERGRFERE -
WwENEHEXFZTL2EE  TNZ2EERHEM -

The shortest changes time for soft jaw, it is the high repeatability precision.
Chuck of all parts hardened, ground and lubricated directly.

Construction of high rigidity and high clamping accuracy.

For safety system that master jaw will complete return when base jaw and
serration match up properly.

G
El
3~U ﬁ_
8 -BE]E
~
~

a@c
D2
@D1
| I —

l

oA
@CHs
@J1

TREBIRARIE LB HER

Subject to technical changes

R ili#E1& SPECIFICATIONS

-
kN (kgf) kN (kgf) . kg

3Q-08 A6 16 7.5 210 23 45.0(4590) 100.0(10200) 5000 0.15 245 26.0 TK-1068 3.1(31)

* 3Q-10 A8 19 8.8 254 41 60.0(6118) 135.0(13765) 4500 041 440 46.0 TK-1287 2.8(28)

*  3Q-12 A8 23 10.6 315 47 81.0(8259) 180.0(18354) 3500 096 73.0 75.0 TK-A1511 2.4(25)

MR~ DIMENSIONS

---“-----“-

3Q-08 A6 1334 106.38 150 14.5 32 -1.5 15.5 20
* 3Q-10 A8 254 119 132 220 171.4 139.72 190 18 81 8.5 26.5 -10.5 7.5 39 45
* 3Q-12 A8 315 133 145 220 1714 13972 190 106 8.5 26.5 -145 3.5 42

--—-nlln-----

3Q-08 A6 M75x2  M12 17 20.8~44.8 17.1741.1 35 M6 264
* 3Q-10 A8 115 M90x2  M16 23 25 42 110 30 40.5 21.1~52.8 16.7¥48.2 40 16 M8 312 100
* 3Q-12 A8 140 M115x2 M16 22 24 50 111 30 57 34.1~70.1 28.8764.8 50 21 M8 360 130

m

o un

1. AR5 R 3Q-A L7 <X (The dimensions and the specifications of 3Q-A type are in red data.)
2. " RERERANEBEECESEE  SMIBEME o (Models with "*" mark are produced only by order.)

WWW.AUTOGRIP.COM.TW AUTOGRIP 28



PO EEE) AU 2k g

FOUR-JAW TWO MOTION TYPE POWER CHUCK mmeEi

WAR AL B WA BB o
o WHEATHMRLMERUL RS T4 -

e It's a CRANK type with two pairs of 2 jaws self center independent of each

other.

e The 4T series is suitable for square bar and other nonuniform shaped
workpieces.

B HAF|E & F5 Patent numbers:

& ¥ : PAT.M359385 (Taiwan) / A [& : PAT.ZL2009.2.0009309.1(China)

Serration Pitch
G1 M BEERE 15
|
H1 IIJIT/EE__.—
Mgl o
G g5t 2
nex g A B
<l O =)
Q (S ——= -
KJ_ 8
K1 ™ L1
f

IREBIRA ISR

L E
B
Subject to technical changes

i #71& SPECIFICATIONS
p | mone | [HE | (ARRE | SHERE | siousn | smesm | o | 52 | emEed | axemEr

) M
= B/)\
gy Jaw stroke (Dia.) Ei.J Max. D.B. pull Max. Clamping Max. speed M(_)men_t Weight Max. pressure
Model stroke ax. Min. force of inertia Matching cyl.
= i | e s o
24

ﬁ
= >t

4T1-08 17 13.6 210 16.0(1630) 54.3(5540) 3000 0.15 232 RD-120(N) 1.7(17)
4T1-10 20 16 254 50 21.6(2200) 79.4(8100) 2100 035 443  RD-125(N) 2.2(22)
4aT-12 20 16 304 50 21.6(2200) 79.4(8100) 1500 0.66  57.6  RD-125(N) 2.2(22)
4T-15 25 19.6 381 60 27.2(2780)  105.3(10750) 1200 225 1183  RD-125(N) 2.7(27)

SMUR T DIMENSIONS

[wose | A | o | 9 | o | & | Gmax | Grin | Gima | Gimn | | | | K
91 170 32 15 2.5 20 61

m

4T7-08 210 133.4 5 -14.5 29 M14x2
4T7-10 254 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-12 304 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T7-15 381 135 300 235 6 445 19.5 5 -20 45 28 125 M20x2.5
Model K1 L L1 M N P Q max. Q min. R max. R min. S T
4T7-08 M34x1.5 4~M2 20 38 95 25 25.25 13.25 46.1 39.3 35 14
4T7-10 M45x1.5 4~M16 25 43 110 30 32.25 12.75 59 51 40 16
4T7-12 M45x1.5 4~M16 25 43 110 30 54.75 15.75 59 51 40 16
4T-15 M55x2 4~M20 30 51 130 30 66.5 12.5 78.9 69.1 50 21

29 AUTOGRIP WW\WAUTOGRIP.COM.TW



AFLIEPZERENHEE (— )

LARGE THRU-HOLE AIR CHUCK =Mep =R

o HARBIBLRBERHE > WEABRE  BEEMMI -

o HAFRAYH > ZRRELY  SEFETATHEEEMA > T
WEZRREGRAK o

e large through-hole 3-jaw power chuck with build in air cylinder.

e Patented air supply system, it is easy to install and maintain. No abrasion
issue of traditional sealed ring. Maintenance cost and time can be saved.

B EAE % FYE Patent numbers:
28 :20.2011.101.818.4 /20.2012.102.498.5(Germany)
H A :3169457 /3178706 (Japan) / B % : EP 2517822 B1 (EU)
A [ :ZL 20112 0141324.9 /ZL 2012 2 0274549.6 (China)
& # 1 M440159 / M415011 (Taiwan) / 2 B : US8770222 B2 (U.S.A)

2~RC1/8" s 2~TH3/8"
T |
E[
; 105
In||
= T
T l d _IL
E% |HiL | Seration Pich
. i 5680 105
425| | | M_
B K
52.5 ’—
.G = —
=) —n E ] %)
g } :%_i - > 2 u
M L ® &
o ';: L * &\ | //® \
Sl < = PRl — - — @ =
(S 8 E (S
() N S
< Q,S
S B
L T
L1 B

IREBIRA ISR

Subject to technical changes

F 17 #8348 SPECIFICATIONS
mgE we |nee )| JREE | sxemEn | s | ssesm | 0 | 52 | oERR
= = = Chucking Dia. 5 = x ) ki = ( R 7] 6kef/cm?)
)

A
=] =Wy "
Model Max. Min. force inertia
e wrs ) | wrien o]
15

ol ( 2
0.6(6.1) 40.4(4118) 4200 0.2 26 27 31

AP-52 A6 52 5.9 170

AP-66 A6 66 7.6 215 24 0.6(6.1) 51.0(5185) 3500 0.4 38 39 5.1
AP-86 A8 86 8.9 268 43 0.6(6.1) 76.0(7723) 3200 0.7 58 60 8.7
AP-115 A8 115 10.6 330 55 0.6(6.1) 80.0(8155) 3000 1.7 92 95 12

SMUR T DIMENSIONS

Cwee | | o ¢ | o | m | & | a | r |G | | o | « | i
235 121 140 170 6.5 19 52 170

AP-52 A6 215 106.38 b 21.5 58.5 2 6~M10
AP-66 A6 265 134 153 170 245 106.38 6.5 19 66 215 65 215 2 6~M10
AP-86 A8 315 142 169 220 295 139.72 6.5 27 86 21.5 67 268 2 6~M10
AP-115 A8 370 154 181 220 350 139.72 6.5 27 115 215 69 330 2 6~M10
AP-52 A6 15 18 37 73 20 21.2 9.2 38 35.1 31 12 145.5 6~M12
AP-66 A6 16 18 38 95 25 23.7 8.7 50.2 46.4 35 14 159.5 6~M12
AP-86 A8 16 24 43 110 30 32.2 12.7 62.2 57.8 40 16 184.5 6~M16
AP-115 A8 16 24 51 130 30 44.7 14.7 77 71.7 50 21 212 6~M16

1. 4B 235 B AP-A B <13 (The dimensions and the specifications of AP-A type are in red data.)
WWW.AUTOGRIP.COM.TW AUTOGRIP 30



AP RALKPZEZENREE ( — )
LARGE THRU-HOLE AIR CHUCK —\hZe Ay

NI o AABLEABAT WEABL > HLFHDT -

l\‘ _ o . Kﬁ?ﬂ}%ﬁ"@ﬁﬁ%ﬂ"#&%’ bR RE N B R  EREFELS -
AmmR 2018 1 o BAEARNEEREES  EMLEAGHRAAML  THE %
TA|WAN EXCELLENCE ’ £ ?g@ & ¢

e large through-hole 3-jaw power chuck with build in air cylinder.

e With build-in "pressure detection" device in chuck which can check the
pressure is lowered rapidly within the chuck, guarantee to the security of
operating.

e Patented air supply system, it is easy to install and maintain. No abrasion issue
of traditional sealed ring. Maintenance cost and time can be saved.

~ B EF|E & F% Patent numbers :

£ 8 :20.2011.101.818.4 /20.2012.102.498.5(Germany)

H A :3169457 / 3178706 (Japan) / Bt : EP 2517822 B1 (EU)

A B :ZL 2011201413249 / ZL 2012 2 0274549.6 (China)

£ ¥# : M440159 / M415011 (Taiwan) / % B : US8770222 B2 (U.S.A)

Position for fix screw
ZERERBHUE
4~06.5

-RC18 2~TH5/8"

pressure detection
(0.d clamping only)
B HaMRERRINK)

M Serration Pitch

Breagh 3.0x60°
K.[f S
J

i
!@ IG Lg_
o
i tam z
t A el
=
~
<z L&
]
(S E ol
S}
“—‘TLL
,I };*_
L/ ‘
B

RERIEEWORT AP-A

Subject to technical changes

if#1& SPECIFICATIONS

| mw | mae |nemae)| JUEE | sxemmn | erouw

ERHREE

7] 6kef/cm?

Air Consumption

g

Thru-hole Dia. [Jaw stroke (Dia.) [ExA Max.|&/)\ Min. Max. pressure VIER %Ifcr:pmg Max. speed M?[:ng; i

B S P T T M R

Hﬂ\ﬂ]

AP-145 A1l 145 420 0.6(6. 1) 85. 0(8667) 1700 3.8 156 182 17.8
AP-185 A15 185 14 460 100 0.6(6.1) 110.0(11216) 1300 6.0 188 223 22
AP-230 A15 230 17 535 170 0.6(6.1) 125.0(12742) 1300 111 265 310 34
AP-275 A20 275 17 580 200 0.6(6.1) 140.0(14271) 1100 155 301 346 39
AP-320 A20 320 17 658 200 0.6(6.1) 184.0(18762) 1000 272 415 505 45
AP-375 A20 375 24 738 260 0.6(6.1) 188.0(19115) 850 442 530 545 55

MR~ DIMENSIONS

---“---------_

AP-145 196.87 8 9~M12

AP-185 A15 460 198 238 300 405 285.78 8 40 185 44 120 460 3.5 9~vM12 20 35
AP-230 A15 515 226 266 380 483 28578 8 40 230 49 145 535 35 6¥Ml16 24 35
AP-275 A20 560 232 272 380 528 412.78 8 40 275 52 152 580 3.5 6~M16 24 35
AP-320 A20 615 256 306 520 580 41278 8 50 320 55 116.5 658 3 5 9~M16 25 33
AP-375 A20 690 272 322 520 650 412.78 8 375 127 738 9~vM16 33

-“--.-------

AP-145 6~M20  63.7 53.5 23.5 25.5

AP-185 A15 6~M24  63.7 165 43 53.5 23.5 118 111 62 25.5 58° 272 7" 38 20
AP-230 A1l5 6~M24 717 180 60 48.5 18.5 145 136.5 64 25.5 30° 300 7° 33 15
AP-275 A20 6~M24  71.7 180 60 48.5 18.5 167.5 159 64 25.5 30° 322 7° 30 12
AP-320 A20 6~M24 815 210 60 60.5 245 190 181.5 74 30 52° 350 7° 27 9)
AP-375 A20 6~M24 815 210 60 66.5 24.5 2235 2115 74 30 52° 387 7° 27 9

1. 4B 235 B AP-A B <13 (The dimensions and the specifications of AP-A type are in red data.)
31 AUTOGRIP WWW.AUTOGRIP.COM.TW



& Ars AL PZE BN FEE ( B ATE )

LARGE THRU-HOLE AIR CHUCK(EXTENDED JAW STROKE) =MepZEE

o HABNBRBRE > NEABE > BEEM ML o

o REWEA"BAWE"BE o REANTENER  BREFL 2

o HEAERAK  ZABKELZ  EERAERTHRBREARAME  TH4A
ERBBAA - |

o RENEAA"RAFRIBE  RBARKNRRECHTRFAFIN &
[EF GEESEE SR Y S 1

o WMEBAME > THAERFHFERH -

e large through-hole 3-jaw power chuck with build in air cylinder.

e With build-in"pressure detection"device which can check the rapidly
decreasing pressure within the chuck, guarantee to the security when
operating.

e Patented air supply system, it is easy to install and maintain. No abrasion issue
of traditional sealed ring. Maintenance cost and time can be saved.

e The build-in"clamping detection"device can avoid jaws clamping the workpiece
during the rapid stroke stage. This mechanism can also prevent causing the
damage of the internal parts or flying out of workpiece.

e Extended jaw stroke design can shorten the processing time when gripping.

nOEERETEMBEEERBRAZIRFS o

B Notice : No clamping in rapid stroke period.

X G Position for fix screw
REEFIRMUE 7
4~065 So
7
BeqT[T] N 7?
¥ Y b
I iy
I[Te | *hje |
" ILle | op®1e 1 s
erration Pitch
‘. 4 M HrEESE 3.0x60° 6~¢7
- K 2 !
: %
|
| Air supply device
E e eiit
- R\ e} O
x
e
< L
A% o °
a [ )
E
o | I -
F T—]
T ——]
L L1
Rapid stroke
B HRIRTTE
Clamping stroke
REFITE
|||||||||||mn
!___% Rapidstroke ~ Clamping stroke
& TR REF
i s 7 7%
&
REBRIGIEAETR
Sumec(mtechmc:changes —

F it #8148 SPECIFICATIONS
g — =1 RH EE = + . RH
pidlr B TR (BfE) Chucking Dia. BRAREFN ReLEY = : offom?
ode!
L om | om | om [ N (kef) kem | ke | iasigr/om)
27

p .
mm g
NEW  APS-185 185 26 14 460 1 22

=
kg
110(11216) 1300 6.45 198

MR~ DIMENSIONS

(o | 2 o] ¢l o | ¢+ | o | v | [ ] ul w|

NEW  APS-185 460 221 300 425 8 185 45 124 50 3.5 9~M12 17 63.7
I I I T T I N N N I

NEW  APS-185 165 43 37 17 145 125 62 2585 58 272 7° 38 30

WWW.AUTOGRIP.COM.TW AUTOGRIP 32



IS EEkEP S

POWER INDEXING CHUCK

THEABRFETHOLRE  TRIEIEHIHETHRERL
REANBEGHBEAMEIKEERE » S EREE -

b7 AR BT 1 B st e

BEMERR T ERRE o

BROPEARRABRGE  REABAROBE > THEES o

Indexing operates during the spindle rotation, can perform a quick change
between multiple working axles.

Chuck of all parts hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

Construction of high rigidity and high repeatability precision.

Unique indexing system and of hydraulic system, with pressure detection
device in chuck, high reliability.

Clamp Stroke
REFTE

j*2)

CEE— |
QP M 'y
LS

=i
o

: 3!ng
|
|
e
(|
AN
|
|
A
[

4~M16

=
£
H
N
H

View F
BE F

TREB AR IS AR

Subject to technical changes

it 4% SPECIFICATIONS

)o P £ P HFFEEE
NERE Chuck_irng Area ) EHAA

1S-254 8x45,4x90 20 65 160 45 19.5(1990) 2400 0.41 41 IS-315 86+0.1
1S-275 8x45,4x90 20 80 220 45 25.4(2590) 2100 0.61 52 IS-315 86+0.1
I1S-315 8x45,4x90 20 100 230 45 25.0(2550) 1800 .43 76 1S-315 86+0.1

MRS DIMENSIONS

(woier | n | o | wm | aw | o | & | | o | | | k
254 190 23 220 60 13 18 55 48

1S-254 171.4 47.5

1S-275 275 213 26 220 171.4 60 13 58 20 171 48

1S-315 315 232 22 220 171.4 60 13 71 18.5 187 50
Cvore | 1w v | v L am | & | s | T | v | v | w |

I1S-254 13 M8 5) 48 18 M10 20 106 57 46.5 55

1S-275 18 M10 6 80 18 M10 20 125 67 57 7

1S-315 18 M10 6 75 24 M12 25] 125 85 70 7.5

33 AUTOGRIP WW\WAUTOGRIP.COM.TW



ERESLE

COLLET CHUCK B 7K 24
o HEAMLH AR - MONCER - HAM + RIAI MMM
o EAEK > MMEAG B o o \
o ZEEHFTREFZRE K> HTHIMAELY > FUEHTAZ -
o 2HEBARF  BIEMHAKENEZHBILR -
e It'sa PUSH type collet used mainly on turning, CNC, special purpose machines
, ect.
e High clamping accuracy, high speed and construction of high rigidity.
e The installation is the same as "Thru-hole power chuck" and they are
replaceable with each other. No need to change the "Draw tube".
e Sealed against swarf, chips and coolant.
m EEREEILKAM S DING3A3 H 4 o
B The collet used must accord with DIN 6343.
B EF|E & F9 Patent numbers:
& ¥ : PAT.M272602 / PAT.M380842(Taiwan)
A & : PAT.ZL2010.2.011376.2(China)
B
Lock Screw
il
————————— <|o|a|x |- - __I_E"t---———- w| g
LH
===l =
The hole and lock pin is option. G | E
*Note : While clamp square or hexagonal T
material,please order hole and lock
pin of collet chuck. R _J_/
WMETUHARERMNT - BUHREEEF L
b %§$ MR R IR FF S S N A - E1
SRT B ERCIE MBI SH AL B EAL S - B

TRE AR IE LRI ER]

Subject to technical changes

B i#R1& SPECIFICATIONS

kN (kgf) kN (kgf)
CL-26 4.5 3~26 4~22 4~18 17.6(1800) 37.9(3870) 8000 0.040 4.3 161E TK-A533 2.4(24)
CL-30 4.5 3~30 4~26 4~20 19.6(2000) 42.1(4300) 8000 0.038 4.2 163E TK-A533 2.7(27)
CL-36 6 3~36 6~32 6~26 22.5(2300) 48.5(4950) 6000 0.062 7.0 171E TK-C643 2.3(23)
CL-42 6 3~42 6~36 6~29 24.5(2500) 52.9(5400) 6000 0.060 6.9 173E TK-C643 2.5(25)
CL-52 6 5259 8~45 7~36 27.4(2800) 59.0(6020) 6000 0.101 14.3 177E TK-A853 2.0(20)
CL-6017 6 5~60 8~52 7~42 29.4(3000) 63.7(6500) 5000 0.098 14.1 185E TK-1068 1.8(18)
CL-6022 6 560  8~52  7~42  29.4(3000)  63.7(6500) 5000 0.126 163 185E TK-1068 1.8(18)
CL-80 6 20~80 1869 15~56 34.3(3500) 71.5(7300) 4000 0.108 17.8 193E TK-1287 1.5(15)

SMUR < DIMENSIONS

B A T8 R A 5 T T A S S

CL-26 110 82.6 4 7 M40x1.5 3~M10x25

CL-30 120 85 100 110 82.6 4 23 30 3 7 2.5 15 12 M40x1.5 3~M10x25 16
CL-36 155 100 120 140 104.8 5 23 36 3 7 1 17.5 20 M55x2  3*M10x25 18
CL-42 155 100 120 140 104.8 5 23 42 3 7 1 17.5 20 M55x2  3~M10x25 18
CL-52 185 130 1455 170 133.4 5 27 52 5 9 3 24 45 M60x2  6~M12x30 20
CL-6017 185 130 1455 170 133.4 5 27 60 5 9 3 24 45 M75x2  6~M12x30 20
CL-6022 234 130 142 220 1715 5 32 60 5 13 7 24 45 M85x2  6~M16x30 20
CL-80 234 156 163 220 1715 5 32 80 20 155 9.5 22 45 M100x2 6~M16x30 20

WWW.AUTOGRIP.COM.TW AUTOGRIP 34



ERESLE

COLLET CHUCK Bh7K B
MEAEEERKE » EACNCER » A > S e Hl AR -
EAR R o B R E Bl AR

LEBHFABFERE —fF s ETHZIHALHR > LU ERNAZ o
2EB AR » FUEWH AENEBHBILR o

e It'sa PUSH type collet used mainly on turning, CNC, special purpose machines
,ect.

e High clamping accuracy, high speed and construction of high rigidity.

e The installation is the same as "Thru-hole power chuck" and they are
replaceable with each other. No need to change the "Draw tube".

e Sealed against swarf, chips and coolant.

m EEEMEI KA A DING3A3 HH o

B The collet used must accord with DIN 6343.

B EA|E & F 5 Patent numbers:

& ¥ : PAT.M272602 / PAT.M380842(Taiwan)

Lock Screw

HE 18

2

i

|

l

i

F
A1

The hole and lock pin is option.

*Note : While clamp square or hexagonal
material,please order hole and lock E
pin of collet chuck.

EMHA AT - EMHREEE -

i EERMERARF LI AT

BRG] B IE R IB N E AL EAE S -

TREBIRAEISTHORR]

Subject to technical changes

¢T3 4& SPECIFICATIONS
A%t @ﬂ;&@ﬂm BARES | REENY - gREk | amenm| BREN
: Cyl.

e =
—_— Hex. | Square | Max.D.B.pull " Max. speed | oo oo | Weight Match|“gsteel Matching |Max. pressure
e Lo i P (gi/om)

CL-26 A4 45 3~26 4~22 4~18 17.6(1800) 37.9(3870) 8000 0.040 4.2 161E TK-A533 2.4(24)
CL-30 A4 45 3~30 4~26 4~20 19.6(2000) 42.1(4300) 8000 0.038 4.1 163E TK-A533 2.7(27)
CL-36 A5 6 3~36 6~32 6~26 22.5(2300) 48.5(4950) 6000 0.058 6.3 171E TK-C643 2.3(23)
CL-42 A5 6 3~42 6~36 6~29 24.5(2500) 52.9(5400) 6000 0.057 6.1 173E TK-C643 2.5(25)
CL-42 A6 6 3~42 6~36 6~29 24.5(2500) 52.9(5400) 6000 0.061 7.5 173E TK-C643 2.5(25)
CL-52 A6 6 5~52 8~45 7~36 27.4(2800) 59.0(6020) 6000 0.093 138 177€ TK-A853 2.0(20)
CL-60 A6 6 5~60 8~52 7~42 29.4(3000) 63.7(6500) 5000 0.091 135 185E TK-1068 1.8(18)
CL-60 A8 6 560 8~52 7~42 29.4(3000) 63.7(6500) 5000 0.104 145 185E TK-1068 1.8(18)
CL-80 A8 6 20~80 1869 15~56 34.3(3500) 71.5(7300) 4000 0.120 19.8 193E TK-1287 1.5(15)

SMUR S DIMENSIONS

85 25 26 9.5 5 15 12

L1
CL-26 A4 110 108 82.6 63.51 B . M40x1.5 3~M10x30 15

CL-30 A4 110 85 108 82.6 63.51 25 30 3 9.5 5 15 12 M40x1.5 3~M10x30 15
CL-36 A5 135 100 130 104.8 82.56 27 36 3 14 8 17.5 20 M55x2  4~M10x30 14
CL-42 A5 135 100 130 104.8 82.56 27 42 3 14 8 17.5 20 M55x2  4¥M10x30 14
CL-42 A6 165 100 130 1334 106.38 32 42 3 17 11 17.5 20 M60x2  4~M12x35 16
CL-52 A6 170 130 154 1334 106.38 27 52 5 10.5 4.5 24 45 M60x2  4~¥M12x35 20
CL-60 A6 170 130 154 1334 106.38 27 60 5 10.5 4.5 24 45 M75x2  4~M12x35 20
CL-60 A8 210 130 1475 1715 139.72 35 60 5 3.5 -2.5 24 45 M85x2  4~M16x40 22
CL-80 A8 210 156 175 1715 139.72 35 80 20 7.5 15 22 45 M100x2 6~M16x40 22

35 AUTOGRIP WW\WAUTOGRIP.COM.TW



BT\ B R TE
CB/ CB'A DRAW CIOLLET CHUCKM BE7K Y

o MBI AEAKE » HACNCER » H A » Az BB > M
RN BT A o
o ERE BEERBAIGLERE-

o ZEBUFTAEAFTZRE M- ATEIMALHR » THERWAZ o
o L2EBARS > BWEMHIKENZBAIR -

e It's a DRAW type collet used mainly on turning, CNC, special purpose machines

, ect.

High clamping accuracy, high speed and construction of high rigidity.

The installation is the same as "Thru-hole power chuck" and they are

replaceable with each other, no need to change the "Draw tube".

e This is a completely sealed design, which prevents coolant and chips from
entering the spindle.

B JEREHEEAERETRNIL cKmax EAEAEETEHET
ZERAHMS  EAREEFRITHE o

B Jvaleisthe hole diameter of blank draw nut, K is the maximum thread specification,
and it could be customize.

8
<l 75 é < O o é £ g <
¥ x
2 G .&_l_
A L J N
=] N
M
B
R EBAOER CB

Subject to technical changes

At 4% SPECIFICATIONS

Plungker /\H 7 SEM Max. D.B. pull
Model stroke ou EX. quare Matching steel collet| Matching Cyl.
mm

T o

CB-42 4.5 4~42 7736 7730 34.3(3500) 78.4(8000) 7000 6.5 RG-42 TK-B846 2.8(28)

CB-42 A5 4.5 4~42 7736 7730 34.3(3500) 78.4(8000) 7000 6.2 RG-42 TK-B846 2.8(28)
CB-42 A6 4.5 4~42 7736 7730 34.3(3500) 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CB-52 4.5 4~52 7736 7745 39.2(4000) 92.1(9400) 7000 6 RG-52 TK-A853 3.2(32)
CB-5217 4.5 4~52 7~36 7745 39.2(4000) 92.1(9400) 7000 9.6 RG-52 TK-A853 3.2(32)
CB-52 A5 4.5 4~52 7~36 7745 39.2(4000) 92.1(9400) 7000 6.5 RG-52 TK-A853 3.2(32)
CB-52 A6 4.5 4~52 736 7745 39.2(4000) 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CB-65 4.5 4~65 8¥56 8746 44.1(4500) 103(10500) 5500 15 RG-65 TK-1068 3.0(30)
CB-65 A6 4.5 4~65 8¥56 8746 44.1(4500) 103(10500) 5500 13.6 RG-65 TK-1068 3.0(30)
CB-65 A8 4.5 4~65 8~56 8746 44.1(4500) 103(10500) 5500 17.6 RG-65 TK-1068 3.0(30)
CB-80 6 580 868  8%56 50.0(5100) 115(11730) 5500 19 RG-80 TK-1287 2.3(23)
CB-80 A8 6 580 8¥68  8%56 50.0(5100) 115(11730) 5500 19 RG-80 TK-1287 2.3(23)

SMUR~F DIMENSIONS

I N S N S S N o N T A 7
CB-42 150 125 102 81.5 140 104.8 - 5 31 43 10.5 6 17.5 30 M55x2 3~M10x25 11 60 4~M8
CB-42 A5 140 125 102 915 - 104.8 8256 - 415 43 25.5 21 17.5 30 M55x2 4~M10x25 12 70 4~M8
CB-42 A6 165 125 102 915 - 133.4 106.38 - 45 43 29 245 175 30 M55x2 4~M12x35 18 73.5 4~M8
CB-52 150 125 102 83.5 140 104.8 - 5 315 53 11 6.5 175 30 M60x2 4~M10x25 16 62.5 4~M8
CB-5217 180 125 102 87 170 133.4 - 5 35 53 14.5 10 17.5 30 M60x2 4~M12x30 18 66 4~M8
CB-52 A5 140 125 102 935 - 104.8 8256 - 415 53 26 215 175 30 M60x2 4~M10x30 16 72.5 4~M8
CB-52 A6 165 125 102 99 - 133.4 106.38 - 47 53 31.5 27 17.5 30 M60x2 6~M12x35 18 78 4~M8
CB-65 185 145 120 100 170 1334 - 6 50 66 13.5 9 215 32 M75x2  6~M12x40 20 73.5 4~M8
CB-65 A6 165 145 120 111 - 133.4 106.38 - 61 66 30.5 26 215 32 M75x2 4~M12x40 20 84.5 4~M8
CB-65 A8 207 145 120 107 - 171.4 139.72 - 57 66 26.5 22 215 32 M75x2 4~M18x40 24 80.5 4~M8
CB-80 235 175 150 112 220 1714 - 5 37 825 14 8 25 32 M85x2 6~M16x30 22 87 6~M10
CB-80 A8 210 175 150 125 - 171.4 139.72 - 50 825 27 21 25 32 M85x2 6~M16x50 24 100 6~M10

WWW.AUTOGRIP.COM.TW AUTOGRIP 36



CBE/CBE-A RALE NI TVRER B R 2R A

END STOP COLLET CHUCK BaIEM T

o HRuRF  MofHAME  THREZLIMGANRKRE  ERE
HREERE AR -
o WHAEGEETIREERMEM  ERALEGEARTLRHE -

e End stop clamping.
y/ e With backgauge block mechanism, positioning and the length control of
/| [ the workpiece can be more precise.
{{ e Backgauge block and cover are interchangeable. The chip-proof function
can also be achieved.
[\

Block Block
G }"\gﬁt}%bd( set E %%&iﬁloa set
MI2iEk g eI i “Q M2k 123877,
7"7'30"4/\5% i ~Ce’
\ —_— N———
— —]
3 H H )—/F b H F
- 1 | o S =1 I
z|o8 &2 2|2 SEEEE =
— ] RI= i
y =
= | i |
B ENIFAR h L B ENIR R
M 1l E1 Block set bolt E1 Block set bolt
| EREREAIER BRI E AR
M — M
B B
CBE-A CBE

TREBIRARIE AR

Subject to technical changes

i 1iT#31& SPECIFICATIONS

B A TR S BB | BAKES | Be0EY FEAGR | BRAEEH | SAEARN
ok Hex. | Square Max. D.B. pull o Max. speed | Weight Matchlngsteel Ra—— Max. pressure

m
CBE-42 4.5 4~42 7736 7730 34.3(3500) 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-4212 4.5 4~42 7736 7730 34.3(3500) 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-42 A5 4.5 4~42 7736 7730 34.3(3500) 78.4(8000) 7000 6.3 RG-42 TK-B846 2.8(28)
CBE-42 A6 4.5 4~42 7736 7730 34.3(3500) 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CBE-65 4.5 4~65 8~56  8~46 44.1(4500) 103(10500) 6000 9.3 RG-65 TK-1068 3.0(30)
CBE-6517 4.5 4~65 8~56  8v46 44.1(4500) 103(10500) 6000 8.6 RG-65 TK-1068 3.0(30)
CBE-65 A5 4.5 465 8¥56  8v46 44.1(4500) 103(10500) 6000 10.8 RG-65 TK-1068 3.0(30)
CBE-65 A6 4.5 4765 8~56  8v46 44.1(4500) 103(10500) 6000 9.5 RG-65 TK-1068 3.0(30)
CBE-65 A8 4.5 4765 8~56 8746 44.1(4500) 103(10500) 6000 9.5 RG-65 TK-1068 3.0(30)

MR~ DIMENSIONS

[ Model | A | a1l a2 | B Jcie) ] D | D1 [ EJEL] P Gmaxlemin H | J | Kmax | L__|Ll|WM]
5 20 48 23 17 45

CBE-42 150 132 100 95 140 104.8 o 27.5 M55x2  4¥M10x25 19.5 58
CBE-4212 132 132 100 95 120 100 - 5 - 48 275 23 17 45 M55x2  4~M10x25 19.5 58
CBE-42 A5 132 132 100 105 = 104.8 8256 - o 48 375 33 17 45 M55x2  4¥M10x30 16 68
CBE-42 A6 160 132 100 105 - 1334 10638 - 35 48 375 33 17 45 M55x2  4~M12x35 18 68
CBE-65 157 157 122 116 140 104.8 = 6 o 56 405 36 175 68 M75x2  4¥M10x30 18 74
CBE-6517 180 157 122 114 170 1334 - 6 24 56 405 36 175 68 M75x2  4~M12x30 18 72
CBE-65 A5 157 157 122 114 = 104.8 82.56 - - 56 385 34 175 68 M75x2  4¥M10x25 16 72
CBE-65 A6 157 157 122 112 - 1334 106.38 - - 56 365 32 175 68 M75x2 4~M12x35 18.5 70
CBE-65 A8 202 157 122 116 = 1714 13972 - 38 56 365 32 175 68 M75x2  4~M16x35 24 74

37 AUTOGRIP WW\WAUTOGRIP.COM.TW



CBD/CBD-A

AUHE S E VIR

DL-DEAD LENGTH COLLET CHUCK

2R
BUEEAIT

o HHAF oA MRME ﬁ%iﬁ%?@%&ﬁﬂﬁﬁ@ » AR
MIHANMRE » EREREEFE o E o
o HEEAutogripBBH K » RFFTHEERABC T EEL—RER
HRM T HEA G FR -
o BHMHEGBRETEIHREMREN  BILEREGE T URE -
e Clamping push with the backgauge block mechanism, collet will not be
§ pushed, can precise positioning for workpiece length, make the precision
g of the length control more precise.
e Match Autogrip Rubber collet, clamping direction perpendicular to axis,
never occur that situation of collet push workpiece.
e Backgauge block and cover able to interchangeable use, as well as
application and chip-proof function.
_7“7'30"% 7B\>i ”J G —
T = b
N N
=1 [ &
< o é = K = 2:‘ < <ol é 2 ﬂ ‘—‘F 2 <
s B elg|s | sl s s| s cl® ]l sl s
1 i o 1]
R —| |
Y —_=1
Ul e - Et
M M
B B
CBD-A CBD

TREBIRARIE RO RER]

Subject to technical changes

if#31& SPECIFICATIONS

BASSHE BHBELE E508Y
Tfrgiir /\?XM m?e Max. D.B. pull Max'fglri?pmg ik, Spese ' [Matching steel |y oo el

CBD-65 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 9.3 RG-65 TK-1068 2.7(27)

CBD-6517 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 8.6 RG-65 TK-1068 2.7(27)

CBD-65 A5 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 10.8 RG-65 TK-1068 2.7(27)

CBD-65 A6 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 9.5 RG-65 TK-1068 2.7(27)

CBD-65 A8 4.5 4~65 8~56 8~46 44.1(4500) 103(10500) 6000 9.5 RG-65 TK-1068 2.7(27)

MRS DIMENSIONS

B O W T A T S R

CBD-65 157 157 122 114 104.8 30.5 17.5 M75x2 4~M10x30

CBD-6517 180 157 122 112 170 133.4 - 6 24 54 33 285 175 68 M75x2 4~M12x30 18 70

CBD-65 A5 157 157 122 112 - 104.8 82.56 - - 54 39 345 175 68 M75x2 4~M10x25 16 70

CBD-65 A6 157 157 122 110 - 133.4 106.38 - - 54 37 325 175 68 M75x2 4~M12x35 18.5 68

CBD-65 A8 202 157 122 114 - 171.4 139.72 - 38 54 41 36.5 17.5 68 M75x2 4~M16x35 24 72
WWW.AUTOGRIP.COM.TW AUTOGRIP 38



RG ESEES

RUBBER GRIP COLLET ELEIEES

J Wm%ﬁﬁ%&ﬁﬁ%ﬁﬁ%& N RRHE o

ﬁﬂ\“r

o iﬂiﬁﬁia‘%i&é@ REFWE > BAEERNRE N EXET 5
= TAF o

o RBME—HETIHRT > RFHEMHETEIOUMLLA ©

o E—MMBAFHETEL0S5mm o

o FHWMEFME -

o WRWRE®R -

e Itisarubber grip collet for push type or draw type collet chucks.

e Full griping area: high rigidity, more gripping force. Gripping smoothly:
prevent to damage the workpiece.

e More accurate than standard spring collets. Accuracy: With customized
rubber grip collet, the accuracy can reach +10um.

e Grip Range: £0.5mm.

e Quick change and easy.

e Dust-proof and swarf-proof design.

¢d
|
|
@
@
@

gooao

= =1

RG-RT RG-R

TREBIRAE ISR RR]

Subject to technical changes

At 4% SPECIFICATIONS

L 8 5 RIRIER

RG-42R 4~42 54 79.3 42 CB-42,CBE-42
*  RG-42RT 4~42 54 79.3 42 CB-42,CBE-42
RG-52R 4~52 66 795 46 CB-52,CBD-52,CBE-52
* RG-52RT 4~52 66 79.3 46 CB-52,CBD-52,CBE-52
RG-65R 4~65 80 99.5 53 CB-65,CBD-65,CBE-65
*  RG-65RT 4~65 80 99.5 53 CB-65,CBD-65,CBE-65

5 MAMEREM TH o= % (Note:Square and hex collets are made to order.)

— _
il I I

3.076.0 16 0.015 0.020
6.0~10 25 0.015 0.020

é 10.0~18.0 40 0.020 0.030
18.0~24.0 50 0.020 0.030

- - o 24.0~30.0 60 0.020 0.030

30.0~50.0 80 0.030 0.040

50.0~60.0 100 0.030 0.040

51 —MAERIEES DIN Z4

5 2 1 ARERBEKL DIN — R ARE

Notel : Collets chuck are conformed to DIN 6343 Class2.

Note2 : AUTOGRIP's rubber grip collets are conformed to DIN 6343 Class1.

1. " ERBNEBLEEZEIGHRE  MIREMAE - (Models with "*" mark are produced only by order.)
39 AUTOGRIP WWW.AUTOGRIP.COM.TW



958 14 5] 2k

STEEL COLLET

|

\

D1
oD

ad
0

[ ~—~—_J15°

DIN 6343 Collet standard
[EESSE

FREBIRARIE LR R

Subject to technical changes

SMEUR~F DIMENSIONS

o A RKFAE e
gzgilyla% Max. Chucking Capacity (mm D1 L BE RFIRER
ollet [El#% Round  |/SAM Hexagom| 737 Square Matching Collet Chuck

161E 3~26 4~22 4~18 32 45 34 75 CL-26, CL-26A4

163E 3~30 4~26 4~20 35 48 38 80 CL-30, CL-30A4

171E 3~36 6~32 6~26 42 55 42 94 CL-36, CL-36A5

173E 3~42 6~36 6~29 48 60 50 94 CL-42, CL-42A5, CL-42A6

177€ 5~52 8~45 7~36 58 70 60 94 CL-52, CL-52A6

185E 5~60 8~52 7~42 66 84 73 110 CL-6017, CL-6022, CL-60A6, CL-60A8
193E 20~80 18~69 15~56 90 107 92 130 CL-80, CL-80A8

~
>

HF 05 H)

i L

0.5~1.0 3 0.015 0.015

1.0~1.6 6 0.015 0.020 SE——

1.6~3.0 10 0.015 0.020 \L

3.076.0 16 0.015 0.020 A—’-H\_J

6.0~10.0 25 0.015 0.020 u\w
10.0~18.0 40 0.020 0.030 /
18.0~24.0 50 0.020 0.030 T
24.0~30.0 60 0.020 0.030 . o
30.0~50.0 80 0.030 0.040 o
50.0~60.0 100 0.030 0.040 Note: DIN with 2 collet accuracy

FE—ARARNE BERDIN_#R

WWW.AUTOGRIP.COM.TW AUTOGRIP 40



hZET B\ KGR

STATIONARY CHUCK WITH THROUGH-HOLE

o VEAFZHIRE  HABK - ERKTH FOHER » H =
MNEZNHERR o

o VH-200% X B Bt #f 2 R B ARAE X+ ik H2HA KA R o

o VH-300% X B Bt #f 2 RS X+ ik HIHA KA F o

e It's a STATIONARY CHUCK with two or three jaws for drilling, milling and
other machines.

e Specification and size of matching chuck for model VH-200 is the same as
model 2H.

e Specification and size of matching chuck for model VH-300 is the same as
model 3H.

A

A

u
]
=
%
%

TREBIRAR ISR

Subject to technical changes

At 4% SPECIFICATIONS

pich JEZE[EITE Eff. Piston area M7 (ERX) BAERRES =
— i s
ode

VH-204 49.7 46.5 5.4 2.0(20) 7.9
VH-304 49.7 46.5 5.4 3.0(30) 8.1
VH-205 66.0 58.9 5.4 2.0(20) 11.7
VH-305 66.0 58.9 5.4 3.0(30) 11.9
VH-206 103.1 94.4 5.5 1.6(16) 19.8
VH-306 103.1 94.4 5.5 2.3(23) 20.2
VH-208 125.7 115.4 7.4 2.0(20) 32.3
VH-308 125.7 115.4 7.4 3.0(30) 33.6
VH-210 202.6 189.3 8.8 1.5(15) 55.5
VH-310 202.6 189.3 8.8 2.3(23) 56.5

SMUR T DIMENSIONS

[ Model A 8 | c oty ] e | F o6 | W | | Kk [ L . M [ N_| P | Q|
VH-204 110 150 132 50 5 23 23 34 59 106.5 12 9 26 62 RC1/4
VH-304 110 150 132 50 5 23 23 34 59 106.5 12 9 26 62 RC1/4
VH-205 135 168 150 60 5 30 23 34 60 111 12 9 26 62 RC1/4
VH-305 135 168 150 60 5 30 23 34 60 111 12 9 26 62 RC1/4
VH-206 169 194 176 80 5 40 25 36 81 141 14 11 26 62 RC1/4
VH-306 169 194 176 80 5 40 25 36 81 141 14 11 26 62 RC1/4
VH-208 210 212 190 80 5 45 29 44 91 158 14 185 30 75 RC3/8
VH-308 210 212 190 80 5 45 29 44 91 158 14 13.5 30 75 RC3/8
VH-210 254 266 246 90 6 70 32 47 100 190 17 13 30 75 RC3/8
VH-310 254 266 246 90 6 70 32 47 100 190 17 13 30 75 RC3/8

41 AUTOGRIP WW\WAUTOGRIP.COM.TW



PEUAIKIE

STATIONARY CHUCK

o VTERAFEHIARFE > BEHERK - HRITH FSCRER A=
INEZNWERR o

o VP-200A! X Pt &2 REMRAE KT EH2PA RN AH o

o VP-300 K FT Bl # Z REMRME R T EEIPRAAR o

e It's a STATIONARY CHUCK with two or three jaws for drilling, milling and
other machines.

e Specification and size of matching chuck for model VP-200 is the same as
model 2P.

e Specification and size of matching chuck for model VP-300 is the same as
model 3P.

il 4 DE}___ __ﬁ_’_ )

—[ i
E L =1 e B8
i i \}&//\ ; - %
L o — ‘ ‘ i 2-M g8
|
F‘GH | 48°
11 o 15 15

TREBIRAR ISR

Subject to technical changes

At 4% SPECIFICATIONS

pich JEZE[EITE Eff. Piston area M7 (ER) BAERRES =
— i s
ode

VP-204 28.0 24.9 6.4 2.1(21) 7.1
VP-304 28.0 24.9 6.4 3.2(32) 7.4
VP-205 28.0 24.9 6.4 2.2(22) 10.2
VP-305 28.0 24.9 6.4 3.3(33) 10.6
VP-206 63.1 53.5 8.5 2.3(23) 183
VP-306 63.1 53.5 8.5 3.4(34) 19.8
VP-208 103.4 90.8 8.8 1.9(19) 316
VP-308 103.4 90.8 8.8 2.8(28) 33.6
VP-210 153.1 1335 8.8 1.5(15) 52.8
VP-310 153.1 1335 8.8 2.2(22) 54.5

SMUR T DIMENSIONS

[ Model LAl 8 | c ooty | e | f | 6 | f | ) | Kk | L | M |
VP-204 110 146 130 30 4.5 12 18 2 52 92 9 RC1/4
VP-304 110 146 130 30 4.5 12 18 2 52 92 9 RC1/4
VP-205 135 146 130 30 4.5 12 18 2 55 95 9 RC1/4
VP-305 135 146 130 30 4.5 12 18 2 55 95 9 RC1/4
VP-206 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-306 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-208 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-308 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-210 254 248 225 50 6 17 20 18 89 176 13 RC3/8
VP-310 254 248 225 50 6 17 20 18 89 176 13 RC3/8

WWW.AUTOGRIP.COM.TW AUTOGRIP 42



VEIN=J\KEE

STATIONARY CHUCK SR

o WEWEHL - FEAABMAT NN > TERRERAY -

o NWBAGCBEEBRRAEMMT -

o ZERRGZ  BHIMEHTEATMI -

o MAKBMHN > LAEAFEELNKFELEFEN -

o FHEIVBRFEERMGETME o

e Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.

e With small thru-hole and suits for long bar workpiece processing.

e Easytoinstall. Installing the tubes and then operating.

e Thin and compact design. Use standard soft jaws or standard hard jaws.

e Can work together with multi-plate.

iil}

u
]
=
%
%

> = NEwoarry
Bl  S— ! I
f | = : FiClose | BAOpen
Dl || [135 i?iﬁl’"'ijg sy pon jigf en D| | i 135] 2 rch;zc?gsseupmy port ﬁ
poe CEIEED g e Ll L J%
Lefd 45 ] 45
40 70 40 70
B Lock valve(Option B Lock valve(Option)
R ?&E%F\B-Ol ! ﬁ&ﬁﬁ(ﬁﬂ%Fs—Ol)

SP-306,308,310 SP-304

FREBIRARIE LR R

Subject to technical changes

B il#R1& SPECIFICATIONS

=

i

? + ? =
ﬂ:uu)—é /—%m E/( ~
ALyt 1T (B — = = p = =
A A EFBE) 6.0 kef/cm
i

ST P T
- \ BEERESN

~

:

7

kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) lit (at 6.0 kgf/cm?)

SP-304 5.1 110 10 7.5(765) 22.0(2243) 0.6(6) 1.3(13) 2 0.5

SP-306 5.5 168 30 21.02142)  52.0(5303) 0.6(6) 1.3(13) 2 4 16.5
SP-308 6.8 210 42 33.0(3365)  74.0(7546) 0.6(6) 1.3(13) 2 25 28.7
SP-310 7 254 52 48.0(4895)  107.0(10911) 0.6(6) 1.3(13) 2 42 42

SMEUR~F DIMENSIONS

[wose | a | m | o | ¢ | o Jawm| | o | n | o | t__
148 110 84 130 15 60 52 - 52 14

SP-304 25.25 14.75 11.75
SP-306 206 168 94 188 15 96 85 25 40.25 73 20 18.25 12.25
SP-308 248 210 108 230 15 113 102 32 41.25 95 25 20.75 16.25
SP-310 300 254 112 280 16 138 127 54 46.25 110 30 29.25 20.25
I T A S A O A2

SP-304 235 20.95 23 10 M8X1.25 9 110.5 75.5 - -
SP-306 39.5 36.75 31 12 M10X1.5 11 139.5 104.5 55 18
SP-308 49.5 46.1 35 14 M10X1.5 11 160.5 125.5 68 25
SP-310 57 53.5 40 16 M12X1.75 13 182.5 147.5 85 30

43 AUTOGRIP WW\WAUTOGRIP.COM.TW



AVA=ERRE SIS

STATIONARY PULL BACK CHUCK =MpER

MEmEE > EEARBHAE ) FER » TERRERAH
TARAIHREN R FEB AT FIHT LS REELERET -
BRMECREGAERAE AT SEBHIAEE  #EREX
REEEMAE  BeENH S -
TRIERFERLARTHT o

Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.

Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

Almost no workpiece uplifting displacement.

The body with heat treatment and the organization of cylinder pull-down,
and fine boring, which guarantee to the high clamping precision and
durableness, it’s suitable for heavy duty machining.

Can work together with multi-plate.

REMmE (EE]) -

Air-tight pressure detect function is optional.

S 6~W
== 4~ PK
G
(R AV
& B =1
ﬁﬁﬁ;\ =
3 oF 1 & -
Ao \'r ) uH
&) $
-
> — =)
o | o
Iy 2~RC1/4 air supply port fﬁ@@f
FlL| 1| [135 BEEE A . F’ﬁo’ﬁ
: HEESR
A th
RC1/8 air supply port
2 for gripping-confirmation 45 Lock valve(Option)
40 EERBRAA 70 {REERICEEFV-01)

TREB AR IS LR HER]

B
Subject to technical changes
il #34% SPECIFICATIONS
g T (B BRI E.E’j(%?vj] : h:&ﬁﬁﬁﬁl BEEEED =2 JHFEE
—wE | @E | wE | wE | BB D corater
" v | o) [ wratarom | ot
8.1

* SD-304 5 110 18 5.0(510) 10.9(1112) 0.6(6) 1.3(13) 2 0.26
SD-306 7.2 165 35 11.5(1173) 25.0(2550) 0.6(6) 1.3(13) 2 0.58 20.6
SD-308 7.2 210 28 21.7(2213) 47.0(4793) 0.6(6) 1.3(13) 2 1.02 341

MR~ DIMENSIONS

vose | am | s | o | c ot | & | ¢ | o | & | | & | o | tmn |
148 110 130 35 2 15 M3 10 9 30 23

*  SD-304 93.5 22.5
SD-306 206 165 116 188 52 7 18 M4 35 20 11 45 35
SD-308 248 210 122 230 65 10 18 M5 45 25 11 56 46
o | w v | ame | amn |
*  SD-304 19.5 52 19 37 34.5 27 25 75.5 110.5 3~M10 M8x1.25
SD-306 31 70 27 57.8 54.2 42 35 104.5 139.5 3~M14 M10x1.5
SD-308 41 84 31 70.8 67.2 53 40 125.5 160.5 6~M12 M10x1.5

1. " ERERNEBAEZRGRE  SIREMAE - (Models with "*" mark are produced only by order.)
WWW.AUTOGRIP.COM.TW AUTOGRIP 44



u
]
=
3
%

VEINNEHERIIREE

STATIONARY PULL LOCK CHUCK =MpER

o WHEMmEL > FHEAABMARYIRK  TERREBERAMY

o VEARETRKMAIHHENAFEGHAY  EIHFLFLE
BEEAERE o HEBK ~ SERIH FOHEER o

o FRIMEMRENAREEAERUHKE  LEBHIAKE > FRE R
FRELEMAE  BEENHSEE -

o THVTEXRAERMGETML -

e Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.

e Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

e Almost no workpiece uplifting displacement.

e Suitable for drilling, milling and other machines.

e The body with heat treatment and the organization of cylinder pull-down,
and fine boring, which guarantee to the high clamping precision and
durableness, it’s suitable for heavy duty machining.

e Can work together with multi-plate.

" RERA(ER)

B Air-tight pressure detect function is optional.

B L S 6~W
— = M 3~V 4~¢K
e
o
/I'f_qy_ *{‘ @' %‘o
G min. 1| =
] s
g 9 t=5r¢ <
Ly 14 g
< &
|
3~J =)
12.5
e
— ___Li_L} 2~RC1/4 air supply port H@r%@[‘ﬁ
for openi/close ]
Pl |25) BIERIE R vl
T I
40 RC1/8 air supply port
for gripping-confirmation 45 Lock valve(Opti
. ption)
B 05 RERERA 70 RER(EREFV-01)

TREBIRARIE ORI

Subject to technical changes
R ili#R1& SPECIFICATIONS
= < ‘L/%*%E
Btk T (B P E
3l E2
- e __ BN 6.0 kgffe

Pneumatic Hydraulic Pneumatic Hydraulic
—--—
* Su-304 3 60 5 6.7(683) 16.0(1632) 0.6(6) 1.3(13) 2 0.26
SU-306 5 105 31 18.5(1886) 40.0(4079) 0.6(6) 1.3(13) 2 0.58 18.0
SU-308 5 132 32 37.0(3773) 80.0(8158) 0.6(6) 1.3(13) 2 1.02 315

MR~ DIMENSIONS

_“______-

*  SU-304 148 101.5 83.5
SU-306 206 168 136.5 104 188 35 25 18 6 129 M5 11
SU-308 248 210 152 115 230 55 45 18 7 156 M6 11
B A A T D A
*  SU-304 7 17 40 2.75 1.25 42 20 75.5 110.5 M6 M8x1.25
SU-306 15 5 30 50 17 15.75 13.25 49 30 104.5 139.5 M10 M10x1.5
SU-308 17 7 34 63 20.5 16.25 13.75 71 35 125.5 160.5 M12 M10x1.5

1. " ERERNEBAEZRGRE  SIREMAE - (Models with "*" mark are produced only by order.)
45 AUTOGRIP WWW.AUTOGRIP.COM.TW



V7 ET\ASRE T KER

STATIONARY PULL BACK CHUCK FOR INTERNAL GRIPPING —MepER
o WERWEL  EEAREBMADHER  TERREBRAMY
o HARNER
e EHREZRH  BoemRBEHEBMT -
o TRIEAFEREALTHL -
e Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.
e Forinternal grapping
e With high precision and stability.
e Suitable for the precision large length size process.
e Suitable for end process.
e Can work together with multi-plate.
m AEHR (ER)-
B Air-tight pressure detect function is optional.
J 6~R
e E1_E_F 4~¢K
F 9~M8Bx12 3
N
< = p l & & 2 = v
o= sl =
» I ] 8| s ® & : /8 =
135 , x | - G2
- i // : /l)' = %
t U] !‘H@F%@FH CE|
D 27| N H@E@t 2~RC1/4 air supply port loge FAOgen =
o [ﬂ-lOSG B 31911 for open/close H rﬁ
" MM BARAER L ! Lock valve(Option)
L——I 45 | (REERI(ERFV-01)
RC1/8 air supply port
for gripping-confirmation
B ZERERAIL
SE-306,308 'SE-305
3~Q

/

TREBIRA ISR

Subject to technical changes

At 4% SPECIFICATIONS

il 78 (ER : = 5 73
e [ERE) 6.0 kef/crm’

kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg

*  SE-305 3 83 29 14.3(1459)  41.0(4181) 0.7(7) 1.3(13) 2 0.46 14.6
SE-306 5 110 44 20.0(2040)  57.0(5812) 0.7(7) 1.3(13) 2 0.58 20
SE-308 5 150 50 32.0(3263)  78.0(7954) 0.7(7) 1.3(13) 2 1.02 33

MR~ DIMENSIONS

v | AP | A | 8 [ e | c | o [ & | & [eme|fmn| 6 | teer | opes |
135 126 100 155 15 20 5 25 83

68 50

*  SE-305 173 &) 67
SE-306 206 168 140 108 188 18 23 7 5 -5 40 90 70 110 89
SE-308 248 210 164 119 230 18 30 9) 5 B 49 110 90 150 108

w0 ok v o [ o8 ] p | a |
Model -
max. min.

*  SE-305 50 29 25 9 88 123 55 110 3~M6 M8x1.25
SE-306 70 44 31 11 104.5 139.5 76 134 3~M8 M10x1.5
SE-308 90 50 35 11 125.5 160.5 100 170 3~M8 M10x1.5

1. " ERERNEBAEZRGRE  SIREMAE - (Models with "*" mark are produced only by order.)
WWW.AUTOGRIP.COM.TW AUTOGRIP 46



’ MP4 WA= S EIEY
STATIONARY CHUCK BASE PLATE

o FARSREAIFOME  FEmILEIH-
o FHH2-3-6THHEHBE -

e Use for milling machine or machining center to achieve simultaneous
processing of multiple workpieces.

e Stationary cylinder lock valve (option) can be mounted.

e Plate for 2,3,6 stationary chucks is an option.

»ﬁ« «
5 © @ o
9 A4 = . N s
N ﬁ}‘ ) “\\ @ 3 ® —
_ ég- 1 ] I e
T 190 H 7\ iy
ég &) @ e \\\— R \$
E %
% <| =l 8| 2| % L ) u
g8 Ol 6| Oo| o
— Pl |
’ o[ i T He]
- &
- e 0 o
o} i
i N $7
16~@L
- K
K
N E N
D
B
Lock valve(Option)

TR R (EECFV-01)

S

J 1 B =T

g g e et Lo —1

TRERAGIE LRI HER]

Subject to technical changes

9hEY R <F DIMENSIONS

(o 1 a1 5 | a | a | o | & | o | e | i | o
MP4-06206 460 580 400 320 250 200 544 210 220 120

C o | o L v [ w [ e | a | a | s |1 | v
MP4-06206 20 45 18 17 20 140 *B 33 18 20 20 206

*B $JBRFTASALAGARLSR 2 <A B -
The dimension *B: Please refer to the dimension B of the chuck model assembled.

47 AUTOGRIP WW\WAUTOGRIP.COM.TW



CP BEEZI=!
SYNCHRONOUS CLAMP —TE %A

o WHA_NEAFKE - MK -

o NHHHALHLBENREEHE » L AEHEF -

o HRFEKE N BEURERE -

e It'sa CRANK type 2-jaw synchronous clamp with long jaw stroke.

e Matching surfaces of all parts hardened, ground and lubricated directly.
e Construction of high rigidity and high clamping accuracy.

i
Ni

Master hole E%4,

8~L % U i 2~0 8 H7
\
U1
&

N Adjusting hole
R M| NREEHA .

E]_{,/ i l_]_ & mmman  ~{p J@%

q} e
| . | RAI

B
D
E

‘j'o
_Im__
\

ool il (RIS
S i il WS i i =
i = al e d RO Lt ush ol hoe =~ ™ -

C=30015||F

@]
z
%

2

It

2~RC1/4
J Pressure port #55H7FL i

TREBIRARIE LR

Subject to technical changes
il #34% SPECIFICATIONS
SEE A EFf, Piston area TR (B BATH ) BAGAES
#4_Extend 1 Retract
o S ™ ™ N W

mm
CP-20 28.27 25.13 20 150 16.2(1650) 3.5(35) 9.5
CP-30A 28.27 25.13 30 180 17.7(1800) 3.5(35) 11
CP-30 28.27 25.13 30 210 17.7(1800) 3.5(35) 12
CP-40 28.27 25.13 40 200 14.7(1500) 3.5(35) 12
CP-50 38.48 33.57 50 215 20.3(2070) 3.5(35) 18.5
* CP-70 50.26 45.35 70 235 26.9(2742) 3.5(35) 30

9hEY R <F DIMENSIONS
I T I N 5 N I S A P S S
CP-20 215 88 96 53 40 18 4 249 229 75 13 94 76 83.5 M10x1.5 M10 12
CP-30A 250 88 96 53 40 18 4 295 265 75 13 94 76 96 M10x1.5 M10 14
CP-30 280 88 96 53 40 22 4 327 297 75 13 94 76 96 M12x1.75 M10 14
CP-40 270 88 96 53 40 22 4 331 291 75 13 94 76 110 M12x1.75 M10 14
CP-50 300 110 115 65 50 28 5 369 319 90 15 105 105 120 M12x1.75 M10 16
*  CP-70 346 120 126 89 55 32 5 430 360 114 15 115 115 146 M14x2 M12 16
I S S P S 7 S N
20 66 24 22 4

u2 W
102 190 60 156 32 110 65 150 22

CP-20 Méx1 18

CP-30A Méx1 20 24 96 24 22 102 190 60 156 20 120 65 156 22 6

CP-30 Méx1 20 24 98 24 22 102 190 60 156 23 110 65 156 22 6

CP-40 Méx1 20 24 98 24 22 102 190 60 156 25 110 65 150 22 10.5

CP-50 M8x1.25 21 28 102 30 32 105 230 85 195 29 140 80 180 30 10
* CP-70 M8x1.25 23 28 112 30 52 120 275 95 240 42 155 90 210 34 235

1. " ERERNEBAEZRGRE  SIREMAE - (Models with "*" mark are produced only by order.)
WWW.AUTOGRIP.COM.TW AUTOGRIP 48



FA = )&

SINGLE-SLIDE FACING HEAD 1w

2

o EXUMBRVNSHRESHAEMARANEG TN A2 EHHEE
R EREFETRENALEFEY -

o RHEEATBEMAIKEHE > BIMERAEEE RE -

e ZFINE:£0.03mm o

e Feed mechanism is transmitted by Rack and Pinion or Wedge Plunger, with
steady feed speed. Simple adjustment for feed speed and stroke.

e Matching surfaces of all parts hardened, grounding and lubricated directly.

With rigidity and durability.

Stopper accurancy: £0.03mm.

BRAT 4 AL 0 B oy R AT EBLAE A o
EHEARNETERARFERRAEERERELR T T o
Suitable for using with RS type cylinder.

For precision processes, Wedge Plunger type facing heads are suitable for
using with electro servo and ball screw mechanism.

Max.26

d
Min.12 T
L%
1= = L ©

FrE=
1A~Mpx10

30 (0 =T

= ©
=- X
o
-~

sl =

_M12x1.75/ E@ = 5!
iy

FA-408 58.
=

Max.55.5
Min.47.5

103
?2A

2110
285 H7
244
@222

VRN

5 4~M10x60
WEDGE PLUNGER 69
B EE

HE Q

63X4R Q\
&

Nz
9

~

i‘z“ff&f [
]
W
-
) o
oSl M
o
=5
E3
‘ S
:

K
oL ==
o of—|
L/E]|

|

D FA-615
B FA-830 RACK AND PINION FA-610 [ WEDGE PLUNGER
FA-1570 [ &z et s FA-812 W B2t

FRE AR IE LRI ER

Subject to technical changes
2 1if#71& SPECIFICATIONS
BOTR (B5) | BEAR(BER) | Eanay BAEREE B EE BARAEND
Plunger stroke(Dia.) | Sider stroke(Dia)
Model Matching cylinder
8 4

m
FA-408 14 1600 400 .2 RS-6520N 1.0(10)
FA-615 15 15 1200 300 11.9 RS-6520N 1.2(12)
FA-830 30 30 800 240 23.9 RS-6530N 1.8(18)
FA-1570 70 70 500 120 167 RS-1080N 2.6(26)

BATR (EE) | BETE(EE) BS0HY spasEn | 0 | E8 | mAes
oae
: -

*  FA-610 18 10 1200 280 0.04 14.5 RS-6520N
*  FA-812 21 12 800 450 0.14 28.5 RS-6520N

MR~ DIMENSIONS

€ F (¢] (€]
L voie Jalol s {o]el bl anlelo] o ] o dml o w Jelalels ool v lw
FA-615 150 107 110 102 5 25 40 25 35 20 M12x1.75 3-M10x40 12 8-M8x16 826 50 32 32 68 - 75 56
FA-830 198 126 140 121 6 30 54 24 45 25 M16x2 6-M10x55 15 12-M10x20 120 60 36 40 80 120 *15 66

FA-1570 400 200 300 192 6 6! 40 75 50 M30x3.5 6-M20x90 15 8-M16x20 235 120 80 130 260 - +#17.5 -

0 110
IR I N N I P A B O N A Y S B kO
* FA-610 156 110 140 107 5 20 66 48 5 20 Mi12x1.75 4-M10x90 12 2-M10x45 104.8 28 8  4-M10x16 40 40
* FA-812 198 130 170 127 5 25 84 63 6 25 MI16x2.0 4-M12x105 12 2-M12x60 1334 32 10 4-M10x16 50 50

1. " ERERNEBAEZRGRE  SIREMAE - (Models with "*" mark are produced only by order.)
49 AUTOGRIP WWW.AUTOGRIP.COM.TW



FD tE o] J)1E /508

DOUBLE-SLIDE FACING HEAD i

o EXUMEBRIVMMANEAETHEG TR A ELEFERL
EHEFRTRNAEETE T o

o RHEEATBEMAIKEHE > BIMERAEEE RE -

o ZFfIME :+0.03mm o

e Feed mechanism is transmitted by Crank or Helical Gear Rack, with steady
feed speed. Simple adjustment for feed speed and stroke.

e Matching surfaces of all parts hardened, grounding and lubricated directly.
With rigidity and durability.

e Stopper accurancy: £0.03mm.

m BETEAEEyBEEREA -

D HEREHERRTETERAREERRABEREUE TR
Tl T e

B Suitable for using with RS type cylinder.

B For precision processes, Helical Gear Rack type facing heads are suitable for
using with electro servo and ball screw mechanism.

FD-o40 [ CRANK TYPE s ) HELEL i
FD-1060 l a7 88} SEE S g
G N P
o 4P HS
ST
| —!
=
K -
o , =
g QI%ng_: o
il X
| é% o u -
K | B
| : B
x
<|o|w -—__f_______E_ a g .
s lal| = 8Ex3F
: e==f] ,
= e e P h—
T :B\ i - ot i %{E 8
[ I (ot
® $_
5 Rl cE-
i L iyt
. E
Lu]

TREBIRA ISR

Subject to technical changes

i #71& SPECIFICATIONS
By | BOTR(EE) | BEAR(EE) | SS08Y BAEREE EFEE BAEAES
Slider stroke(Dia.
Model Matching cylinder
o | o | e | e | v |

mm
32 3200 300 13.6 RS-1030N 2.4(24)

m
FD-632 20

FD-840 25 40 2500 240 30.0 RS-1030N 3.0(30)
FD-1060 35 60 1800 200 41.5 RS-1040N 3.0(30)

=1
FD-880 48 80 2500 1050 0.081 17 RS-1030N
MBI R <F DIMENSIONS

(o | A |5 L am | o | & | ¢+ Jomxlow | v | |« |
168 93 140 32 76 31 11 36

Ba | BOTE(ER) | BEOE(EE SemELEn | 0 | =R | pREsd
in(r.p.m.

FD-632 104.8 2 M16x2.0
FD-840 215 109 170 133.4 38 96.5 32.5 7.5 2 36 M20x2.5
FD-1060 254 123 220 171.4 38 110.5 325 -2.5 4 36 M20x2.5
Do | v v | b | a | R | s | 1 | v | v |whel v
FD-632 6~M10x75 188 70 40 25 10 32 M8x15 10 32 6 4
FD-840 6~M12x85 238 90 60 42 12 45 M10x15 12 45 10 6
FD-1060 6~M16x125 286 90 65 46 15 50 M10x15 12 50 10 6
Cwoie | a1 5 L a0 | & | ¢ | omx | o | v | o | &
FD-880 200 85 150 175 44 32 58 10 1 10 M16x1.5
(o | | v | v | e o | n | s | 1 v | v | w L]
FD-880 18 32 70 6 16.2 20 87.5 64 36 102 12~M10 10

WWW.AUTOGRIP.COM.TW AUTOGRIP 50



=
i
i
L
i

B gAY o ZE 0 g8 AR E] ( — )

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THROUGH-HOLE AND SAFETY DEVICE  #8%&

pE{G=—pit]

ot

o A ALEAEE B 2REHWKEH2/3 -
PR AL B B SH AR PO ) R BT o
ZE T AR ImHE L o

e Super short form, light weight large Through-Hole, just as 2/3 of typical

model length.
Built-in safety check valves and pressure relief valves.
Can screw it from the rear end of the cylinder when mounting.

B EFfE & F9% Patent numbers:
& ¥ : PAT.199970(Taiwan) / A [% : PAT.ZL01.2.08005.5(China)
2% B : PAT.US6640686B2(U.S.A.)

2~Q3

REBREIE LR

Subject to technical ch;

Pressure Port £,

RC1”

Drain Port {##17L,

anges

iR & SPECIFICATIONS

3~Mounting Hole Q

—

F__1B e

BRI AL 6~X2 :

n
(3]

N

i
i
AR W

H
g

s
i

gﬂ—rm )

(2]
Hl®l Xl 50 Y :§‘ V2
e A N\ l |

U-0.1

—

233

48

A, EEER Bea#y | BsEmEN | 1 | 8 | #uRsS
| Pfedend) | HBRea | [ [ [ 0 ] 0]
TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0
TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0
TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 7.3 3.0
TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0
TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-646A 105.0 93.9 15 7000 4.5 (45) 0.019 9.2 3.0
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 12.4 3.9
TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 3.9
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 11.7 3.9
TK-1068 165.9 149.9 25 5500 4.5 (45) 0.065 17.8 4.2
TK-A1075 168.6 154.5 25 5500 4.5(45) 0.065 18.8 4.2
TK-1078 165.9 149.9 25 5500 4.5 (45) 0.065 16.5 4.2
51 AUTOGRIP WWW AUTOGRIP.COM.TW



’ TK A8 AU o 2 EE S BRET ( — )

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THROUGH-HOLE AND SAFETY DEVICE #BrsEEER

MR~ DIMENSIONS

Model
Iﬂ-------__-_--

TK-A528 105 141 125 125 110 0 32 49 775 123 6~M8x20 M8x55 14 M38x1.5 25

TK-A533 105 141 125 125 110 45 12 0 32 20 49 775 123 6~M8x20 M8x55 14 M38x1.5 25 13
TK-C643 128 156 140 140 120 65 15 0 44 29 56 85 125 12~M10x20 M8x60 12 M50x2 25 13
TK-A646 128 162 147 147 130 65 15 0 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13
TK-B646 128 162 130 147 100 65 15 0 44 29 66 95 135 12~M10x20 M8x70 12 M55x2 25 13
TK-C646 125 156 140 140 120 65 15 0 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13
TK-646A 128 162 147 147 130 65 15 0 40 29 57 85 126 12~M10x20 M8x65 15 M55x2 25 13
TK-B846 145 185 170 165 130 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 M55x2 30 15
TK-A853 145 185 170 165 140 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15
TK-B853 145 185 170 165 130 70 20 O 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15
TK-1068 170 212 190 190 160 98 25 0 50 25 73 107 157 12~M10x20  M10x80 17 M75x2 35 15
TK-A1075 170 212 190 190 160 95 25 0 50 25 74 108 158 M10x20 M10x80 16 M85x2 35 15
TK-1078 170 212 190 190 160 98 25 0 50 25 73 107 157 12~M10x20 M10x80 17 M87x2 35 15

IIII
I I
62

TK-A528 M39x1.5 25
TK-A533 M39x1.5 25
TK-C643 M52x1.5 29
TK-A646 M52x1.5 29
TK-B646 M52x1.5 29
TK-C646 M52x1.5 29
TK-646A M52x1.5 29
TK-B846 M58x1.5 30
TK-A853 M58x1.5 30
TK-B853 M58x1.5 30
TK-1068 M84x2 33
TK-A1075 M84x2 33
TK-1078 M86x2 33

© © © 000 WW W WO WO W
u
o
IN
)
[
oo
o)
"
w
a
o
(@}
w
S~
)
wu
o
~
o
o)
a
[
=
o

NNNNNNOOODODOOD OO
~
IN
=
)
o
)
N
<
m
<
)
©
[¢5)
<
o
X
)

=
i
i
L
i

WWW.AUTOGRIP.COM.TW AUTOGRIP 52



B gAY op ZE 0 g8 AR E] ( — )

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THROUGH-HOLE AND SAFETY DEVICE  #8%&

pE{G=—pit]

ot

o B RIGAEE LB > 2REAMEAK3 o

W E AR R )RR o

o ZEBW HKMHEZ o

e Super short form, light weight large Through-Hole, just as 2/3 of typical
model length.

e Built-in safety check valves and pressure relief valves.

e Canscrew it from the rear end of the cylinder when mounting.

B EFfE & F9% Patent numbers:
& ¥ : PAT.199970(Taiwan) / A [% : PAT.ZL01.2.08005.5(China)
2% B : PAT.US6640686B2(U.S.A.)

3~Mounting Hole
W1 BRI AL

- |%
i
DN

S

1]

l[l

I 7 |
% 4&\%;
E / [ Te ]
- N3 | [N2
S - -F Slr|lolc|y —::L:l = ol Ol m
2 50 e_
2~Q3
Pressure Port #&5H7, g /
4/
4~Y2 ]
RC1" 3 LI_—I_I_—LL V
Drain Port 3l @ -5 (X H ol
—_— , J
033| Allg D LK

TREBIRARIE LA RER]

Subject to technical changes
1T #31& SPECIFICATIONS

FHees | BWeewa | | [ [ |
et/
30

3800 4.0 (40) 0.092 26.5 4.5

N TK-1287 234.0 217.5

= TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
/EH TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
@ TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
;g TK-2114 373.2 336.1 35 2500 3.0(30) 0.54 58.2 8.0
il 9hELR<F DIMENSIONS

e [afolclolelrl o @ [lofe] + | u [ul| wm |wlw
I I N ‘ I

TK-1287 200 245 215 225 180 110 30 O 55 25 87 127 185 12~M12x24 M10x95 18.

TK-A1291 200 245 215 225 180 110 30 O 59 29 86 126 184 12~M12x24  M10x90 14. M100x2 35 15
TK-A1511 250 300 275 275 230 140 30 O 58 28 102 156 226 12~M16x36 M12x110 21 M120x2 45 15
TK-A1512 250 300 275 275 230 140 30 O 58 28 102 156 226 12~M16x36 M12x110 21 M130x2 45 15
TK-2114 265 320 295 295 240 165 35 0 60 25 115 173.5 2475 12~M16x32 M12x120 17.5 M155x2 45 20

e | w [fwaforl o] p Jola| @ 8| s 1 ]u|v|w|wlale n] a|
— — - I

TK-1287 M99x2 38 9 o 7
TK-A1291 M99x2 38 9 95 91 1275 15 45 RC1/2 96 120 138 180 7
TK-A1511 M129x2 38 9 115 110 153.75 17 50 RC1/2 126 150 170 227 7 134 210 138 M6x10 210  M6x9
TK-A1512 M129x2 38 9 125 120 153.75 17 50 RC1/2 126 150 170 227 7
TK-2114 M149x2 38 9 145 140 170 17 50 RC1/2 146 170 190 250 7

53 AUTOGRIP WW\WAUTOGRIP.COM.TW



’ TK FBES A o 2o EE S ERE] ( = )

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THROUGH-HOLE AND SAFETY DEVICE #BfasRiEE R

o 2HWAEARR  ANLAEE B o

o WEMIMEHEBERE N AEBH -

e New design, short form, light weight large through-hole.
e Built-in safety check valves and pressure relief valves.

B EA|E & FH Patent numbers:
£ ¥ : PAT.199970(Taiwan) / A £ : PAT.ZL01.2.08005.5(China)
% B : PAT.US6640686B2(U.S.A.)

exe 3¢ 9 P 6-L
N1 L
—\
9 ||N2
T 1
e - S|r|lo|e|8] 1 O|m
8] - 8 1w
2~Q3
Pressure Port #55#7L
” I
=
4
4-Y2 5
L Vv H G1
RC1” @
Drain Port {#H7L ] G2 . J
033 u—_l—.—_LL%l "k
A‘>B_1LD'

FREBRAG IS AV HER

Subject to technical changes
i #R 4% SPECIFICATIONS
o~ v | =B | wmRs
T T I I N A A
Vodel
it/ min.
35

TK-2416 418.4 375.4 2000 3.0(30) 1.12 78.0 9.0
TK-2416L 418.4 375.4 51 2000 3.0(30) 131 79.2 9.0
TK-2820 526.2 472.6 51 1600 3.0(30) 2.4 134.0 10.0

=
i
a
L
i

MR~ DIMENSIONS
Model A B ¢ E F G1 G2 H J K L M1 M2 | M3

I NV I S 200 SO I % - I I IS SN A B

TK-2416 290 340 300 260 190 35 0 60 25 129 185.5 275 M16x32 M180x3 45 20
TK-2416L 290 340 300 260 190 51 0 76 25 145 201.5 291 M16x32 M180x3 45 20
TK-2820 340 395 360 320 235 51 0 76 25 152 2125 316 M20x40 M220x3 45 20
I T N T O G N 7 A I N
./ | JwJjwwl [ ! Jegelwl I I [ [ [ [ [ |
TK-2416 M174x2 38 170 166 186.5 20 50 RC1/2 171 202 220 292 167 250 188 Me6x11l 260 M6x12

7
TK-2416L M174x2 52 170 166 2025 20 50 RC1/2 171 202 220 292 7 167 250 188 M6x11 260 M6x12
TK-2820 M218x2 52 210 205 216 21 50 RC1/2 215 262 285 360 7 2025 300 240 Méx12 320 Mé6x12

WWW.AUTOGRIP.COM.TW AUTOGRIP 54



TH FEC#mHE -
ROTATING HYDRAULIC CYLINDER WITH THROUGH-HOLE AND SAFETY DEVICE BEREER

o HEmE BE  AJGEAEHE B -
o MEHLMAHEME  THLERIRKEXREHEFR » #K
BB TR R E B R T o

e Super high speed, light weight large Through-Hole.

e Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious
accident.

W1 o 25 9 P M1

RN
F o 6| N2 +

8]:_3 _)L\‘ o o8| | | t‘l:_—_‘l,ﬁ__ﬁ_____ﬂ-@ wlwlal ol o

Bressure Port #83i7, : [

6~X2

D
r

G1

(TH-428:RC3/4)
RC1" Drain Port %7, E 2
T

@33 (TH-428:26.5)

TREBIRARIE RO RER]

Subject to technical changes

B i#R1& SPECIFICATIONS

e EEEH 510 B S £
sk
| (Extend) | $UB (Retract ____

Eff. piston area | Eff. piston area Piston stroke Max. speed

= __—_-
H TH-428 53.2 50.5 8000 4.0(40) 0.008 5.8 3.0
53 TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
i
3 4hES R~ DIMENSIONS
il
Gl | G1 | G2 | G2
Model . D h7 max. [ min. [ max. | min.
TH-428 130 120 100 35 25 45 127 5 155 6-M8x15  M33x1.5 M34x1.5
TH-A536 1 150 135 166 6-M10x20 M42x1.5 2 M44x1.5 2
Model oz a1 Q2 a3 wi | w2
(HS) (H8) g7)
TH-428 101.5 RC1/4 32 M4x7
TH-A536 38 36 111.5 10 24 RC1/4 42 55 73 98 4 80 110 - - 83 M5x10

55 AUTOGRIP WW\WAUTOGRIP.COM.TW



pE{G=—pit]

ot

’ TR B8 % AU o 70 100 §3 Ji BR ]

SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THROUGH-HOLE AND SAFETY DEVICE  #8%8

SERENRE EEET o
WRBEFR ) BEAER > Z2REEEE
RébmILEAERBI o NdEA > HwEg -
BERKEMHERENA - 2HEREEE
TRERAALAERRN £ -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.

Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

HA|E & F9 Patent numbers :
& # : PAT.199970(Taiwan) / X [% : PAT.ZL01.2.08005.5(China)
2% B : PAT.US6640686B2(U.S.A.)

o

o

6~L1

o,
)
[o)]
1
<
N
]
L)

T34
|
0|
\_J«.
-l

[1
)
F
E
D
B

N e .
2x2~Q3
Pressure Port #55H7L

RC1/2 I~ &= ‘
Drain Port 7, J 5
I
G2 K G1
T
1RBIRIESELAEF)
Subject to technical changes
173848 SPECIFICATIONS
RS 72 530 RaFERERA I = =
D | WEexend) | WBRetacy | [ | | ]
ke
TR-539 72.4 67.1 12 8000 4.0(40) 0.010 6.8 3.0 =
TR-646 105.0 93.9 15 7000 4.0(40) 0.015 9.5 3.0 i
9hELR<F DIMENSIONS @
o [alelclolelrl @ [ @ (w0l « [0 T a Tul"m [wis
I Y O 20 N o o v I I B B S [
TR-539 107 143 125 125 110 52 17 5 36 24 3 87 126 6-M10x20  MS8x55 14 M45x1.5 25
TR-646 128 165 147 147 130 65 15 0O 34 19 35 97 135  12-M10x20 M8x60  11.5 M55x2 25
Model M3 N1 N2 01 02 P Q1 Q2 Q3 R S T Ul U2 Vi V2 W1 w2
- 1 [ |wlww] [ [ [ Jel I [ [ [ [ | [ |
TR-539 12 M44xl5 25 42 39 855 65 26 RCl/4 42 40 103 59 55 53 M5x8 90 M5x9
TR-646 13  M52x1.5 25 50 46 93 65 32 RC3/8 50 50 116 525 62 615 MS5x9 98 M5x9

WWW.AUTOGRIP.COM.TW AUTOGRIP 56



RK Bfye L RE o B 10 8% i ER E]

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE SR E

o Mk HEAMEHERH o
M L B B S AR BB T BB o
o TR HUMMEZ o

e For short form, light weight and high speed rotary cylinder.

e Built-in safety check valves and pressure relief valves.

e Can screw it from the rear end of the cylinder when mounting.

n AmIAREBLEREE GBS B EELERE -

B Thedrain port should be independently connected to oil tank to avoid back

pressure.

oe)
b
o
42 (RK-75:38)
[
|
l
| o>
\
is
|
ALl
F
E
D2
D1
C

RC1/4
Drain Port 2A7L

2~RC3/8 (RK-200:RC1/2)
70 (RK-75:60) Pressure Port #3#7,

\i_
O]
!
A

2~RC1/2 e J
Pressure Port  #3)
. Q_P

@110
|
|
A

0

RK-250

TRE RIS LRI ER]

Subject to technical changes

B i#R1& SPECIFICATIONS

e s EEERE EE0BY I
i | ®exend) [ #WBReay | [ [ [ ]
2 i
] RK-75 44.2 37.1 15 6000 4.0 (40) 0.01 2.9
il RK-100 78.5 715 20 6000 4.0 (40) 0.03 4.4

RK-125 122.7 113.1 25 6000 4.0 (40) 0.05 6.9

RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5

RK-200 314.1 290.4 35 5500 4.0 (40) 0.28 15.4

RK-250 469.1 436.0 60 2000 5.0(50) 0.40 45.2

SMUR S DIMENSIONS

E G G M
2 NN Y S P N A O A R R R
75 15 90 90 65 30 45 30 57 21 35 10 26

RK-75 107 148 M20x2.5 6-M8x16 M8x60 12 41.5 27.5

RK-100 100 20 132 115 100 80 30 45 25 72 163 M20x2.5 6-M10x20 MB8x75 12 21 35 395 10 285 32
RK-125 125 25 160 140 130 110 35 50 25 82 172 M24x3.0 6-M12x20 MB8x85 12 25 45 385 10 285 32
RK-150 150 30 190 170 130 110 45 55 25 95 184 M30x3.5 12-M12x24 M10x100 16 32 45 37 10 285 32
RK-200 200 35 245 220 145 120 55 70 35 115 201 M36x4.0 12-M16x30 M10x125 21 38 60 38 6 285 28
RK-250 245 60 307 275 220 160 65 85 25 165 255 M42x3.0 12-M20x35 M16x175 28 45 65 33 18 6 -

57 AUTOGRIP WW\WAUTOGRIP.COM.TW



RK-N oh 5 3055 R ]
ROTATING HYDRAULIC CYLINDER S

o A »ZHE  BEAEE R o
o ZERT HMAMHEZL o
e Forshort form, light weight and high speed rotary cylinder.
e Can screw it from the rear end of the cylinder when mounting.
B RWIREBLEREEA GRS UBLELTE -
B The drain port should be independently connected to oil tank to avoid back
pressure.
o L2__
|
I [ +
g 6Ll T
Z L =
AB D ¥ ﬂ
= 5
b u|8|5]o
al
L=1|
- 1 Il
RC1/4 v
Drain Port J2H7L | R/I | P
a s
2~RC3/8(RK-200N:RC1/2) 5 L
70 (RK-75N:60)  Pressure Port #35H7L o
' 77.5 G

FREBIRARIE LA R

Subject to technical changes
1t #74& SPECIFICATIONS
e EEER B 50
ik
I (Extend) HIAl (Retract) _
Max. speed
Model :
o | om | om | miniepm)

g | | #

Max. pressure Weight
MPa(kg/cr) g

c.
0
it
il I
hes

Fn
gt
b
Ealing
w 0o 0

mm
15

RK-75N 44.2 37.1 6000 4.0(40) 0.01 pa
RK-100N 78.5 71.5 20 6000 4.0(40) 0.03 S
RK-125N 122.7 113.1 25 6000 4.0(40) 0.05 6.8 B
RK-150N 176.7 160.8 30 5500 4.0(40) 0.09 9.4 io
RK-200N 3141 290.4 35 5500 4.0(40) 0.28 15.3 b2
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 45.2 I

MR~ DIMENSIONS

MR N 8 3 P P A I I T N Y A K D YRR K
RK-75N 75 15 107 90 90 65 30 45 30 57 134 M20x2.5 6~M8x16 M8x60 12 21 35 28 10 275 26
RK-100N 100 20 132 115 100 80 30 45 25 72 149 M20x2.5 6~M10x20 M8x75 12 21 35 26 10 285 32
RK-125N 125 25 160 140 130 110 35 50 25 82 159 M24x3.0 6~M12x20 M8x85 12 25 45 26 10 285 32
RK-150N 150 30 190 170 130 110 45 55 25 95 172 M30x3.5 12~M12x24 M10x100 16 32 45 26 10 285 32
RK-200N 200 35 245 220 145 120 55 70 35 115 192 M36x4.0 12~¥M16x30 M10x125 21 38 60 30 6 285 28
RK-250N 245 60 307 275 220 160 65 85 25 165 255 M42x3.0 6~M20x2.5 M16x175 28 45 65 37 18 6 -

WWW.AUTOGRIP.COM.TW AUTOGRIP 58



RH th & & ) BR ]

ROTATING HYDRAULIC CYLINDER

pE g it

]

o EHMMALMERABABLAULTA  EHHE -

o EHMESHARRN > FEHNIMHYE AL L NEERAN > 6k
BB MR RS o

e The rotary valve and cylinder body, all made of special light alloy, light-
weight.

e Through unique design, the rotary valve enables the inside bearing to get
sufficient lubricating and cooling and endure high-speed rotary for longer
service life.

B RMAREBLEREEREE > UBEEATE -
B The drain port should be independently connected to oil tank to avoid back
pressure.

~

1T \‘
A BL:_]Dr

RC1/4

Drain Port #&H%L
2-P

13(RH-200:14)  Pressure Port #5587

102 H G

REBREIE R AR

Subject to technical changes
i #71& SPECIFICATIONS
- gsemEn | | @@ |
* [ P@ewe | @@Gwsw [ [ [ [ ]
Moment
cm?

cm? mm min*(r.p.m.) MPa(kgf/cm?)

RH-65 31.0 27.9 15 6000 3.5(35) 0.01 2.9
Es RH-80 47.7 42.8 15 6000 3.5(35) 0.01 3.4
H RH-100 75.4 70.5 20 5500 3.5(35) 0.04 49
[EX RH-125 119.6 112.5 25 5500 3.5(35) 0.08 6.8
3 RH-200 310.0 286.3 35 4000 4.0(40) 0.38 20.4
E]
E 552~ DIMENSIONS

E G G M
N NN N S N P A N S B Y K B N RN
65 15 98 80 60 22 45 30 73 14 4 30 15 45

RH-65 175 M12x1.75x30  6~M8x16 RC3/8

RH-80 80 15 112 90 65 25 45 30 74 176 M16x2.0x30 6~M8x16 17 4 RC3/8 30 15 45
RH-100 100 20 135 100 80 25 45 25 885 190.5 M16x2.0x30 6~M10x20 17 4 RC3/8 30 15 45
RH-125 125 25 160 130 110 30 50 25 955 1975 M20x2.5x35  6~M12x20 21 4 RC3/8 30 15 45
RH-200 200 35 245 145 120 55 70 35 130 232 M36X4 12~M16X30 38 5 RC1/2 31 16 43

59 AUTOGRIP WW\WAUTOGRIP.COM.TW



RA oh & 10 §E 78 R ]

ROTATING AIR CYLINDER

Py

2

=
=

iR

]

o WHNHEHEYRARAECLAENR  EEX -

o HHUMBEAZ  REREZANEAREAERD AL BE
AR A o

e The rotary valve and cylinder body, all made of special light alloy, are light-
weight.

° Thrgugh unique design, the rotary valve can considerably reduce the waste
in compressing air and efficiently increase its utillization.

n A ERAMEN T -

B When used, a little oil mist should be contained.

-

A:l.D. A

=[]

w| w Aol ol m
©
(32)
B
i
7£ A15 36.5
' N
_____ _, Silencer 2~RC1/4
[ HER Pressure Port 5
#ol
H G

| i LR
! : 95
| ,,J J

TRE AR IE LRI ER

Subject to technical changes

B il#R1& SPECIFICATIONS

- | =B i
| Aexend) | @fReway | [ [ [ ]
Alr Leakage( Gkgf/cm’)
g’
RA-100 77.0 74.4 15 6000 0.8(8) 0.03 4.5 400
RA-130 131.2 124.7 15 5000 0.8(8) 0.05 5.2 400 o
RA-170 225.4 219.0 20 5000 0.8(8) 0.18 8.5 400 E
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400 [
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 18.4 400 io
L
MR~ DIMENSIONS 5

E G G
I U N N N I N P S O I AN B TN
80 60 22 50 35 65 160 13 25

RA-100 100 130 o M12x1.75 6-M8x16

RA-130 130 160 120 90 65 25 45 30 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 220 255 170 130 110 30 50 25 91 186 M20x2.5 6-M12x20 21 35
RA-270 270 305 190 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

WWW.AUTOGRIP.COM.TW AUTOGRIP 60



f Rs ErmEEsm e T

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE SR E

o HA »ZE  ATREHEEHE B o

o RERTERM ATERAEEG > THABBHEEFES o

o WEHEMEHMERESKER -

o KK HAMHAEZ o

e For short form, high speed and stroke control.

e With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

e Built-in safety check valves and pressure relief valves.

e Can screw it from the rear end of the cylinder when mounting.

n AwmAREBLEREE GBS B EELERE -

B The drain port should be independently connected to oil tank to avoid back

pressure.

P 6Lt ar
1, AB
= —————————
i | | pofE
B: ST. 1712
A 2 A £ [ E‘u_]m alslo
! e LINY &
RC1/4 T My
Oil Drain Port &4l H1 &5
27(RS-200:29.5) 10 hL
2~RC3/8(RS-200:RC1/2) H2 H G
Pressure Port #55H7L J

RS-200 RS-75,100,125,150

FREBIRARIE LA R

Subject to technical changes
il #34% SPECIFICATIONS

e é%ﬁ*&
22 5j;
. B (Extenc) B (Retract) _
Eff. piston area Eff. piston area Piston stroke Max. speed
Model
___ min (.p.m.)

EA

0
]ﬂl

Max. pressure Moment of inertia

MPalkgi/cm)

We|ght

il
Jnr
& w g
il & M\m

pa RS-75 43.0 37.1 6000 4.0 (40) 0.01

S RS-100 77.4 71.5 20 6000 4.0 (40) 0.04

B RS-125 1216 113.1 25 6000 4.0 (40) 0.05 7.4
i RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
i RS-200 313.0 290.4 35 5500 4.0 (40) 0.29 15.9
il

SMUR~F DIMENSIONS

RS-75 107 90 145 202 M20x2.5 6~M8x16 M8x60

RS-100 100 20 132 115 100 80 30 45 25 72 42 145 217 M20x2.5  6~¥M10x20 M8x75 12 21 35
RS-125 125 25 160 140 130 110 35 50 25 82 41 144 226 M24x3.0  6~M12x20 M8x85 12 25 45
RS-150 150 30 190 170 130 110 45 55 25 95 39 142 237 M30x3.5 12~M12x24 M10x100 16 32 45
RS-200 200 35 245 220 145 120 55 70 35 115 34 1425 257.5 M36x4.0 12¥M16x30 M10x125 21 38 60

irREERRAZLTN - Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN - Proximity sensor : Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN .
61 AUTOGRIP WW\WAUTOGRIP.COM.TW



[ Rs-N B B

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL SR E

o A HE  ATREF AT EHBEL

o RERNEHM TRALRG  THAHBEE#ES o

o AWK HAMHAEZ o

e For short form, high speed and stroke control.

e With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

e Can screw it from the rear end of the cylinder when mounting.

 RMAMEBLEREEGEAE > UBEELERE -
B The drain port should be independently connected to oil tank to avoid back
pressure.

AB DR 6~L1 L2

D1
Cc

4 "_T(ﬁ B:ftﬁii_=1
ER PTG 22,

il Drain Port 38587 57| | 281 S

-

10 Sl
2~RC3/8(RS-200N:RC1/2)| 131(RS-200N:134.5) [ H G
RS-200N Pressure Port Z3H#l, J

FREBIRARIE LA R

Subject to technical changes
T #71& SPECIFICATIONS
EEEH REOHE
=50
#18) (Extend) BB Retrac) | |
Max. speed

B BEREN | 0 . | 0B
) ]
Model
mm
20

Max. pressure Moment of inertia Weight
3.2
33

o
o
ot
A

min?(r.p.m.) MPa(kgf/cm?) kg:m? kg
RS-6520N 32.0 28.3 6000 4.0(40) 0.01 Ze
RS-6530N 32.0 28.3 30 6000 4.0(40) 0.01 H
RS-75N 43.0 37.1 15 6000 4.0(40) 0.01 33 [Ex
RS-7530N 43.0 37.1 30 6000 4.0(40) 0.013 3.7 1@
RS-100N 77.4 715 20 6000 4.0(40) 0.04 4.8 L
RS-125N 121.6 1131 25 6000 4.0(40) 0.05 7.3 il
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 35 5500 4.0(40) 0.29 15.9

MR~ DIMENSIONS

E (€] (€] M
I 2 A S AT FY Y
65 20 97 80 80 60 25 45 25 62 17 30

RS-6520N 193 M16x2.0 6~M8x16 M6x70 14.5

RS-6530N 65 30 97 80 80 60 25 45 15 62 203 M16x2.0 6~M8x16 M6x80 145 17 30
RS-75N 75 15 107 90 90 65 30 45 30 57 188 M20x2.5 6~M8x16 M8x60 12 21 35
RS-7530N 75 30 107 90 90 65 30 45 15 72 203 M20x2.5 6~M8x16 M8x75 12 21 35
RS-100N 100 20 132 115 100 80 30 45 25 72 203 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125N 125 25 160 140 130 110 35 50 25 82 213 M24x3.0 6~M12x20 M8x85 12 25 45
RS-150N 150 30 190 170 130 110 45 55 25 95 226 M30x3.5 12~M12x24 M10x100 16 32 45
RS-200N 200 35 245 220 145 120 55 75 35 115 2495 M36x4.0 12~M16x30 M10x125 21 38 60

irREERRAZLTN - Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN - Proximity sensor : Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN .
WWW.AUTOGRIP.COM.TW AUTOGRIP 62



Y A

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE [SEEd kS

o HIE o FARAEM B o L B LR HEF O HIK -
o N LW E HMEIENRER -

e To allow coolant to be feed from the rear end of the distributor through
the rotating union

e Built-in safety check valves and pressure relief valves.

" ARAEEHLEEEE M o LB EEYE -

B OEAMEREEHR > FHEH o

B Thedrain port should be independently connected to oil tank to avoid back

pressure.
B The rotary cylinder should not run without liquid through coolant port.

I
6~L1 ‘_y_r,

2
RC1/4 & N~a T
A: 1.D. BfE
. | =
Coolant Port {17k, B: ST. {712 8

-~
@@ oo:l;jl#: "" E[U- -
® j%ﬂf‘; n'_'}‘ 1 . e R
%%/ Coolant Drain Port j27KF, I
B AR
60

ﬁ
|
]

e

RC1/8 f __H
=
20 H1 ]
T
RC1/4 5 E
Qil Drain Port FE#H, 10 =
cl. H2 H G
ol J
"
5 2~RC3/8(RL-200:RC1/2)
C-Dr A\r B| Dr Pressure Port #3070
PV Limit value 14400 MPa r/m -

PV R &

REBREIE R AR

Subject to technical changes

B i#R1& SPECIFICATIONS

EEEE BsOHY | BEERAEN | IKDESERES
) (Extend) HIHl (Retract

-
T I S
15

RL-75 42.6 37.1 6000 4.0(40) 3.5(35) 0.01 3.1
ZE RL-100 77.0 715 20 6000 4.0(40) 3.5(35) 0.04 46
i RL-125 121.2 1131 25 6000 4.0(40) 3.5(35) 0.06 7.1
B RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
;2 RL-200 3125 290.4 35 5500 4.0(40) 3.5(35) 0.30 156
il 81 R~F DIMENSIONS

IR S N 1 R T R T
75 15 90 90 65 30 45 30 57 42 12 21 35

RL-75 107 137 194 M20x2.5 6~M8x16 M8x60

RL-100 100 20 132 115 100 80 30 45 25 72 42 137 209 M20x2.5 6~M10x20 M8x75 12 21 35
RL-125 125 25 160 140 130 110 35 50 25 82 41 136 218 M24x3.0 6~M12x20 M8x85 12 25 45
RL-150 150 30 190 170 130 110 45 55 25 95 39 134 230 M30x3.5 12~M12x24 M10x100 16 32 45
RL-200 200 35 245 220 145 120 55 70 35 115 36 132 248 M36x4.0 12~M16x30 M10x125 21 38 60

63 AUTOGRIP WW\WAUTOGRIP.COM.TW



g

RL-N /E AL 0§ B ] .

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION =

o
2

B o KA T, B o A d Ak AR K o

o ZERT HMAMHEZL o

e To allow coolant to be feed from the rear end of the distributor through
the rotating union.

e Can screw it from the rear end of the cylinder when mounting.

 AwmAREBLEREE GBS B EELERE -

B OEAMEREEHR > FHEH o

B Thedrain port should be independently connected to oil tank to avoid back
pressure.

B The rotary cylinder should not run without liquid through coolant port.

6~L1 ‘H,

RC1/4 )
Coolant Port {#7Kf,

A: 1.D. AL 8
BsTiE || S
Neeay i ] I ==
;i =il o =
= - II[EI"L"UDDO
S L =TS,
H JRILANC
RC1/8 ' ]
Coolant Drain Port ;27K#, R
20 28 )
T
RC1/4 10 5 kL
Oil Drain Port 32587,
S yzés H G
J
2~RC3/8(RL-200N:RC1/2)
A Pressure Port #55H
C-Dr T \'I
PV Limit value 14400 MPar/m A B | Dr

PV [REIE

REBREIE R AR

Subject to technical changes
il #R4% SPECIFICATIONS
8 (Extend) {8 (Retract)
cm?

i EEORY | BEEREN | keasEmEn | 0 00 | 8 |
Eff. piston area Eff. piston area Piston stroke Co;)/ll A Moment of inertia
ax. pressure

MPalkgf/cm) | WPa (cgf/cm)
15 3.0

RL-75N 42.6 37.1 6000 4.0 (40) 3.5(35) 0.01

RL-100N 77.0 71.5 20 6000 4.0 (40) 3.5(35) 0.04 45 A

RL-125N 121.2 113.1 25 6000 4.0 (40) 3.5(35) 0.06 7.0 H

RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6 [E2

RL-200N 3125 290.4 35 5500 4.0 (40) 3.5(35) 0.29 15.5 ;E
9NELR<F DIMENSIONS il

IR A A P A A S A T Y A
75 15 90 90 65 30 45 30 57 12 21 35

RL-75N 107 180 M20x2.5 6-M8x16 M8x60
RL-100N 100 20 132 115 100 80 30 45 25 72 195 M20x2.5 6-M10x20 M8x75 12 21 35
RL-125N 125 25 160 140 130 110 35 50 25 82 205 M24x3.0 6-M12x20 M8x85 12 25 45

RL-150N 150 30 190 170 130 110 45 55 25 95 218 M30x3.5 12-M12x24 M10x100 16 32 45
RL-200N 200 35 245 220 145 120 55 70 35 115 240 M36x4.0 12-M16x 30 M10x125 21 38 60

WWW.AUTOGRIP.COM.TW AUTOGRIP 64



R

RL-AN 3 s AL s BA R T

ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

il
f#

A

o Fif -  HAAUHmRE > TLAHAmEUHEBEFHETA -
o ZERT HMAMHEZL o
e To allow compressed air to be feed from the rear end of the distributor

through the rotating union.
e Can screw it from the rear end of the cylinder when mounting.

n ERAR FERAMENEE o

B When used, a little oil mist should be contained.

6~L1 4_‘_1_,
RC1/4 =
Air Port {E5RA A LD. A | 8 I
B: ST. 718
g &
(1 | N =
i 1 uEI'-'-'-'-'nDO
© — <
15
\T‘\ N K
RC1/4 . o=t
Oil Drain Port ##F, 57 28 —
~RC3/8(RL-A200N:RC1/2) | 10 5 NL
Pressure Port #3H#L 1095 H G
J

TREBIRARIE RO RER]

Subject to technical changes

R ilr#R1& SPECIFICATIONS

o ana) | et ] I I

. . Air connection A .
3.0

m MPalkgt/cm) | MPa (kgf/c) g

m
RL- A75N 42.6 37.1 15 6000 4.0(40) 0.8(8) 0.01

A

,’E_E RL- A100N 77.0 715 20 6000 4.0(40) 0.8(8) 0.04 45
f’E RL- A125N 121.2 113.1 25 6000 4.0(40) 0.8(8) 0.06 7.0
;E RL- A150N 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
ﬁ RL- A200N 312.5 290.4 35 5500 4.0(40) 0.8(8) 0.29 15.5

MR~ DIMENSIONS

E G G M
I I N I P P A I T T BT S E PAEE
75 15 90 90 65 30 45 30 57 12 21 35

RL- A75N 107 166 M20 x2.5 6~M8x 16 M8x60
RL-A100N 100 20 132 115 100 80 30 45 25 72 181 M20 x2.5 6~M10x20 M8x75 12 21 35
RL-A125N 125 25 160 140 130 110 35 50 25 82 191 M24x 3.0 6~M12x20 M8x85 12 25 45

RL-A150N 150 30 190 170 130 110 45 55 25 95 204 M30x3.5 12~M12x24 M10x100 16 32 45
RL-A200N 200 35 245 220 145 120 55 70 35 115 225 M36 x4.0 12~¥M16x30 M10x125 21 38 60

65 AUTOGRIP WW\WAUTOGRIP.COM.TW



IR ARl BN HEE] (— )
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE R e#S s

o Fif  HWEESAEMEE R o
WL e AR R B RATR BT AN
o TR HUMMEZ o

e For short form, light weight and high speed rotary cylinder.

e Built-in safety check valves, pressure relief valves and proximity sensor.

e Can screw it from the rear end of the cylinder when mounting.

n AmIAREBLEREE GBS B EELERE -

B Thedrain port should be independently connected to oil tank to avoid back

pressure.

:
5 i
2~RC3/8 £
Pressure Port A,B @/ﬁ o — o N K
AL A, I = === e
& & \ < =
- ‘ A:1D. A
o E @ e 4%% 4o
v 1 15| 12
Dr, :
NG S f
» Il 3 ===
RC1/4
Oil Drain Port 387, H L1k
1
Dr |AB J G

FREBIRARIE LA R

Subject to technical changes

B ili#R+& SPECIFICATIONS

AR | fGR | meEsy | @semREn | | 2 #B |
| meens) | @@ | | | 1 ]
e
RE-110 92.7 87.9 20 6000 3.5(35) 0.02 6.9 ZE
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8 §H§|
RE-130 130.4 123.1 30 6000 4.0(40) 0.03 9.1 B
i@
YhELR~F DIMENSIONS 2
Model A B C(h7) D E B G max. | G min. H J K L L1 M (H8) [\ EI
RE-110 110 20 145 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 21 168 145 42 29 60 39 695 148 M20x2.5 6~M10x75 17 22 35
RE-130 130 30 168 150 50 33 60 30 795 158 M24x3.0 6~M10x85 17 27 40

irREERRAZLTN - Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN - Proximity sensor : Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN .
WWW.AUTOGRIP.COM.TW AUTOGRIP 66



COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE ~ S3RECEE

’ RE teRE R e AP O mEEL ( — )

o FE HEECAEEERE  HAHBSERRIAER o

WEH W e HEE > RBRRATRZERNLERR -

o AWK HAMHAEZ o

e For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.

e Built-in safety check valves, pressure relief valves and proximity sensor.

e Can screw it from the rear end of the cylinder when mounting.
 RMAMEBLEREEGEAE > UBEELERE -

B The drain port should be independently connected to oil tank to avoid back

pressure.

K
fffff o 4l ——Haemg T a5l o
=== =l
2~RC1/2 P @\_124-
Pressure Port A,.B
#HFL A, [
(RE-150:2~RC3/8)
® H G

RC3/8 " y

Qil Drain Port j#3M7L

(RE-150:RC1/4) H

Dr A A B

TRERAGIE LRI ER]

Subject to technical changes
B i#R1& SPECIFICATIONS
- D Baan I R
BT T T
o)
30 14.9

& EHE7

IIIi
il

Z= RE-150 174.4 160.8 5500 4.0 (40) 0.06

bies| RE-200K 292.4 274.9 35 4000 4.0 (40) 0.19 29.1
[ RE-200L 292.4 265.4 50 4000 5.0 (50) 0.21 30.4
30 RE-250 465.2 438.2 60 2000 5.0 (50) 0.43 47.2
L

&L MR~ DIMENSIONS

N N I I P A P P N I T N N P A RN Y
RE-150 150 30 205 180 130 110 45 60 30 99 177.5 M30x3.5 M12x24 M12x105 185 32 10 50 125 114
RE-200K 195 35 257 225 145 120 55 73 38 120 239 M36x4.0 M16x30 M16x130 27 38 12 65 15 150
RE-200L 195 50 257 225 170 125 65 80 30 135 254 M42x3.0 M16x30 M16x145 27 45 12 65 15 150
RE-250 245 60 307 275 220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

irREERRAZLTN - Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN - Proximity sensor : Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN .
67 AUTOGRIP WW\WAUTOGRIP.COM.TW



COMPACT STYLE HYDRAULIC CYLINDER WITH AR CONNECTION AND SAFETY DEVICE SiF¥ 27

f RE-A FEEERETEmam () :

e FiE HEELAMFREMY R  TAH KR EHBFREZA -
o WERFILR Eﬁﬁ#ﬁ%% c BEBMRATRENARZAN -

ZRET HAORHE L

e For short form, light weight and high speed rotary cylinder. To allow
compressed air to be feed from the rear end of the distributor through the
rotating union.

e Built-in safety check valves, pressure relief valves and proximity sensor.

e Can screw it from the rear end of the cylinder when mounting.

" ARAIREHLCEEEE B NBAELRE

m FREFRANKENEE

B Thedrain port should be independently connected to oil tank to avoid back

pressure.
B When used, a little oil mist should be contained.

= T" / [t
&£ ‘ i - % j 1 =
| == N K
B | . /"
‘ V2 = ! AldpE T slwlwlqalo
T R = @ BSTHE I—-;[ 5808
\
B | &’
Dr.| QLA . 15| B\ mimmmemn
T % H OBE-P
\ H| e |
| Air Port &7 | wd | 85 [ ==
5 12.5 a
2 H L1| L
|2=~R03/8 PortAB RC1/4 Il J G
BRI AB Oil Drain Port @37, Dr l AB

TREIRARIE LRI ER]

Subject to technical changes
Bg#RE SPECIFICATIONS
é%@%ﬁ gsENY | ESEREN | iRuEsEREEH |
I

Model Max. pressure

o B fi

RE-A110 91.2 87.9 sooo 4.0(40) 0.8(8) 0.02 =
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8 H
RE-A130 128.9 123.1 30 6000 4.0(40) 0.8(8) 0.03 9.1 [E2
@
9hEI R~ DIMENSIONS L
EIRDCDRORES DN TR
RE-A110 110 145 128 146 M20x2.5 6™~M8x70
RE-A120 120 21 168 145 42 29 so 39 69.5 148 M20x2.5 6~M10x75 17 22 38 szo
RE-A130 130 30 168 150 50 33 60 30 79.5 158 M24x3.0 6~M10x85 17 27 43 s24

irREERRAZLT - Model IAL12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN - Proximity sensor : Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN .
WWW.AUTOGRIP.COM.TW AUTOGRIP 68



] RE-A PEEEREmemamd |- )

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE =~ SZREEE

o FE BEEXLALTRAEHEGRLE TEHANEESFHERLSA o
. W?ﬁ.ﬁiﬁﬁééﬁ%&%’&@ﬁﬂ& TREH A EHR -

o ZEKTHKWHEEZL -

e For short form, light weight and high speed rotary cylinder. To allow

compressed air to be feed from the rear end of the distributor through the
rotating union.

e Built-in safety check valves, pressure relief valves and proximity sensor.

e Can screw it from the rear end of the cylinder when mounting.

n ORI REHLEREE B IR ELARE -

m FRRFERAMENGE

B Thedrain port should be independently connected to oil tank to avoid back
pressure.

B When used, a little oil mist should be contained.

2x2~M5x8 6“_'-1\ L2
R
5
A =
K
T /
= A:1.D. B
o -+ BRI L s 5[ o
uly B: ST. 1772
e M
% N
2~RC1/2 IX —T
Pressure Port A,B E\ 12~L
#m7L AB
(RE-A150:2~RC3/8) —
RC3/8 : Air H G
Qil Drain Port #5#7. —19s
(RE-A150:RC1/4) J
RC1/4

Air Port JFR L
(RE-A150:RC1/8)

TRE RS IE LRI HER

Subject to technical changes

KRS SPECIFICATIONS

____ -

Eff. piston area Eff. piston area Piston stroke Moment of inertia | Weight
- _

= I T e gt/em) | gm | e |
H RE-A150 174.4 160.8 5500 4.0(40) 0.8(8) 0.06 14.9

B RE-A200K 292.4 274.9 35 4000 4.0(40) 0.8(8) 0.19 29.1

3 RE-A200L 292.4 265.4 50 4000 5.0(50) 0.8(8) 0.21 30.4

L RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 0.43 47.2

i

SMEUR~F DIMENSIONS

RE-A150 150 205 180 130 110 177.5 M30x3.5 M12x24 M12x105 18.5 125 114
RE-A200K 195 35 257 225 145 120 55 73 38 120 239 M36x4.0 M16x30 M16x130 27 38 12 65 15 150
RE-A200L 195 50 257 225 170 125 65 80 30 135 254 M42x3.0 M16x30 M16x145 27 45 12 65 15 150
RE-A250 245 60 307 275 220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

irREERRAZLTN - Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN - Proximity sensor : Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN .
69 AUTOGRIP WW\WAUTOGRIP.COM.TW



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE = S&REEH

’ RE-L FRESEEKOEMHERI (— )

o HE’WE%Aiﬁﬁ B R g EEETF LY
HI 7
o WEHIWMEHEBRE ABMATREMNLERNA -
o ZEBW HKMHEZ o
e For short form, light weight and high speed rotary cylinder. To allow coolant
to be feed from the rear end of the distributor through the rotating union.

e Built-in safety check valves, pressure relief valves and proximity sensor.
e Canscrew it from the rear end of the cylinder when mounting.
B RWIREBLEREEA GRS UBLELTE -
B The drain port should be independently connected to oil tank to avoid back
pressure.
2~RC3/8 ' %
Pressure PortA,B 'ﬂl ] fﬂ
LA B / (
o TH- c;_DTJ i’ Tl L] E N
Dri AB | == K
-
A B\ ) < ™ A LD. RE |3
el T - o e =Tuwl alo
\ c & [10[W B: ST. 78 —|— - JQQQ Q
C- SRR A
Dri# méﬁb 15 O&R-P
V! RC1/8 |4 eSS
o Coolant Drain Port 3%#7K7L L
5 285 f12.5 H LY SE
J G
RC1/4
Collant Port 7K., RC1/4

Oil Drain Port 2#7L

FREBIRARIE LA R

Subject to technical changes

B ili#R+& SPECIFICATIONS

; KRB ERESD

Model Max. pressure
——— wraton | e i) —

Bl (Extend) HI{8 (Retract)

s
RE-L110 92.7 87.9 6000 4.0(40) 1.5(15) 0.02 E
RE-L120 110.8 106 21 6000 4.0(40) 1.5(15) 0.03 9.1 B
RE-L130 128.9 1231 30 6000 4.0(40) 1.5(15) 0.03 9.5 o)
L
MR <) DIMENSIONS T
EINOE D N
RE-L110 110 20 145 128 42 66  169.5 M20x2.5 6~M8x70 12 S20
RE-L120 120 21 168 145 42 29 60 39 69.5 1715 M20x2.5 6~M10x75 17 22 38 S20
RE-L130 130 30 168 150 50 33 60 30 79.5 1815 M24x3.0 6~M10x85 17 27 43 S24

irREERRAZLTN - Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN - Proximity sensor : Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN .
WWW.AUTOGRIP.COM.TW AUTOGRIP 70



COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE =~ =SRESH

’ RE-L 'F/E2ailiilosmeRal () )

e FE -EEESAF KEMEEL  THE AR REREF Y
Al sFplEeERARIAER > ‘

WS AR RBRRRATRER RN -

o KK HAMHAEZ o

e For short form, light weight and high speed rotary cylinder. To allow coolant

to be feed from the rear end of the distributor through the rotating union,
suitable for vertical lathe.

e Built-in safety check valves, pressure relief valves and proximity sensor.

e Can screw it from the rear end of the cylinder when mounting.

n AwmAREBLEREE GBS B EELERE -

B The drain port should be independently connected to oil tank to avoid back

pressure.

6~L1 L2
2x2~M5x8 —\
— ______{_.__
2~RC1/2 | @ 5
Pressure Port A,.B i
fig ) AB L1 = —_—=
(RE-L150:2~RC3/8) HE———4+ K
3 A
‘@‘ o 1B —-——-_—4&————————2 L wd 5o
' D B: ST. 7172
! oc N
RC3/8 12,5 ég - N M1
Collant Port jE7K5L : : En | —h‘;: i
p N [12~L
25 i i

RC3/8

Qil Drain Port 38587 H G

(RE-L150:RC1/4) s J

RC1/8 o
i 3 C-Dr 1
Coolant Drain Port 3#7K#, Drl A'B

FREBIRARIE LA R

Subject to technical changes
il #34% SPECIFICATIONS
: B BEEwy | SSEREN | pkoasEREs | 0 o | &8 |
pith ]
Pleend) | AB@etey | [ | 0 [ 0 ]
i ; q Coolant connection ; q ;
MPalkgf/cm) | WPa (kgf/cm)
30

s
= RE-L150 174.4 160.8 5500 4.0(40) 1.5(15) 0.06 15.2
’E: RE-L200K 292.4 274.9 35 4000 4.0(40) 1.5(15) 0.19 29.4
% RE-L200L 292.4 265.4 50 4000 5.0(50) 1.5(15) 0.21 30.7
;; RE-L250 465.2 438.2 60 2000 5.0(50) 1.5(15) 0.43 47.5
i

SMUR S DIMENSIONS

e Lo LT lo L Ll ] e | 1o Tal L[ ] Lo
RE-L150 150 30 205 180 130 110 45 60 30 99 201 M30x3.5 Mi12x24 M12x105 18.5 32 10 50 12.5 114
RE-L200K 195 35 257 225 145 120 55 73 38 120 264 M36x4.0 M16x30 M16x130 27 38 12 65 15 150
RE-L200L 195 50 257 225 170 125 65 80 30 135 279 M42x3.0 M16x30 M1lex145 27 45 12 65 15 150

RE-L250 245 60 307 275 220 160 65 85 25 165 305 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

ir#EERRAZLT - Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN - Proximity sensor : Model IA12DLFO2NO3219(CARLO) DC 10-30V 200mA NPN .
71 AUTOGRIP WW\WAUTOGRIP.COM.TW



Pfyn | F R SE AR B 30 85 R £ ]

DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE Lyt

o HAHE > BAERNEHYRH o
o M LW B HMEIENEER -

e For short form, light weight, double rod rotary cylinder.
e Built-in safety check valves and pressure relief valves.

B ARWIREBLEREEAWEE  UBLELTE o
B The drain port should be independently connected to oil tank to avoid back
pressure.
,,,,,,,,, _ Cylinder A Cylinder B 6~M12x1.75x24
{
Sl A:1D. P8 *.:J -
i B: D & 4! Maex1.5
m} Eesl M20x2.5
=N e || EL
et Ly i 8
éﬁﬁg | AB,Dr g |l 5 &
T RC1/4 . !
1313 Qil Drain Port 383, 40.5
~ 2-RCH8 . ;
60 Pressure Port #3HFL 90 —L C E
REBIEEREMA D E

Subject to technical changes

i 4% SPECIFICATIONS

Eff. pist =) [ Sl —
g AZEM Eff. piston area e FEEEy | BSEAEN
Extend HUM (Retract

_‘-_-_ Piston stroke Moment of inertia Weight

Model o) | wealater) | dem | e |
RD-120 1227 126.1 116.1 113.1 20 5000 3.0(30) 0.14 113
RD-125 1227 126.1 116.1 113.1 25 5000 3.0(30) 0.15 115

SMUR S DIMENSIONS

B S S T T ™ N

RD-120
RD-125 125 147 237 55 30 35 10

RD N BE 42 AU 063 [BX ]
DOUBLE ROD ROTATING CYLINDER [y ikidl

o HA KE  BARREHE B o
e For short form, light weight, double rod rotary cylinder.
B AMAREBLEREE GBE > UBREATE -

B The drain port should be independently connected to oil tank to avoid back

pressure.
ba
@
. it
. Cylinder B ~M12x1.75x2 .
o _ Cylinder A ‘Y 6 x1.75x24 o
) P .
- » "R e e— @
A: LD, IE 4&%4 iR o
y B: 1.D. A& 35 F 2
/ M20x2.5
/ J/ " il
f =
focee § = EEEEE
Ry = ECEEE
RC1/4 - ‘ | 35
% Oil Drain Port #5A7L th 8 §.,J;.,
. . o -
2~RC3/8 . :
Pressure Port #57HL 77 [¢] F
) 60 D E
RBIRIEIERRORER

Subject to technical changes

i #R4& SPECIFICATIONS
=5 oE T BEREN

8 | Pistonstroke Moment of inertia Weight
o | mindepm) | Mpalkeom) | kem | ke

RD-120N 122.7 1261 1161 1131 20 5000 3.0(30) 0.14 11.2
RD-125N 122.7 1261 1161 1131 25 5000 3.0(30) 0.15 11.4

SR~ DIMENSIONS

B S S T T ™ R

RD-120N
RD-125N 130 125 147 224 55 30 35 10

WWW.AUTOGRIP.COM.TW AUTOGRIP 72



JHBR D EE 77 i
HYDRAULIC ROTARY VALVE il

o EMIES AR B ERY R -
o HEHMUENHERART  HHEHBTENHEY > BFRFH
o AR FEEHHKEE -
o WEZ—EE  AHREHHKEME -
e Rotary valve is used for clamping cylinder on rotary table.
e Through unique design, it can make the rotary housing be rotated light
force, and is free from oil leaking.
e | Typeisasingle circuit which controls the clamping.
e |l Type is a double circuit which separately controls the clamping.
® RVARWABIAREBLEBEEEDdE > UBLELTE -
B The drain port of RV type should be independently connected to oil tank to
avoid back pressure.
4~M8 2x4~RC1/4
Screw hole Distributing port
& j: R4l pa ;e 4~M8x11
L

! RC1/4
Drain Port 2H7

|

@_

A gy
AR AL

s,

n
(4]
b
©

2(4)~RC1/4
Pressure Port #5587L

TREBIRARIE RO RER]

Subject to technical changes
il #34% SPECIFICATIONS
e BEERE e
Model Distributing Weight
| weatet/em) | s

RV-31H 4@ (OJF]H) 40 kgf/cm? (4.0MPa) 7.4

55 RV OJiR A E 2 - (Note:RV can be custom-made.)

RV-A ZE RO EE 53 AT

AIR ROTARY VALVE ZEJREY
4~M8 2x4~RC1/4
Screw hole Distributing port
Ak Bl
i / 2-Mext1
™ |
Y=
~ (1 ' ' ij_
|3 f—o-o—] T
Rl =
=)
il ! 2(4)~RC1/4
[EEl™ Pressure Port %87

T
5| |12| a7s ‘25
125 I 1I

IREBIRIIEBHIRR]

Subject to technical changes

i #R4& SPECIFICATIONS
RISk BEEREN 8

Weight

I MPa(kgf/cm?) kgs

RV-A31H 4[a (OJE]H) 8 kgf/cm? (0.8MPa) 4.8

73 AUTOGRIP WW\WAUTOGRIP.COM.TW



RJ-80 /2 80K
COOLANT ROTATING JOINT

o FHE > GRERHHAANREBEERE o

o NHMUEAKREARFELLABEE LMY » WELFEE -

e Coolant joint for high speed, high pressure. Usable for oil and water-soluble
coolant.

e Seal bushing inside is made of cemented carbide and ceramics, which
provide higher wear-resistance.

" OEAMEABERN  FHEHR o

B Thejoint should not run without liquid through coolant port.

M16x1.5 LH =5
(or 5/8-18UNF - LH)

M | RJ- 8
) s
NN pie= M7=
SN : ©
\«%{&[ﬁ‘/ / L ] 08 &J
RC1/8(Dr) 7 |
G?/ “ i n A 19
8 30 12 |5| 15
45" [ i =1J
28 il 21 65
T
122
PV BRI
PV Limit value 14400 MPa - r/m.
REBIRABIE R
Subject to technical changes
#1l53R4& SPECIFICATIONS
e EREN i AEEE 5=
RJ-80 60 kgf/cm? (6.0MPa) 28 I/min( A EE 7] 50 kegf/cm?) 8000 r.p.m. 0.5 kg

’ RJ-Q0 /3ENRIBEEIANNM KR 2 EIRIRA

COOLANT ROTATING JOINT WITH AUTOMATIC ON/OFF SEAL

o FHHE > BBy A A REEEE o

o NHIEAMEAEELLEBEERMELY » W EMAFME o

J ffﬁiﬂ%ﬁﬂﬂ//ﬁ%ﬂﬁ AEAEe e e ELEXRTRELER
BIE o

e Coolant joint for high speed, high pressure. Usable for oil and water-soluble
coolant.

e Seal bushing inside is made of cemented carbide and ceramics, which
provide higher wear-resistance.

e The seal will depart automatically if no liquid passes during operation, and
will not be dmaged due to dry touching.

. R/NEE RS Akgf/em? o

B Min. pressure is 4kgf/cm?.

Model RJ-90
n
e e i Sy MIEX15LHEF
S o8
- "['_
M 3 2 /
\é i j/ il ) i
\)L%é L] 5 M
RC1/8(Dr)
27 — 16 24 _J 12 20
PV [RHI{E 17
PV Limit value 17500 MPa - r/m.
IRBRAEE LR
Subject to technical changes
i3 % SPECIFICATIONS
EEEREN EEERenY £/ EEE S
RJ-90 70 kgf/cm? (7.0MPa) 28 I/min( 1 A E 7] 50 kgf/cm?) 10000 r.p.m. 4 kgf/cm?(0.4MPa) 0.5kg

WWW.AUTOGRIP.COM.TW AUTOGRIP 74



SJ EELET (—)

STANDARD SOFT BLANK JAW

=t
N OY O
S-1
6 . ST s-8 S-2
i |
T e
- S0 | —— |
0| @ | | |
") | o ‘
N o al
| | >
I } _ ""Serration D |
S-9 | \__BrEEnEE S-4

— o S-12

IREBIRAE IS AR

Subject to technical changes

SMUR < DIMENSIONS

S-1 S-2 S-3 S-4 S-5 S-6 S-7 S-8 S-9
MODEL

e

S-12 | S-13
Serration Pitch Matching Chuck

3H-04,

S1-04 52 23 23 10 5 10 14 28 9 14 13 M8 3 1.5x60° i 0.5
. 3H-205, 3L-205
SJ-05 62 25 30 10 5 10 14 38 9 14 18 M8 35 1.5x60 3905, 3M1.05 0.8
. 3H-206, 3L-206
SJ-06 73 31 3 12 5 15 20 38 11 17 24 MI10 14 1.5x60 in v 1.5
. 3H-208, 3L-208
5J-08 95 35 37 14 5 24 25 46 13 19 22 M12 16 1.5x60 3P-08, 3M-08 2.4
. 3H-10, 3L-210
SJ-10 110 40 42 16 5 30 30 50 13 19 27 M12 18 1.5x60 3p-10, 3M-10 3.7
. 3H-212, 3L-212,
SI-12H 130 50 50 21 5 40 30 60 18 26 33 MI16 23 1.5x60 V.12 3p-12, 3M-12 6.3
SJ-12pP 130 50 50 18 5 40 30 60 16 23 33 M14 23 1.5x60° 3p-12 6.5
SJ-15H 165 62 62 22 8 37 43 8 21 32 38 M2 - 1.5x60° 3H-215, 3H-18 12.6
3H-215, 3H-18,
SJ-15P 165 62 62 255 8 37 43 8 21 32 38 M2 - 1.5x60° 3L-15,3P-215, 3p-218,  12.5
3V-15, 3v-18
3H-21, 3H-24,
si-21 180 65 70 25 9 40 60 80 21 32 45 M20 - 3.0x60° 3pP-221, 3P-224, 15.8

3V-21, 3V-24, 3V-32

75 AUTOGRIP WW\WAUTOGRIP.COM.TW



TEFM(Z
’ SJ S*TAI\%ARDSOFgBLAN?( JAW

3U 258 7 12

STANDARD SOFT JAW FOR 3U CHUCK

F L L
BN ! ;
v XL/J\ % :
< =1 1o 5 ¢/
QY || (]
G = > | g
L g }
m| | H i 125°
‘ i for 3U-203

IR ISR

Subject to technical changes

MR~ DIMENSIONS

3U-203 53 11 9.5 66 12 C3 7 3 26 7 15
3U-204 6.6 11 11 84 17 Ca 11 3 32 9.5 20
3U-205 9 13.5 14 108 20 Cc4 12 3 41.5 13 24
3U-206 11 15 17 129 30 C6 20 3 50 17 30
3U-208 13 17 20 156 34 cé 22 3 63 20.5 85
3U-210 15 20 22 187 39 C6 24 4 74 23 40
3U-212 15 18 22 234 44 Cé 29 4 72 23 40

2D/3D k58 Z 1ZAEE I

STANDARD SOFT JAW FOR 2D/3D CHUCK

NP
J ||
! J K
D D
[0]3 L JE L
o J2EL | ] '
< . z OEL | | i
© AN —I < I ; I : :
G H M e —
G Jn M)
for 04"~06" for 08"~15"

IREBIRAR ISR

Subject to technical changes

MR~ DIMENSIONS

5)%
MODEL

3D-04 17 5

3D-05 -

3D-06 34 21 3 70 23 15.5 22 10 27 o 35 10 6
3D-08 44.5 29 3.5 84 19 13 25 12 18 26 40 10 7
3D-10 49.5 32 35 100 22 15 30.5 15 22 32 50 18 7
3D-12 54.5 36 3.5 120 26 18 335 17 24 36 60 20 7
3D-15 65 40 5 165 26 18 50 20 40 40 70 24 10

WWW.AUTOGRIP.COM.TW AUTOGRIP 76



ZEFM (=
’ SJ STAI\_EARD SOF$ BLAN?( JAW
3E 3REE Z 12 AN

STANDARD SOFT JAW FOR 3E CHUCK

A G A G
9B
| i D |
9 SR
| L ‘ OT-+H__ |1 m T B N
_Im < ?DTJR S — ;R
S | |ec 3 T th | i
] - | > Q2 - w
E] | |
ERELETAR L TBEY
TYPE A TYPE B

IREB AR IS LB RER]

Subject to technical changes

SN R~ DIMENSIONS

MODEL
16.5

3E-05 AR 34.5
B & 25 5 425
3606 AR 23 11 s.e 19 13 c5 31 27.5 44 46 54 =
B & 23 11 6.6 18 36 c5 31 37.5 44 56 54 92
3608 AR 30 14 9 25 15 c6 35 36 50 56 62 =
B & 30 14 9 24 41 c6 35 56 50 76 62 112
New 3E-10 AR 35 17.5 11 26.5 17.5 c5 40 40 60 64.5 70 =
B & 35 17.5 11 26 475 c5 40 71.5 60 96 70 129

3R BRGE ZAZ AL

STANDARD SOFT JAW FOR 3R CHUCK

B/AN >J/
M| N
D | R
e (T
¢ LUl j == —
of =
_GJgL s

TRERAGIE LRI HER

Subject to technical changes

MR~ DIMENSIONS

IVIODEL
102 23

NEw 3R-08 29.5 13 3 5 14 21 12 55 14
NEw 3R-10 30.5 15 16 29.5 15 21

77 AUTOGRIP WW\WAUTOGRIP.COM.TW



%A T
’ SJ ITAI%ARD SOF$ BIEN?( JAW

AP 258 Z 1AM

STANDARD SOFT JAW FOR AP CHUCK

S
8 -7 o
S6 S S-8 -
= i
= Ll 8410 .
? ) fuing ; |
= I of | T
TE Soraien 7T |s4|
% W L erration
s12/4 | 50 HreEanse

FREB AR IE LA HER

Subject to technical changes

SMUR~F DIMENSIONS

23 e 655 R
S-1 S-2 S-3/ S-4 S-5 S-6 S-7 S-8 S-9 S-10 | S-11 | s-12
62 62 9 37 43 85 21 2 38

SJ-145 165 25.5 M20 3.0x60° AP-145, AP-185 12.2

SJ-185 165 62 62 255 9 37 43 85 21 32 38 M20 3.0x60° AP-145, AP-185 12.2
SJ-230 180 64 70 255 9 40 60 80 21 32 45 M20 3.0x60° AP-230, AP-275 16.1
SJ-275 180 64 70 255 9 40 60 80 21 32 45 M20 3.0x60° AP-230, AP-275 16.1
SJ-320 210 75 80 30 9 40 60 110 26 38 55 M24 3.0x60° AP-320, AP-375 24.7

WWW.AUTOGRIP.COM.TW AUTOGRIP 78



HJ TEAERE M

STANDARD HARDENED JAW

= H6 H-2
b o
ol 1| ba s
I r—é—T pu i
E ‘\ ﬂ | | o '"il_ge ;L
I ) » Bérmtionx H-4
H-12 1 | [:—IH"’ Bria enge 4

Fig. 1

RIS TR

Subject to technical changes

SMUR < DIMENSIONS

H H-9 | H-10 | H-11 | H-12 | H-13
MODEL Serration Pitch Matching Chuck

H-05 53 23 28 10 4 30 14 23 85 135 10 M8 6  15x60°  3H-04,3H-205 1 Fig.2
W06 67 31 36 12 5 385 20 285 11 17 12 MI0 10  15x60°  H 2% 17 Fig.2
W08 87 35 51 14 5 32 25 18 13 19 12 MI2 12 15%60°  Shooe 2 Fig.1
WO 102 40 54 16 5 39 30 23 13 19 13 MI2 16 150"  na> 3 Fig.1
HM2H 103 50 52 21 5 625 30 405 17 25 17 M16 30  15x60°  3H 0% 35 Fig.2
H-12P 103 50 52 18 5 625 30 405 15 22 17 MI14 30  15x60°  3P-12 3.6 Fig.2
HI-SH 149 62 86 22 8 63 43 34 21 32 20 M20 43  15x60°  3H-215, 3H-18 9.6 Fig.1
. 3H-215,3H-18, .
HISP 149 62 86 255 6 63 43 34 21 32 20 M0 43 15600 o3 95 Fig1
. 3H21,3H-24, .
HI21 1595 80 90 25 9 1045 50 55 21 32 40 M20 55 30x60" i 143 Fig.2
ab <
AP IZAERB T
STANDARD HARDEN JAW FOR AP CHUCK
Clamping range H-7 | H-7
H-2
4 0l
o ol B
3 =reer | T T
! 3 =5
T T I él
‘_T H-6 -4
<
H-1

TREBIRARIE AR

Subject to technical changes

SMUR S DIMENSIONS

Bt HrexEnEh DS —MES (kg)
W1 | H2 | H3 HS | H6 | H7 A s
Serration Pitch Matching Chuck 3 Jaw Weight (kg)
55 73 9 9 38

HJ-145 191 25.5 28-120 420 3.0x60° AP-145 12.5

HJ-145 191 55 73 255 9 92 38 28-155 460 3.0x60° AP-185 12.5
HJ-145 191 55 73 255 9 92 38 60-235 535 3.0x60° AP-230 12.5
HJ-145 191 55 73 255 9 92 38 105-280 580 3.0x60° AP-275 12.5
HJ-320 243 75 82 30 9 110 50 100-295 658 3.0x60° AP-320 24.6
HJ-320 243 75 82 30 9 110 50 175-375 738 3.0x60° AP-375 24.6

79 AUTOGRIP WW\WAUTOGRIP.COM.TW



T-NUT  [B*

1D D lE[ , i )
L NI J-F
= e Lk 2~T8 T4
T5 |76 T4 15 |76 T10| -
i
: : ’ —F
'—
i 1
T1 T2 T1 T2
TN1 TN2

T4 18
| T4
Il 1 El
i \ o T T
U )7 ‘ j
\E/A® |\ b Ji it
|oTs | 12 AC T T
RBRIEERAER] i LL
REBIBIRISA1E
cubjectto techmeal changes TN3 TN4

SMUR T DIMENSIONS

T2 T3 T4 5 T6 T7 T8 T9 T10 T11 3 Jaw Weight

Matching Chuck

3H-04,3H-204,3H-205,2H-04,2H-05,
TN1-04 26 14 15 10 14 6 95 M8 5 3P-04,3P-05,2P-04,2P-05,3L-205,2L-205,3M-05, 0.06
2M-05,5P-304

3H-206,2H-06,4H-06,

3P-06,2P-06,3L-206,2L-206,1L-06,3M-06,2M-06,
- - 3N-06,SP-306,

AP-52

3H-208,2H-08,4H-08,

3P-08,2P-08,3L-208,2L-208,1L-08,3M-08,2M-08,
- - 3N-08,4T-08,5P-308,

AP-66

3H-10,3H-210,3H-108B,2H-10,4H-10,

3P-10,2P-10,3L-210,2L-210,1L-10,3M-10,2M-10,
- - 3N-10,4T-10,4T-12,5P-310,

AP-86

3H-212,4H-12,
3P-12,2P-12,3L-212,2L-12,3M-12,2M-12,3V-12,

- - 4715,

AP-115
3H-212,4H-12,3P-12,

TN2-12 56 295 235 21 30 12 12 M14 10 18 4  2P-12,3L-212,2L-12,3M-12,2M-12,3V-12,4T-15, 0.63
AP-115
3H-215,3H-18,3H-18B,2H-15,4H-15,4H-18,

TN1-15 80 35 39 255 43 17 20 M20 14 3P-215,3P-218,2P-15,3L-15,2L-15,3M-215,3M-218, 1.53
3V-15,3V-18,4T-15
3H-215,3H-18,3H-18B,2H-15,4H-15,4H-18,

TN2-15 80 35 39 255 43 17 20 M20 14 22 6  3P-2153P-218,2P-15,3L-15,2L-15,3M-215,3M-218, 1.5

3V-15,3V-18,4T-15

3H-21B,3H-24B,3P-221,3P-224

TN1-06 36 17 185 12 20 8 11 M10 6

0.15

TN1-08 465 20 205 14 25 105 12 Mi12 10

TN1-10 51 22 215 16 30 11 13 M12 11

TN1-12 56 295 235 21 30 12 12 Ml16 10

TN3-21 46 375 45 25 26 _ 26 M2 _  _ _ | 3M-221.3M-224 3V-21 3v.24,3v-32 1.84
TN4-185 32 35 30 255 - - 19 M2 - - - AP-145,AP-185,AP-230,AP-275 0.15
TN4-320 36 42 39 30 - - 24 M2 - - - AP-320,AP-375 0.24

WWW.AUTOGRIP.COM.TW AUTOGRIP 80



FL SN

CHUCK ADAPTORS

Counter Bore Counter Bore
Counter Bore U B4 TTAAL U B4 TFRAL

U B4 5088 7L

7° 739"_;' I =] 7° 7'3@"‘
- 7.3@\L—\ Em \
Al al o A = (D (&) N = al O <
818 Ql _ 8 8 L@ S) 88 SIESIES
i =
L | L
=N — i

Tap hole E Tap hole

E1 Screw hole i L 18447,
FL 1 \L#4E  FL2 L ST, FL3 -E!

TREBIRARIE LA HER]

Subject to technical changes

SMUR S DIMENSIONS

et E S Weight
BN O EEN C NN

™

FL3-04A:4 110 85 70.6 63.513 826 8 3H-04, 2H-04 1.12

FL3-04A:5 140 85 70.6 82563 104.8 5.5 32 M10 M10 3H-04,2H-04 2.28
3H-204, 3H-205, 2H-05, 3L-05, 2L-05,

FL1-05A24 = || A6 | @BE3 | 8B | = 15 M10 M6 305, 21-05 0.65

FL3-05A:5 135 110 82.6 82.563 1048 6 30 M10 M10 3H-205, 2H-05, 3L-05, 2L-05 1.99
2H-06, 4H-06, 3H-206, *3L-206, *2L-206, 3P-06, 2P-06, 3M-06,

FL1-06A25 - 140 104.8 82.563 116 - 15/*18 M10 M6 2M-06, 0.96

3E-06, 3D-06, 2D-06, 3N-06, 3)-06, 2)-06
2H-06, 4H-06, 3H-206, 3L-206, 2L-206, 3P-06, 2P-06, 3M-06, 2M-06,
3E-06, 3D-06, 2D-06, 3N-06, 3)-06, 2)-06 3.12
3H-208, 2H-08, 4H-08, 3L-208, 2L-208, 3P-08, 2P-08, 3M-08, 2M-08,
47-08, 3E-08, 3D-08, 2D-08, 3N-08, 3)-08, 2J-08, 3R-08, 3Q-08
2H-08, 4H-08, 3H-208, *3L-208, *2L-208, 3P-08, 2P-08, 3M-08,
FL1-08A:6 - 170 133.4 106375 150 - 17/%23 M12 M6 2M-08,4T-08, 1.55
3£-08, 3D-08, 2D-08, 3N-08, 3)-08, 2J-08, 3R-08, 3Q-08
3H-10, 2H-10, 4H-10, 3L-210, 2L-210, 3P-10, 2P-10, 3M-10, 2M-10,
2H-12, 4H-12, 31-212, 2L-12, 3P-12, 2P-12, 3M-12, 2M-12, 4T-10,

FL3-06A:6 165 140 104.8 106.375 1334 6 35 M10 M12

FL2-08A25 - 170 1334 82.563 104.8 - 23 M12 M10 2.7

FL2-10A26 - 220 1714 106375 1334 - 25 M6 MI2 4715 3¢10 310, 20-10, 3N-10, 33-10, 2-10, 3R.10, 5.02
3Q-10, 3W-10
3H-10, 2H-10, 4H-10, 3H-10B, 3L-210, 2L-210, 3P-10, 2P-10, 3M-10,
2M-10, 2H-12, 4H-12, 31-212, 2L-12, 3P-12, 2P-12, 3M-12, 2M-12,
FLI-10A:8 - 220 1714 139.719 190 - 18 M6 M8 1104712 3£.10, 30-10, 2010, 3N-10, 3)-10, 210, 3R-10, 2.73
3Q-10, 3Q-12, 3W-10
3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15, 3M-15, 2M-15,
FL2-15A:8 - 300 235 139.719 1714 - 33 M20 MI6 .15 30119 418 3p.218 12.52
3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15, 3M-15, 2M-15,
FLI-15A:11 - 300 235 196869 260 - 22 M20 MI0 115 3090 ani1g 3po1s 6.03
FL2-21A:8 - 380 330.2 139.719 1714 - 33  M24 M16 3H-215,3P-221,3P-224 22.05
FL2-21A211 - 380 330.2 196.869 235 - 40/*27 M24 M20 3H-215,*3P-221, *3P-224 16.28
FL1-21A215 - 380 330.2 285775 3302 - 27 M24 M12 3H-215, 3H-18B, 3H-21B, 3P-221, 3P-224 8.6
FL2-40A215 - 520 463.6 285775 3302 - 40 M24 M24 3H-24B 43.26
FL1-40A220 - 520 463.6 412.775 4636 - 27 M24 M12 3H-248B 13.55

81 AUTOGRIP WW\WAUTOGRIP.COM.TW



CT SXKEHEITIEERNESR
COOLANT COLLECTOR WITH STROKE CONTROL

o NHRMMEERSL -

e The proximity switch is optional.

ECEL] it
Switching cap.

1A12DLFO2NO3219
(CARLO) DC 10/30V 200mA NPN

B 3% ¥ 3£ Terminal Connections

1A12DLFO2NO3219 - o -
(CARLO) FBLACK 1RBROWN EEBLUE & BLACK
— + +V
A
<U> QUTPUT , OP1 s
Bt
- oV LOAD

P + +V J
@ O$Uj']rPUT OP1 @#
A

- ov LOAD

_|+DC10~30V

T

CT-S
= g_ | i
H
¢ 3
{ =
H
Iun
=
|
o H
Y
T | s
@33 15] D
(CT-04/05: ©26.5) &
&K= EXKFHRGHIR
Coolant Collector Coolant Collector with Detecting Ring
RBBRE BT
Subject to technical changes
ShEYR <+ DIMENSIONS
[ wodel | A | 8 | c [ o | e | ¢ | 6 [ BEwesnth BRI
T la [os [ weoms
CT-04/CT-04S 87 110 60 29 110 57 79 0.9 1.1 TH-428
CT-05/CT-05S 87 110 60 29 110 57 84 0.9 1.1 TH-A536, TK-A528, TK-A533
CT-06/CT-06S 100 125 74 36 120 64.5 94 1.2 1.6 TK-C643, TK-A646, TK-B646, TK-C646, TK-646A
CT-08/CT-08S 110 138 80 39 130 71 105 1.3 1.8 TK-B846, TK-A853, TK-B853
CT-K10/CT-K10S 158 185 88 43 160 94.5 145 1.9 2.6 TK-1068, TK-A1075
CT-K10/CT-K1078S 158 185 88 43 160 94.5 145 1.9 26 TK-1078
CT-12/CT-125 158 185 88 43 160 94.5 145 1.9 2.6 TK-1287, TK-A1291
CT-15/CT-155 206 235 100 50 210 121 196 3.1 43  TK-A1511, TK-A1512
CT-21/CT-21S 226 255 100 50 210 131 210 33 46  TK-2114
CT-24/CT-24S 250 270 100 50 230 154 248 3.5 55  TK-2416, TK-2416L
CT-28/CT-285 310 330 100 50 260 181 305 43 7.2 TK-2820

WWW.AUTOGRIP.COM.TW AUTOGRIP 82




FV-01 VX RIIAEEERM
STATIONARY CYLINDER LOCK VALVE FOR AIR STATIONARY CHUCK ST s

2~M6
Screw hole

847, 20 +0.2

- & Q/Qﬁdiﬁ A1 C1 B1
L YA 0 E% éﬂ
| {o]

. ﬁﬁ%

Al 'B
RC1/8 Circuit drawing
Airtight detection port EREE
KRB

T s

A @A 2

T Je

A1 C1 'B1

70

IREBIRAG ISR

Subject to technical changes

-t s
’ VH'201 ir%;}]ogiﬁffjm VALVE St

Hand operated air valve

FENNILRE
Open A
N
Close [
ouT Chuck
IN LYiE]
Air combination unit
ot i)
Assembly drawing
ZEhCE
RBREELRETR
Subject to technical changes
BABHEN BIERE HEOE
1MPa(10kgf/cm?) 90° Rcl/4

83 AUTOGRIP WW\WAUTOGRIP.COM.TW



chZSi 2B E
DRAw TU BE THE aLCULfTI(\)(N ?FHDRAW TUBE LENGTH

Piston Cylinder Adapter Chuck Adapter
EE B SR BB

= " Draw Pipe =
oy e —
M3 :ﬁ% ” Lm = |
- Spindle of Lathe
thZEH142 7 8 Detail of Draw Tube Gimax. EAEEEEEH
L=A+G2max.+H-G1max.+M2+M3 L

TREBIRARIE LB HER]

Subject to technical changes

R ili#R1& SPECIFICATIONS

FEERE W S N IR M1 " 01 L

(f7)

3H-04 A4 TK-A533 12 145 13 25 315  M38xL5 25 35 9028 m3aas 35 A+59+13
3H205 A4  TK-AS533 2 17 10 25 16 M38x1.5 25 35 002 M4sxLS 5 A+46+13
3H-206 A5 TK-C646 20 14 12 30 28 M60x2 25 55 0030 meox 5 A+52+13
3H-208 A6  TK-A853 25 165 12 35 335  M75x2 25 70 000 wm7sQ 5 A+55+12
3H-10 A6  TK-AL075 25 205 15 35 335 M85x2 30 80 5930 mssk 5 A+64+15
3H-10 A8  TKAL075 25 205 15 35 265 M85x2 30 s 000 vgse 5 A+57+15
3H-212 A1l  TK-A1291 30 23 12 45 32 M120X2 35 115 003°  misxe 5 A+70+12
3H-215 A8  TK-AIS12 35 33 17 45 44 M155X2 a5 145 Q003 mi1sx3 5 A+87+17
3H-215 A11 TK-AI512 35 33 17 45 51 M155x2 5 145 0083 M115x3 5 A+94+17
3H-215 A15 TK-A1512 35 33 17 45 38 M155x2 5 145 0083 M115x3 5 A+81+17
3H-18 A1l  TK-AIS12 30 33 15 45 33 M130x2 45 125 0083 w13k 5 A+81+15

e e | 61 | s Wi " L

max.

3H-204 A5  TK-A528 12 175 10 25 185  M38xL5 25 35 :gggg M40x1.5 5 A+49+12
3H-205 A4  TK-A528 12 17 10 25 16 M38x1.5 5 35 0O0B masas 5 A+46+13
3H-206 A5 TK-AS53 20 14 12 30 28 M60x2 25 55 00%  wmeox2 5 A+52+13
3H-208 A6  TK-1068 25 165 12 35 335 M75x2 5 70 090 wmsx 5 A+55+12
3H-10B A8  TK-1287 30 205 12 35 265 M95x2 30 95 003 wmosa 5 A+52+12
3H-212 A1l TKAISI1 30 23 12 45 32 M120X2 35115 0% MIsX2 5 A+70+12
3H-215 A8 TK2114 35 33 17 45 44 M155X2 45 145 0083 M11sx3 5 A+87+17
3H-215 A1l TK-2114 35 33 17 45 51 M155x2 45 145 :8'832 M115x3 5 A+94+17
3H-215 A15  TK-2114 35 33 17 45 38 M155x2 45 145 0083 M11sa3 5 A+81+17
3H-188 A15  TK-2416 35 33 17 45 45 M180x3 45 170 0083 m175a3 5 A+88+17
3H-21B  A15  TK-2820 51 33 17 45 38 M220x1 45 210 0000 M190x3 5 A+65+17
3H-24B  A15  TK-2820 51 34 17 45 58 M220x2 45 210 0000 m215x3 5 A+86+17
3H-24B A20 TK-2820 51 34 17 45 45 M220x3 45 210 0000 m215x3 5 A+73417

5 : 3H-04 B #&EC TK-A533 - (3H-04 can work with TK-A533))
2H,4H B 2 i REFTEE 3H E5 - (Note:To calculate the draw-tube length of 2H,4H as 3H.)

WWW.AUTOGRIP.COM.TW AUTOGRIP 84



hEIREEHE
’ DRAw BAR THEiLCULfTI(;N?FHDRAW BAR LENGTH

Cylinder Adaptor Draw Bar Chuck Adaptor
WE RSN { g

s /4
e i S——— =/ ==
Cylinder ‘ ]/
c B i B ol P (= /
) i
Gimax.  (3P-04,3P-05) | (G2)min. |

h EHI125£ 8 Detail of Draw Bar
L=A-G1max.-G2min.-4+C A

TRE AR IE LRI ER]

Subject to technical changes

B i#R1& SPECIFICATIONS

TR, | @WEHER " " ]
Chuck type Cylinder type

3P-04 RK-75(N)/RA-130 30/20 30/25 45 3 M20x2.5/M16x2 M10x1.5 A-22/A-32
3P-05 RK-75(N)/RA-130 40 30/20 30/25 45 -6 M20x2.5/M16x2 M12x1.75 A-13/A-23
3P-06 RK-100(N)/RA-170 40 30/25 30/25 45 815 M20x2.5/M16x2 M16x2 A-101/A-106
3P-08 RK-125(N)/RA-220 40 40/30 35/30 50 106 M24x3/M20x2.5 M20x2.5 A-120/A-130
3P-10 RK-125(N)/RA-220 40 40/30 35/30 50 133 M24x3/M20x2.5 M20x2.5 A-147/A-157
3P-12 RK-150(N)/RA-270 40 40/35 45/35 55 133 M30x3.5/M24x3 M20x2.5 A-152/A-157
3P-215 RK-200(N)/RH-200 60 55 55 70 69 M36x4 M30x3.5 A-88
3P-218 RK-200(N)/RH-200 60 55 55 70 57 M36x4 M30x3.5 A-76
3P-221 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
3P-224 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81

51 2P B 7R REFTEE 3P Ex - (Note:To calculate the draw-bar length of 2P as 3P)

ESEEE T " @ L
Chuck type Cylinder type

3M-05 RK-75(N) 45 -2 M20x2.5 M12x1.75 A-17
3M-06 RK-100(N) 40 30 30 45 815 M20x2.5 M16x2 A-101
3M-08 RK-125(N) 40 40 35 50 106 M24x3.0 M20x2.5 A-120
3M-10 RK-150(N) 40 40 35 50 135 M24x3.0 M20x2.5 A-148
3M-12 RK-150(N) 50 40 45 55 40 M30x3.5 M24x3 A-59

55 2M B 73R R EEEE 3M & - (Note:To calculate the draw-bar length of 2M as 3M.)

85 AUTOGRIP WW\WAUTOGRIP.COM.TW



’ =12
NOTE

WWW.AUTOGRIP.COM.TW AUTOGRIP 86



’ ot
NOTE

87 AUTOGRIP WWW.AUTOGRIP.COM.TW



’ =12
NOTE

WWW.AUTOGRIP.COM.TW AUTOGRIP 88



GlAl=

®

o s o=
1E BRI AR S
Autogrip Machinery Co., Ltd.
EETLRBILMBERIR2295
No. 229, Sec. 1, Ming Sheng Rd., Pu Hsin Hsiang,
Chang-Hua Hsien, Taiwan
Tel:886-4-822-8719 Fax:886-4-823-5719
E-mail:sales@autogrip.com.tw
www.autogrip.com.tw cat.2018.01



